File No.13-1/2018-IS-15 Government of India Ministry of Human Resource Development Department of School Education & Literacy IS-15 Section

Dated the 6<sup>th</sup> August, 2018

#### Subject: Samagra Shiksha – 8<sup>th</sup> Meeting of the Project Approval Board (PAB) held on 24<sup>th</sup> May, 2018 - Circulation of Minutes.

The 8<sup>th</sup> meeting of the Project Approval Board of Samagra Shiksha was held on **24<sup>th</sup> May** under the Chairmanship of Secretary (SE&L) in Conference Room No.112, C Wing, Shastri Bhawan, New Delhi to consider the Annual Work Plan & Budget (AWP&B) 2018-19 of **Jharkhand**.

2. A copy of minutes in respect of **Jharkhand** is enclosed.

(V.K. Verma) Under Secretary to the Govt. India Tel No. 23384582

То

- 1. Shri Rakesh Srivastava, Secretary, Ministry of W & C.D.
- 2. Shri Heeralal Samariya, Secretary, Ministry of Labour & Employment.
- 3. Ms. Nilam Sawhney, Secretary, Ministry of Social Justice & Empowerment
- 4. Shri Deepak Khandekar Secretary, Ministry of Tribal Affairs
- Shri Parameswaran Iyer, Secretary, Ministry of Drinking Water & Sanitation, 4th Floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.
- Shri Ameising Luikham Secretary, Ministry of Minority Affairs, 11th Floor, Paryavaran Bhavan, CGO Complex, Lodhi Road, New Delhi-110003.
- 7. Ms. Shakuntala D. Gamlin, Secretary, Department of Empowerment of Persons With Disabilities, Ministry of Social Justice & Empowerment
- 8. Dr. Poonam Srivastava, Dy. Adviser (Education), NITI Aayog

- 9. Prof. Hrushikesh Senapaty Director, NCERT
- 10. Prof. N.V. Varghese, Vice Chancellor, NIEPA
- Ms. Anita Karwal, Chairperson, NCTE, Hans Bhawan, Wing II, 1 Bahadur Shah Zafar Marg, New Delhi – 110002.
- 12. Prof. Nageshwar Rao, Vice Chancellor, IGNOU, Maidan Garhi, New Delhi
- 13. Ms. Geeta Narayan, Member Secretary, NCPCR, 5th Floor, Chanderlok Building, Janpath, New Delhi
- 14. Shri Sanjay Kumar, Joint Secretary (SE-II Bureau)
- 15. Shri V. Shashank Shekhar, Joint Secretary (EE-I)
- 16. Ms. Darshana M Dabral, JS & FA, MHRD
- 17. Shri Sachin Sinha, Joint Secretary (AE & Coord)
- 18 Shri Amrendra Pratap Singh, Secretary, Primary Secondary & Higher Education, MDI Building, HEC, Dhurwa, Ranchi-834004, Jharkhand.
- 19. Shri A. Muthukumar, State Project Director, Jharkhand Education Project Council, New Co-operative Building, Shyamali Colony, Doranda, Ranchi-834024, Jharkhand.

Copy to:

- 1. All Director/DS in ISE Bureau
- 2. Shri G. Vijay Bhaskar, Director (MDM)
- 3. All Under Secretaries in ISE Bureau
- 4. NIC (for request to upload the PAB Minutes on Shagun Portal).

Copy for information to:-

- 1. PPS to Secy (SE&L)
- 2. PPS to JS (SE.I)

(V.K.Verma) Under Secretary to the Govt. India

-2-

## Government of India Ministry of Human Resource Development Department of School Education and Literacy \*\*\*\*\*

Minutes of the meeting of the Project Approval Board held on 24<sup>th</sup> May, 2018 to consider the Annual Work Plan & Budget (AWP&B) 2018-19 of Samagra Shiksha for the State of Jharkhand

## 1. Introduction

The meeting of the Project Approval Board (PAB) for considering Annual Work Plan and Budget (AWP&B) 2018-19 for Samagra Shiksha for the State of Jharkhand was held on 24.05.2018. The list of participants who attended the meeting is attached at *Annexure-I*.

Smt. Rina Ray, Special Secretary (SE&L) welcomed the participants and the State representative led by Shri. Amrendra Pratap Singh, Principal Secretary (School Education), Govt. of Jharkhand and invited them to brief on the initiatives undertaken by the state.

## 2. Initiatives of the state

- i. Swachh Vidyalaya-Swasth Bachhe: State government has started a programme "Swachh Vidyalaya-Swasth Bachhe" for addressing the issue of school sanitation, health & hygiene and behavioral change.
- ii. Mukhya Mantri Shaikshik Bhraman Yojna: The scheme was launched in 2017-18 covering 3000 children and 150 teachers. A MoU was signed with IRCTC through which 18 coaches were arranged in dedicated trains for tour to different parts of the country.
- iii. Project SATH: It was initiated in September 2017. A detailed diagnostic was undertaken and a roadmap with 15 initiatives was designed, and significamt progress has been made under: School reorganisation, Teacher Rationalisation, State wide learning enhancement programme, E- Vidya Vahini, etc.
- iv. State Govt. has started a scheme under Swami Vivekanand Nihshakt Yojna, under which, the Department of Social Welfare and Women & Child Welfare is providing Rs. 600/- to children having 40% disability as stipend on monthly basis. The criteria for eligibility includes: Medical certification of 40% disability; Income Certificate of parents; Residential Certificate; Aadhar Number; and Bank Account details.
- v. State had initiated a programme Vidyalay Chalen Chalayen Abhiyan (VCCA), which is designed and operationalized with focus on two major components i.e., Vidyalay Chalen Abhiyan and Vidyalay Chalayen Abhiyan. While the focus of Vidyalay Chalen Abhiyan is on dropout children, the focus of Vidyalay Chalayen Abhiyan is on retention of newly enrolled children especially dropouts. This initiative in the last 2 years has proved to be highly effective in terms of student enrolment and school improvement, with more than 7 lakh children getting enrolled in schools each year

4

and children from even private schools having shifted to Government schools in several districts.

- vi. Prayas: To enhance student attendance across the state, an integrated approach has been designed in the name of Prayas to identify any child who remains absent in school for than 3 days continuously and bring back the child to school in a concerted approach through students from that locality, members of Bal Sansad, concerned teachers and SMC members. This initiative has proved to be quite effective and has enhanced student attendance by around 10% in the state.
- vii. Mukhyamantri Vidya Lakshmi Yojna: It is an initiative by the state government to provide incentive to the SC/ST under-privileged girl students who are deprived of the basic amenities so that their interest and inclination towards school increases. Under the scheme a sum of rupees 2000 is deposited (FD) in the account of class 6 SC /ST girl students and they are entitled to get the total amount when they take admission in class 9.

## 3. Action taken on commitments given by the state for 2017-18

The progress made in implementing the commitments given by the State in 2017-18 was reviewed. The status in respect of some of the major commitments are as follows: -

SI. No	Commitments	Action Taken				
1	State will undertake the Teacher rationalization in order to improve the PTR.	Teacher rationalisation is in process. Approx. 4564 sub scale schools have been merged in nearby schools and teachers of these schools are being rationalised through placing them in schools having high PTR.				
2	The state will do an in-depth analysis in case of low retention districts at primary level.	Analysis has been completed.Low Retention Blocks and Clusters wereidentified and targeted under ZERODROPOUT PANCHAYAT Programme.As a result, Retention Rate (Primary) atthe state level has been increased to76.71% from 70.73% during last year.The status of low retention districts is alsoimproved from last year -2016-172017-18Simdega -46.3%53.7%				
3	State will undertake the redeployment of teachers in order to fulfill the requirement of subject teachers in upper primary schools.	State is at final stage of recruiting 17,000 Secondary teachers. This exercise will free the subject specific teachers (presently deputed at secondary schools) for redeployment in Upper Primary Schools. To meet the immediate requirement, the State has created human resource bank				

Sl. No	Commitments	Action Taken
		consisting of retired teachers and local eligible youths, retired officials etc.
4	For the year 2017-18, State has identified 53347 Out of School Children (OoSC) out of which state will at least enrolled 37000 children during 2017-18.	The state has enrolled 39200 out of school children in 2017-18.
5	Average Dropout rate will be reduced from 5.5% (in 2016-17) to 3.0% (in 2017-18) in respect of Primary Schools and from 8.9% (in 2016-17) to 5.0% (in 2017-18) in Upper Primary schools.	ZERO DROPOUT PANCHAYAT Programme has been launched throughout the state. Massive exercise is carried out to ensure transition to the next higher class. As a result, Average Dropout rate is reduced to Zero in 1000 Panchayats for which 3 <sup>rd</sup> party evaluation is going on.
6	State would document their best practices and initiatives and subsequently upload it on the SSA Shagun Portal. This would enable the State to showcase its successes and would provide a platform for all States to learn from each other.	State has uploaded the best practices on SSA Shagun Portal.
7	State would update the progress in implementation of the approved activities under the AWP&B on the SSA Shagun portal. A hard copy of the Summary State Tables I and II on the Shagun Portal, duly signed by the State Project Director, would be submitted at the time of the request for release of funds under SSA. This would be in addition to the already prescribed documents under the GFR.	State has updated the progress in implementation of the approved activities under the AWP&B on the SSA Shagun Portal.
8	State should create a Child wise database (using Aadhaar wherever available or any other unique Id for every child) by June, 2017. This database would make the enrolment indicators robust and reliable.	Child wise database using Aadhaar for 2016-17 is already submitted to GoI and the same is being updated for 2017-18. State needs support from NIEPA in this regard.
9	State will maintain a database on details of its teachers, including their Aadhaar numbers.	State is having a database of all the teachers of the state (including Private schools). Aadhaar has also been collected from

51. No	Commitments	Action Taken
		100% teachers of Government schools. Salary of Para Teachers is being released through DBT only. Currently, the Aadhaar details are being collected from teachers of all other management schools.
10	State will undertake positive consolidation of its schools, within the provisions of the RTE Act, with a view to strengthen primary education and for optimum utilization of resources.	4564 schools have been merged in nearby school, out of that 3163 schools have been approved by the Regional Deputy Director of Education (RDDE) and 1401 schools are proposed by DPO for merger but yet to be approved by RDDE. 1031 schools are in process of being merged to nearby schools. After these mergers of schools, the PTR has improved considerably.
11	State will map all the stand alone Government and Government aided primary schools, develop and finalize specific action plans for improving learning outcomes in these schools and share it with the Department.	State has mapped all the stand alone school and after that merging of school activities has been undertaken.
12	The State will rationalize teacher deployment in primary and upper primary schools, so that there is no single teacher school and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary level, special emphasis should be laid on maintaining the subject PTR.	State is in process of rationalisation of teacher in order to reduce single teacher schools at Primary and Upper Primary level.
13	State will recruit headmaster in primary and upper primary schools as per the RTE norms. Given the significant role of a headmaster in school management, direct recruitment (including through limited department exam) of 50% of all headmasters may be considered.	State is in process of recruiting the teachers and headmasters as per RTE norms. At present, senior teachers of the schools are functioning as acting head teachers.
14	State should ensure that children with less than grade level learning competencies are identified and provided learning support and in-	State has identified the low grade level learning competencies from the results of NAS 2017 in classes 3, 5, 8 and 10. Remediation programme have been

SI. No	Commitments	Action Taken
	school re-enforcement. Efforts would be made so that that all children reach the desired grade- appropriate competency level.	designed to cover children having low learning outcomes.
15	State will explore the mechanisms for convergence with other departments especially with the Department of Panchayati Raj for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in school.	State has already established mechanisms of convergence with Department of Rural Development (Panchayati Raj) and Department of Drinking Water & Sanitation, Department for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in schools. Health Department is providing regular health checkups and referrals. They are providing sanitary napkins for adolescent girls especially in girl's residential schools like KGBV, JBAV and Girl's in Day Schools.
16	State should undertake the "Partnership Between Schools" Programme which aims to link schools located in rural areas with private, aided or government schools in urban or semi urban areas. This would help in bringing all students to one common platform and to share experiences and learn from each other.	State has taken up the "Partnership Between Schools" programme. 1356 Primary Schools and 1124 Upper Primary schools are a part of this programme.
17	State will display a gallery of the grade-wise photos of teachers on the school notice board in all elementary schools. The photos would be in a size that is visible and identifiable. This would help in honoring the teachers who are the fulcrum of the education system.	All schools of the State have displayed Photo of teachers on the notice board. All photos of teachers are of a size that is visible and identifiable.
18	State will complete all the pending civil works in 2017-18.	State has completed 47 Primary School Building, 40 Upper Primary School building and 2615 ACR during the year. 71 PS, 181 UPS and 2538 ACR are in progress. In progress civil works could not be completed due to paucity of fund.
19	State will ensure inspection and evaluation of all primary and upper	Under e-Vidya Vahini the state has developed online process of daily inspection through BRP/CRP. There is an

SI. No Commitments		Action Taken
	primary schools.	in-built system to evaluate the school/classroom and children.
20	The Department is in the process of extending the deadline for training of untrained teachers as mandated under the RTE Act, 2009, this is likely to be cleared by early April. The State will ensure that all teachers are trained within the extended period.	All untrained teachers are enrolled under NIOS D.El.Ed programme for training of in-service untrained teachers in 2017-18.
21	The Central RTE Rules are being amended to include reference to class-wise, subject-wise Learning Outcomes for all Elementary Classes. Accordingly, once the related guidelines are received by the State, the State would include the Learning Outcomes in its own RTE Rules.	Learning Outcomes are being included in RTE Rules. Learning outcomes are implemented in elementary classes.
22	The State would ensure the implementation of Public Finance Monitoring System (PFMS) up to the last destination i.e., school.	State has implemented Public Finance Monitoring system (PFMS).
23	The Annual Report would be submitted to the Department for laying in the Parliament while the Audit Report would be laid before the State Assembly.	Annual Report has already been submitted to Department for laying before the State Assembly.
24	States have a good number of Schools under the control of various Departments other than Department of Education such as Municipalities, Panchayat, Tribal Dept., Social welfare etc. To bring these Schools under unified command it is suggested that a committee should be formed under the Chairpersonship of Secretary, Education of the State.	All schools including Tribal department, Social welfare has been considered under Mapping of schools. Secretary, School Education has discussed the issue with the Secretaries of concerned Departments regarding unification and universalisation of these schools.

## 4. Appraisal issues 2018-19

## **Educational Indicators**

- The retention rate at primary level is 76.7%, at elementary level is 53.2%, at secondary level is 96.95% and at senior secondary level is 98.55%.
- The dropout rate is zero at primary level and elementary level, 1.5% is at secondary level and zero at senior Secondary level, which needs to be verified in view of low retention rates.
- The total decline between the grades is zero, whereas the OoSC reported by the State is 60018.
- There are about 50% primary, 87.3% upper primary schools having adverse PTR.
- There are 2362 surplus teachers in the State requires redeployment.

## Access and Retention

- State has completed GIS mapping of all its schools and has developed its own web portal with many useful features.
- NIC has reported that against total 47,673 schools, geo coordinates of 46,101 schools are correct (97%) and GIS data of 1,572 schools is not shared with NIC.
- Under SDMIS, out of total 7194845 children enrolled in Schools in the State, Aadhaar data of 5323869 i.e., 74% has been done. However, this data is yet to be uploaded on the SDMIS portal.
- While state is reporting 60,018 out of school children, IMRB (2014) estimated 140426 out of school children and census 2011 has reported 1247155 children being out of school in the age group 6-14 years.
- Proposal of Transportation is recommended with the condition that State will notify the area and limits of Neighbourhood for Transportation/Escort in its RTE Rules and will categorize it as child entitlement.

## Quality

- PAB expressed serious reservations about the Govt. of Jharkhand reinterpreting the provisions of the Right to Education Act in terms of entitlements and provisions of Textbooks. The concept of Book Bank was temporary until such time as a state could print and deliver. State needs to take a relook on the proposal for printing fewer textbooks under Recycling of Textbooks as the provision of Textbooks is an RTE entitlement for every child from Classes 1 to 8.
- There are 17970 (32%) teacher posts vacant in the State in Primary cadre while 5041 (47%) in Upper Primary cadre and 3023 (91%) in Headmaster cadre at upper primary level, are vacant.
- State has to ensure review of Textbooks of elementary classes by NCERT from gender perspective.

• State's performance is above the national average in the National Achievement Survey for classes 3, 5 and 8. The subject wise and class wise details are as provided in the table below:

Class	Level	Level of Attainment of Learning Outcomes with reference to spec Performance Indicator				
		Language	Mathematics	EVS	Science	Social Science
III	National	68	64	65	-	-
	State	70	66	66	-	-
V	National	58	53	57	-	-
	State	61	56	64	-	-
VIII	National	57	42	-	44	44
	State	61	51	-	53	54

- Under Post NAS activities, State has disseminated the District Report Cards and analyzed the achievements of NAS 2017. On the basis of this analysis, remedial materials have been developed and training of teachers conducted linking with the learning outcomes. There are 11 low performing districts which falls below the state average, namely, Sahibganj, East Singhbhum, Simdega, Lohardaga, Jamtara, Latehar, Koderma, Gumla, Khunti, Giridih & Garhwa.
- State has just initiated the process of implementation of Shaala Siddhi i.e., School Standards & Evaluation framework. Out of the 48,848 Schools available in the state, only 2 are in progress while the remaining have not been started.

## **Teacher Education and Teacher Training**

- In view of the focus on strengthening of DIETs with a focus on both pre-service and in-service teacher training, state has completed the district wise analysis and have decided to follow a hybrid model of reducing intake of pre-service students and utilizing the physical and academic resources so freed for in-service training. Accordingly, 14 DIETs will be conducting only pre-service teacher education while 6 DIETs, will be conducting only in-service training programmes. State Government needs to prioritize implementation of the actionable points on restructuring and reconceptualization of DIETs as per the MHRD Guideline (2017).
- As per the guidelines of MHRD on Strengthening of SCERT (2018), and as an initiative of Project SATH-E, restructuring of SCERT has been initiated by the state. In view of the focus on strengthening of SCERTs, State Government needs to prioritize the process of organizational restructuring of the SCERT.
- State has just initiated the process of implementation of DIKSHA. Under this, the JCERT has been notified as the nodal agency and the Director, JCERT as the nodal officer. The Steering Committee and Committee for Content Curation and Taxonomy have also been constituted.
- As per the scheme, 45 academic posts have to be sanctioned in JCERT. The State Govt. has sanctioned only 5 post and filled up 3 academic posts. State needs to

speed up the process of strengthening and reorganization of the JCERT as per the MHRD guideline (2018).

- As per the scheme, 500 (@ 25 per DIET x 20 DIETs) academic posts have to be sanctioned. State has sanctioned 442 academic posts, out of which only 227 posts are filled up, i.e. 55% vacancy.
- No funds have been released for Teacher Education in the previous year due to non-submission of Utilization Certificate and Expenditure statement of previous years, despite repeated reminders.
- It was informed that state is going to initiate the in-service training programmes for all levels of teachers shortly. State was advised to adopt the Kendriya Vidyalaya Sangathan (KVS) system for conducting Teacher Training Need Assessment at the initiation and completion of each teacher training programme through the dedicated training facilities set up in the name of Zonal Institute of Education & Training (ZIET). Under this, a simple set of question papers would need to be developed separately for standard 3, 5 and 8 teachers. The assistance of the state KVS ZIET Unit could be sought for designing the papers and the SCERT/DIETs could be assigned the task of analyzing the answer sheets. Since the key to improving learning outcomes is the teacher, the SCERT needs to play a bigger role with the assistance of the NCERT.

#### KGBV

 Construction of KGBV/ 60 Girls Hostel building [East Singhbhum, Garhwa, Hazaribagh, Palamu, Ranchi, Sahibganj, West Singhbhum, Gumla, Koderma, Simdega, Chatra, Godda, Jamtara, latehar, Pakur, Ramgarh & Saraikela-Kharsawan district] sanctioned in 2017-18 has not started so far. State has informed that money has been transferred to Jharkhand State Building Construction Corporation Limited for construction of girls' hostel in KGBV campus.

## **Vocational Education**

• State needs to ensure that the admissions under Vocational Education are taken only in the NSQF compliant courses/job roles. Funding would not be available for the non-compliant courses. It should also follow the two-year implementation module under vocational education and the implementation timelines under vocational education may be strictly adhered to. The Assessment and certification of students may be completed in time and any delay and pendency in assessment and certification may be reported to MHRD.

## 5. Commitments of the State for 2018-19

- (i) State would document their best practices and initiatives and subsequently upload it on the **SSA Shagun** portal. This would enable the STATE to showcase its successes and would provide a platform for all STATEs and UTs to learn from each other.
- (ii) State will undertake positive consolidation of its schools, within the provisions of the RTE Act, with a view to strengthen primary education and for optimum utilization of resources.

- (iii) The State will complete GIS mapping of all schools (100%) and integrate their database with the NIC website <u>http://schoolgis.nic.in/</u>.
- (iv) State will map all the stand alone Government and Government aided primary schools, develop and finalize specific action plans for improving learning outcomes in these schools.
- (v) The State will rationalize teacher deployment so that there is no single teacher school and all schools have PTR as per norms under the RTE Act, 2009. At the upper primary and secondary level, special emphasis should be laid on maintaining the subject PTR.
- (vi) State will recruit headmasters in primary and upper primary schools as per the RTE norms. Given the significant role of a headmaster in school management, direct recruitment (including through limited department exam) of 50% of all headmasters may be considered.
- (vii) State should ensure that children with less than grade level learning competencies are identified and provided learning support and in-school reenforcement. Efforts would be made so that that all children reach the desired grade-appropriate competency level.
- (viii) State would assess its grading under the Performance Grading Index (PGI) developed by the Department and carry out the required governance reforms to improve it grading.
- (ix) State would focus on the aspirational districts to achieve significant improvement in the key performance indicators identified for the same.
- (x) The guidelines for expenditure on school grant, procurement of sports equipment and library books need to be followed. These need to be kept in mind while utilization of these grants.
- (xi) The detailed guidelines on Operation Digital Board need to be followed to utilize the funds approved under the ICT initiatives.
- (xii) State will explore the mechanisms for convergence with other departments especially with the Department of Panchayati Raj for maintenance of school infrastructure, school sanitation and provisioning of drinking water facilities in schools.
- (xiii) State should undertake the "Partnership between Schools" Programme which aims to link schools located in rural areas with private, aided or government schools in urban or semi urban areas. This would help in bringing all students to one common platform and to share experiences and learn from each other.
- (xiv) State will display a gallery of the grade-wise photos of teachers on the school notice board in all elementary schools. The photos would be in a size that is visible and identifiable. This would help in honoring the teachers who are the fulcrum of the education system. ID cards may also be issued to all teachers to be worn during school hours.
- (xv) In view of the focus on strengthening of DIETs and SCERTs with a focus on both pre-service and in-service teacher training, the State Government would prioritize the process of organizational restructuring of the SCERTs and

effectively implement the actionable points on restructuring and reconceptualization of DIETs as per the MHRD Guideline (2017).

- (xvi) State will explore the mechanisms for convergence with other departments including the Kendriya Vidyalayas and Navodaya Vidyalayas especially under Partnership of Schools and Teacher Training Need Assessment under inservice training of teachers.
- (xvii) There should be no duplication with funds coming from other Ministries/ Departments, such as Ministry of Home Affairs (MHA) for LWE districts. State will inform the Ministry on how the funds coming from other Ministries are being utilized in the state.
- (xviii) State will complete all the pending civil works in 2018-19.
- (xix) State will ensure inspection and evaluation of all primary and upper primary schools.
- (xx) State would ensure the implementation of Public Finance Monitoring System (PFMS) up to the last destination i.e., school.
- (xxi) The Annual Report would be submitted to the Department for laying in the Parliament.
- (xxii) State would ensure effective implementation of the RTE Act, 2009.

## 6. Expected Outcomes

In the meeting the following specific outcomes were agreed to:

- i) State would document their best practices and initiatives and subsequently upload it on the School Education SHAGUN website. This would enable the UT to showcase its successes and would provide a platform for all States and UTs to learn from each other.
- ii) For the year 2017-18, State has identified 60018 Out of School Children (OoSC) and it has committed that all will be enrolled in schools during 2018-19.
- iii) The State would fill up the vacancies of teachers and headmasters at all levels.
- iv) The State will share database of all CWSN children on PMS portal of Samagra Shiksha.
- v) State would integrate their MIS on students, teachers and schools with the ShalaKosh software developed by the Department
- vi) The State will ensure that all commitments under RTE Act, 2009 are fulfilled.
- vii) The State will revise the district plans as per the approved AWP&B and share with the Department by 30th July, 2018.
- viii) NAS results would be thoroughly analyzed and learning gaps identified. Strategic interventions in pedagogic methodologies and teacher training should be devised to improve the learning outcomes

## 7. Total Estimated Budget (2018-19)

				(Rs. in Lakh)
Head	Spillover	Non- recurring (Fresh)	Recurring (Fresh)	Total
Elementary	3353.08	3640.61	132207.40	139201.09
Secondary	38791.02*	4538.92	7385.53	50715.47
<b>Teacher Education</b>	159.01	1032.47	704.00	1895.48
Grand Total	42303.11	9212	140296.93	191812.04

The estimates for the year 2018-19 are as under: -

\*after adjusting Rs. 9124.84 lakh for Surrender of 157 Secondary Schools

## 8. Actual Releases by GoI during 2018-19

Against the above estimates, **Central Government shall provide to the State Government Rs. 735.21 crore as its share (Rs. 679.90 crore under elementary, Rs. 53.02 crore under Secondary/Senior Secondary and Rs. 2.29 crore under Teacher Education). The State would contribute Rs 490.14 crore as its State share matching** the above Central share as per the existing fund sharing pattern of Samagra Shiksha.

It is recommended that the State should meet the balance amount from its own resources including the additional funds devolved under the 14th Finance Commission. As per Section 7(5) of the RTE Act, 2009, the State Government shall after taking into consideration the sum provided by the Central Government above and the mandatory matching State share, provide the balance funds necessary to fulfill the estimate for the implementation of the Act.

It is likely that additional funds will be received subsequently during the year. A meeting for considering supplementary releases may, therefore, be held in the month of September- October, 2018.

The release of funds under the scheme will be further guided by the following conditions:

- (i) State should release/transfer the central share to State Implementing Society within 15 days of its receipt in the State treasury.
- (ii) The State share should be released to the State Implementing Society within one month of the release of the central share.
- (iii) All releases by the Centre would be subject to fulfillment of provisions of GFR by the State.

- (iv) The 1<sup>st</sup> Installment would be released based on provisional utilization certificate for 2017-18 and subject to full release of proportionate State share.
- (v) The second installment would be released only after (a) the proportionate installment of State/UT share has been released; (b) at least 50% expenditure against available funds has been incurred; (c) utilization certificate has been submitted for funds released in the year 2017-18; (d) Audit report has been submitted for the year 2017-18 and (e) Annual Report upto the year 2016-17 has been submitted.

## 9. Activity-wise Details

#### I. Access and Retention

- (i) **Opening of New/Upgraded Schools:** The proposal of the State to surrender 157 Secondary Schools sanctioned in years 2009-10, 2010-11 and 2012-13 was agreed. Detailed list is at **Annexure II**.
- (ii) Residential School / Hostels: An outlay of Rs. 3505.70 Lakh was estimated for Residential School/Hostel including both recurring and non-recurring components. An amount of Rs. 685.00 lakh towards recurring and Rs. 1060.70 lakh non-recurring was estimated for 7 new Residential Schools (one in Koderma and 6 in uncovered worst LWE affected districts of the state i.e. Dumka, Garhwa Khunti, Lohardagga, Ramgarh and Simdega) with a capacity of 100 children each.

Further, an estimate of Rs. 1760.00 lakh was approved for Non-Recurring support for setting up 16 New Hostels in uncovered worst LWE affected districts of the state (District Bokaro, Chatra, Dumka, East Singhbhum, Garhwa, Giridih Gumla, Hazaribag, Khunti, Latehar, Lohardagga, Palamau, Ramgarh, Ranchi, Simdega and West Singhbhum) with a capacity of 100 children.

The State was advised to complete identification of land and preparation of DPR for starting the work at the earliest.

(iii) **Strengthening of existing schools** for various infrastructure interventions was estimated with total outlay of Rs. 4743.43 lakh. List of ACR, Major repairs, Science labs etc. is at **Annexure -III**.

#### **II. RTE Entitlements**

- (i) **Free Uniforms Distribution:** Free Uniform for 3376853 children (All Girls, SC Boys, ST Boys and BPL Boys) at elementary level @ Rs. 600/- per child with a total outlay of Rs. 20261.12 lakh was estimated.
- (ii) Free Text Books: Free Textbooks including Braille Books and large textbooks for 3410404 children at elementary level (Classes I-VIII) were estimated with a total outlay of Rs. 7466.21 Lakh.
- (iii) Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009: An outlay of Rs. 241.84 lakh was approved for reimbursement of

fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry Level) for 4742 Children.

(iv) **Special Training for age appropriate admission of out-of-school children (OoSC):** The State has identified 60018 out of school children for 2018-19. Out of these, 13817 will be directly enrolled into schools. An outlay of Rs 474.15 lakh was estimated for special training of OoSC. The details are as follows.

Activity	Physical	Unit Cost	Outlay
Special Training for OoSC - Residential (Fresh)	Second and a second		
9 Months (Residential - Fresh)	3161	0.15	474.15
Total of Special Training for OoSC - Residential (Fresh)			474.15
Total of Special Training of Out of School Children			474.15

(v) **Media and Community Mobilization:** An outlay of Rs. 414.96 lakh was estimated at elementary and secondary level for media and community mobilization activities including training of SMCs and SMDCs.

## **III. Quality Interventions**

- (i) Funds for Quality improvement: A total outlay of Rs. 6214.14 lakh was approved for Quality related interventions including Kala Utsav, Talent Search at school level, Teacher Exchange Programme, Learning Enhancement Programmes, Buniyaad, Mathematics & English Learning Kit, Remedial Teaching, Pankh Magazine and State specific interventions such as Bal Sangam, Kasturba Sangam, Band competition, Yoga Olympiad etc.
- (ii) **Teachers' Training:** An outlay of Rs. 3957.91 lakh was estimated for Teacher's Training as detailed below.

Intervention	Unit Cost	Phy.	Fin.
Training			
(A) In-service Teachers' Training (10 Da day)	ys Training approv	ed @ Rs.	300 per
Class I & II	0.03	44507	1335.21
Class III to IV	0.03	44199	1325.97
Class V to VIII	0.03	24485	734.55
Subject Specific		1485	44.55

Intervention	Unit Cost	Phy.	Fin.
Training			
Class IX to XII	0.03	4627	138.81
Total			3579.09
(B) Training of Master Trainers/Key Resource Pers	sons (6 D	ays Trai	ning
approved @ Rs. 300 per day)	[	1	1
Class I & II	0.018	5049	90.88
Class III to V	0.018	4126	74.27
Class VI to VIII	0.018	2749	49.48
Class IX to X	0.018	1124	20.23
Class XI & XII	0.018	905	16.29
Total			251.15
(C) School Leadership Training of Head Teachers/	Principa	ls/RPs	2.
NIEPA Capacity Building of School Heads on 16 days Model			
Training of RPs (Classes I to VIII)	0.048	257	12.34
Training of Head Teachers/Principals (Class I to VIII)	0.048	1500	72.00
One Month Certificate Course on School Leadership and Management for Secondary School Principals	0.120	50	6.00
Total	-		90.34
(d) Training of Educational Administrators (6 Days 300 per day)	s Trainin	g approv	red @ Rs.
Elementary Level	0.018	960	17.28
Secondary Level	0.018	768	13.824
Sr. Secondary Level	0.018	346	6.228
Total			37.33
Grand Total			3957.91

(iii) Academic Support & Supervision through BRCs/ URCs and CRC: The State has 265 Block/Urban Resource Centres (BRCs/URCs) and 2264 Cluster Resource Centres (CRCs). The PAB estimated the following outlay for academic support through BRCs/ URCs and CRCs:

## a) Block/Urban Resource Centers (BRCs/URCs)

(Rs. in lakh)

Sl. No.	Activity	Phy	Unit Cost	Fin
1	6 RPs at BRC for subject specific	370	1.68	621.60

Sl. No.	Activity	Phy	Unit Cost	Fin
	training			
2	*6 RPs at BRC for subject specific training	375	0.84	315.00
3	2 RPs for CWSN in position	333	1.89	629.37
4	1 MIS Coordinator in position	54	2.4	129.60
5	Data Entry Operator in position	84	1.80	151.20
6	Accountant-cum-support staff (In placed at BRC)	0	0	0
7	Contingency Grant	265	0.5	132.50
8	Meeting TA	265	0.3	79.50
9	TLM Grant	0	0	0
10	Maintenance Grant	0	0	0
	Total			2058.77

\*PAB approved 6 months' salary for 375 BRPs to be newly recruited in 2018-19. Note: Unit Cost is for 12 months

## b) Cluster Resource Centres (CRC)

		<b>-</b>	(Rs. in	lakh)
Sl. No	Activity	Phy	Unit Cost	Fin
1	Salary of Cluster Coordinator, full time and in position	2259	1.52	3433.68
2	Furniture Grant	0	0	0
3	Contingency Grant	2259	0.10	225.90
4	Meeting TA	2259	0.10	225.90
5	TLM Grant	0	0	0
6	Maintenance Grant	0	0	0
	Total			3885.48

## Note: Unit Cost is for 12 months

- (iv) Assessment at National & State level: A total outlay of Rs. 480.00 lakh was estimated for conducting state level achievement survey from class I to VIII at elementary level. To conducting Annual Assessment in all 24 districts covering I to VIII and for conducting POST NAS interventions and preparatory activities of next NAS in the State.
- (v) **Composite school grant:** An outlay of Rs. 14388.43 lakh for composite school grant as per enrolment was approved for 39282 schools. These funds should be utilized as per the guidelines laid down for utilization of school grant.

- (vi) Padhe Bharat Badhe Bharat (Library grant): An annual library grant for 2638 schools was estimated with the total outlay of Rs. 383.45 lakh. The funds for books and libraries needs to be utilized in accordance with the detailed guidelines being issued by MHRD. The following points needs to be kept in mind:
  - (a) Age appropriate books published by NCERT, NBT, State Government Publications, and SCERT may be procured.
  - (b) States/UTs may try to set up Readers' Club in schools in a phased manner with the help of National Centre for Children's Literature (NCCL), a wing of National Book Trust.
  - (c) During the first year, no magazines and newspapers can be procured from the funds meant for library books.
  - (d) States/UTs may constitute a committee to select age appropriate books from NCERT and NBT and to make guidelines for use of libraries including number of periods in the govt. schools.
  - (e) The schools may make provision of Reading Room/Reading Corner/Reading space and two periods in a week may be dedicated as reading periods in school time table.
  - (f) One teacher may be given the additional responsibility of custody of library books, issuing and receiving back of books who in turn may be relaxed from teaching for two periods in a week.
- (vii) Rashtriya Avishkar Abhiyan: An outlay of Rs. 492.00 lakh was estimated for Rashtriya Avishkar Abhiyan (RAA) for various activities like Exposure visit outside State and Science Exhibition/Book etc.
- (viii) Khele India Khile India (Sports & Physical Equipment grant): An outlay of Rs. 627.00 lakh was estimated for sports and physical equipment grant in 12540 schools. The funds for sports and physical education, needs to be utilized in accordance with the detailed guidelines being issued by MHRD. The following points needs to be kept in mind:
  - (a) Age appropriate sports equipments for government schools may be procured as per the guidelines to be issued by this Department to the States/UTs. The States/UTs may if they so desire, procure items from beyond this list subject to its actual requirement being certified by the head of school.
  - (b) Age appropriate sports activities may be organised in the government schools of States/UTs as per the guidelines to be issued by this Department. Schools may include traditional/regional games of the respective State/Region.
  - (c) For maintaining workable stock position of sports equipments, periodic record may be maintained including workable equipment, repairable equipment, write-off equipment and new items to be purchased to maintain the required stock position.
  - (d) One responsible person/PET/Teacher in-charge may be given the responsibility to take care of the equipments and maintaining the stock position of sports equipments in the school.

- (ix) Operation Digital Board (ICT and Digital Initiatives): An outlay of Rs. 1506.40 lakh was approved for ICT and digital initiatives for 526 schools which also includes an amount of Rs. 390.40 lakh for 61 new eligible schools (*list* at Annexure-IV). The utilization of these funds need to be in accordance of the detailed Guidelines issued under Operation Digital Board. The following need to be kept in mind, specifically, during procurement:
  - (a) Inventory of each item will be maintained and the concerned school Principal will be in-charge of ensuring that all hardware and software has been marked as inventory items. The record of ICT inventory, school wise, has to be maintained online and made available to MHRD as and when required.
  - (b) States and UTs have to ensure that Annual Maintenance Contract (AMC) for each hardware item procured under ICT scheme has been entered into.
  - (c) In order to ensure that computers installed in the schools are being used, software which indicates when the computers are turned on or off, linked to the State server, must be put in place.
  - (d) As per IT Act 2000 it has to be ensured that effective firewalls and appropriate control filters and monitoring software mechanism are installed in all computers in schools. Please consult local NIC for installing a government approved, free firewall.
  - **IV. Support at Pre-Primary Level: An** outlay of Rs. 89.55 lakh was estimated for TLM for 17910 schools (Shishu Sadan) where the pre-primary sections exist.

## V. Teacher Education

- i) Strengthening of physical infrastructure: An outlay of Rs. 798.23 lakh was estimated for construction of 2 DIETs building in Koderma & Pakur districts (DIETs was sanctioned in 2016-17). Rs. 50.00 lakh for Special Cell in SCERT (Mathematics, Language, Social Studies, Science and Computer cell) and Rs. 90.00 lakh for Equipment's and SCERT and 9 DIETs (Bokaro, Deoghar, East Singhbhum, Garhwa, Hazaribagh, Palamu, Sahebganj, Ranchi and West Singhbhum).
- ii) **DIKSHA (National Teacher Portal):** An outlay of Rs. 60.00 lakh was estimated for DIKSHA for Creation and Curation of Digital Teaching learning material for uploading on DIKSHA, Updation of Teacher Profile & Registry, Capacity Building of all teachers and other functionaries on usage of DIKSHA, e-vidyavahini and e-contents, Updation of Teacher Profile & Registry, Energized Textbooks, etc.
- iii) **Teachers Educator Salary:** An outlay of Rs. 57.00 lakh was estimated for Salary of para academic posts in one DIET Ranchi (Ratu). In the remaining DIETs, salary is provided form the State Govt. fund. Total amount of salary for teacher educators worked out as per the scheme.
- iv) **Programme & Activities/Faculty development and Specific Research:** An outlay of Rs. 140.00 lakh was estimated for SCERT and DIETs for various

activities under Programme & Activities, Faculty development and Specific programme for Research activities as table below

				(Rs. In lakh)
S. No.	Activity	Phy	Fin	Total
1	Program & Activities -DIET	20	3.00	60.00
2	Faculty Development-DIET	20	2.00	40.00
3	Specific program for Research Activities-DIET	20	2.00	40.00
	Total			140.00

- v) **Technology Support to TEIs:** An outlay of Rs. 106.24 lakh was estimated for technology supports in TEIs in which Rs. 94.24 lakh Non-recurring, for hardware & software supports and Rs. 12.00 lakh Recurring support for 20 functional DIET.
- vi) **Annual Grants to TEIs:** An outlay of Rs. 35 lakh for SCERT and Rs. 400.00 lakh and 20 DIETs. (20.00 lakh per DIET) was estimated under Annual Grant for TEIs for day-to-day expenses, hiring of Resource persons/Experts for Teacher Training, purchase of library books, stationary periodicals, small office and library equipment's, office expenses, etc.
- **VI. Support for Teacher Salary:** An amount Rs. 50345.09 lakh was estimated as support for teacher salary as per norms of the Scheme. State was advised to relook at the requirement of teacher/headmaster posts and rationalize deployment of teachers as all teachers are ultimately the responsibility of the State. There is no dual cadre of teachers only financial support for additional teacher salary would be provided under the Samagra Shiksha.
- VII. Gender and Equity: A recurring grant of Rs. 15728.52 lakh was estimated under gender and equity head.
  - i) Approval was given for supporting 203 KGBVs as Type III (classes VI-XII), (as per the details at **Annexure-V)**. A recurring outlay of Rs. 15685.32 lakh was estimated for these KGBVs.
  - ii) Under Special Projects for Equity at Secondary level total outlay of Rs 21.60 lakh was estimated, @ Rs. 3,000/month/school for girls in 240 Secondary and Higher Secondary schools for 3 months' self-defense training programme.
  - iii) 3 months training in martial arts and self-defense for girls was also estimated with an outlay of Rs. 21.60 lakh @Rs. 3,000/month/school for girls in 240 elementary schools
- VIII. Inclusive Education: Total outlay of Rs. 441.60 Lakh was estimated for both elementary and secondary level for various student oriented interventions for CWSN. An amount of Rs. 409.20 lakh was estimated at elementary level which includes stipend for girls, transport allowances, In-service Training of Special Educators etc. In addition, an amount of Rs. 32.40 lakh was estimated at secondary and senior secondary level for student oriented components.

- **IX.** Vocational Education (VE): An outlay of Rs. 2792.55 Lakh was estimated for various activities which also includes provision for tools, equipment's and furniture for new 5 schools **Annexure-VI**, as per the norms of the scheme.
- **X. Monitoring of the Scheme:** An outlay of Rs. 154.70 Lakh was estimated for MIS (SDMIS and ShaalaKosh).
- **XI. Programme Management:** An outlay of Rs 7119.47 lakh was estimated for Programme management.

The detail on component-wise spill over activities approved under Samagra Shiksha in respect of the state of Jharkhand is attached at **Annexure – VII**. The **detailed cost sheet indicating** the component wise proposal and approval for the state of Jharkhand is attached at **Annexure – VIII**.

The meeting ended with a Vote of Thanks to the Chair.

\*\*\*\*

## <u>Annexure - I</u>

#### **List of Participants**

- 1. Smt. Rina Ray, Special Secretary (SE&L), MHRD
- 2. Sh. A.P. Singh, Principal Secretary (SE), Ranchi, Jharkhand
- 3. Sh. Maneesh Garg, Joint Secretary (SE.I), MHRD
- 4. Smt. Dr. Poonam Srivastava, Joint Advisor, NITI Aayog
- 5. Smt. Rashi Sharma, Director (TE), MHRD
- 6. Smt. Nazli Shayin, Director (SE&L), MHRD
- 7. Sh. Shailesh Kumar Chaurasia, Additional Secretary (SE &L), Government of Jharkhand, Jharkhand
- 8. Dr. Vijay Kumar. R. Deputy Secretary, National Council for Teacher Education, New Delhi
- 9. Sh. V.K. Verma, Under Secretary (IS-15), MHRD
- 10. Sh. Manoj Kumar Shukla, Under Secretary (Finance), MHRD
- 11. Sh. Harshit Mishra, SRO, NITI Aayog
- 12. Smt. Sandhya, Professor, Department of Elementary Education, NCERT
- 13. Sh. Anthony Joseph, National Centre for School Leadership (NCSL), NIEPA
- 14. Ms. Tara Naorem, Chief Consultant, Teacher Education, TSG
- 15. Sh. Mukesh Kumar Sinha, Administration Officer, JEPC, Jharkhand
- 16. Sh. Om Prakash Mishra, AFC, JEPC, SSA, Ranchi Jharkhand
- 17. Sh. Arvind Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand
- 18. Sh. Sanjeev Kumar Gupta, ACP, JEPC, Ranchi, Jharkhand
- 19. Sh. Keertiwas Kumar, JCERT, Ranchi, Jharkhand
- 20. Sh. Pramod Kumar Sinha, Jharkhand Education Project Council, Ranchi, Jharkhand
- 21. Sh. Sachin Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand
- 22. Sh. Ratan Bhushan Srivastava, Civil Works Manager, Jharkhand Education Project Council, Ranchi, Jharkhand
- 23. Dr. Avinav Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand
- 24. Sh. Dhirsen A. Soreng, Jharkhand Education Project Council, Ranchi, Jharkhand
- 25. Sh. Swapnil Hemant Kujur, Jharkhand Education Project Council, Ranchi, Jharkhand
- 26. Sh. Sunil Kumar, Jharkhand Education Project Council, Ranchi, Jharkhand

27. Sh. S.P. Malhotra, Chief Consultant, TSG

28. Sh. R. C. Malik, Chief Consultant, TSG

29. Ms. Alka Mishra, Chief Consultant, TSG

30. Mr. Nisheeth Verma, Chief Consultant, TSG

31. Ms. Purabi Pattanayak, Sr. Consultant, TSG

- 32. Sh. Adil Rasheed, Sr. Consultant, TSG
- 33. Ms. Gauri Kalra, Sr. Consultant, TSG
- 34. Sh. Muktar Alam, Sr. Consultant, TSG

35. Ms. Kiran Dogra, Sr. Consultant, TSG

36. Sh. Manish Sharma, Consultant, TSG

37. Sh. Manish Mishra, Consultant, TSG

38. Ms. Arti Panchal, Consultant, TSG

39. Ms. Sohila K. Bakshi, Consultant, TSG

## **Annexure II**

# Surrender of Infrastructure Components Secondary - Upgradation/ Opening of 2 Section School approved in PAB 2018-19

		<b>F</b> F	u III PAB 2018-19		Origina	I PAB S	anction	Surrendered
SI.	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
1	2 Section School	Secondary with grades 1 to 10	U.H.S.KUTIL	20030903601	2009	1	58.12	58.12
2	2 Section School	Secondary with grades 1 to 10	UPG.H.S.SIJUA	20030421301	2009	1	58.12	58.12
3	2 Section School	Secondary with grades 1 to 10	U.H.S.BODHADIH	20030905201	2009	1	58.12	58.12
4	2 Section School	Higher Secondary with grades 1 to 12	UPG.H.S.RIMI	20031003501	2009	1	58.12	58.12
5	2 Section School	Secondary with grades 1 to 10	UPG.H.S.MADHWA	20031001002	2009	1	58.12	58.12
6	2 Section School	Secondary with grades 1 to 10	UPG.H.S.MANATU TIKULIA	20031004201	2009	1	58.12	58.12
7	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SONDIHA	20080516301	2009	1	58.12	58.12
8	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS GOPALPUR	20080400201	2009	1	58.12	58.12
9	2 Section School	Higher Secondary with grades 1 to 12	UPG GOVT HS DHAMNI	20080308201	2009	58.12	58.12	
10	2 Section School	Higher Secondary with grades 1 to 12	GOVT UPG HS SIVIL.	20160408201	2009	1	58.12	58.12
11	2 Section School	Secondary with grades 1 to 10	RAJKIYAKRIT HIGH SCHOOL BANGARKELA	20161102102	2009	1	58.12	58.12
12	2 Section School	Secondary with grades 1 to 10	RAJKRIYAKRIT UPGRADED HIGH SCHOOL ETAM	20161107701	2009	1	58.12	58.12
13	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS SOWALI	20160504201	2009	1	58.12	58.12
14	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL TENGARIA	20161306501	2009	1	58.12	58.12
15	2 Section School	Secondary with grades 1 to 10	UPG GOVT MS-CUM- HS PELLOL	20230201301	2009	1	58.12	58.12
16	2 Section School	Higher Secondary with grades 1 to 12	UPG GOVT HS CHATAKPUR	20220602301	2009	1	58.12	58.12
17	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS LAT	20220505101	2009	1	58.12	58.12
18	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS 20150208501 2009		1	58.12	58.12	
19	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DUGGU	20150701701	2009	1	58.12	58.12
20	2 Section School	Secondary with grades 1 to 10	UPG HS BARASARSA	20101104701	2009	1	58.12	58.12
21	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYEKRIT HIGH SCHOOL	20020412101	2009	1	58.12	58.12

		a she and the state			Origina	I PAB S	anction	Surrendered
SI.	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
			MAHUDAND					
22	2 Section School	Higher Secondary with	UPG HIGH SCHOOL UNDUDA +2	20172402901	2009	1	58.12	58.12
23	2 Section	grades 1 to 12 Secondary with	UPG HIGH (UMS)	20170100601	2009	1	58.12	58.12
23	School	grades 1 to 10	SCHOOL KARIKA	00044400004	2009		50.12	50.12
24	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL BARKI KUNDARU	20241403001	2009	1	58.12	58.12
25	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS LOGAI	20090702501	2009	1	58.12	58.12
26	2 Section School	Secondary with grades 1 to 10	U.H.S.PHULANG	20031106601	2010	1	58.12	58.12
27	2 Section School	Secondary with grades 1 to 10	UPG.H.S.MEDWADIH	20030904105	2010	1	58.12	58.12
28	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SOBARANPUR	20061001501	2010	1	58.12	58.12
29	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS PANDEYDIH	20061011001	2010	1	58.12	58.12
30	2 Section Secondomy with UDC COUT US		20080200201	2010	1	58.12	58.12	
31	2 Section School	Section Secondary with UPG GOVT HS NAYA		20080110101	2010	1	58.12	58.12
32	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DAMROO	20080302001	2010	1	58.12	58.12
33	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS NATHGODA	20080305501	2010	1	58.12	58.12
34	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS	20080405001	2010	1	58.12	58.12
35	2 Section School	Secondary with grades 1 to 10	DALDALI RAJYAKRIT UPGRADED HIGH SCHOOL SHIVSERENG	20160205801	2010	1	58.12	58.12
36	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS PULUNG DEVIDIH	20161409201	2010	1	58.12	58.12
37	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL LOTWA	20161302001	2010	1	58.12	58.12
38	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL JAMDIH	20161206901	2010	1	58.12	58.12
39	2 Section School	Secondary with grades 1 to 10	GOVT. UPG HS BHATHOULI	20160402601	2010	1	58.12	58.12
40	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL TITHI	20161205001	2010	1	58.12	58.12
41	2 Section School	Secondary with grades 1 to 10	RAJKIYAKRIT UPGRADED HIGH SCHOOL TUKAI	20161103102	2010	1	58.12	58.12
42	2 Section School	Secondary with grades 1 to 10	UPG GOVT MS-CUM- HS LONGA	20230506701	2010	1	58.12	58.12
43	2 Section School	Higher Secondary with grades 1 to 12	UPG GOVT +2 HS DAGARNAWAN	20050200703	2010	1	58.12	58.12

					Original	I PAB S	anction	Surrendered
SI.	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
44	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS HUTAP	20220204001	2010	1	58.12	58.12
45	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SEWDHARA	20220301201	2010	1	58.12	58.12
46	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SOHARPAT	20220604801	2010	1	58.12	58.12
47	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL BELGARA	20220206701	2010	1	58.12	58.12
48	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DUNDRU JAWAL	20150704501	2010	1	58.12	58.12
49	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS THAKURAINDERA	20150206001	2010	1	58.12	58.12
50	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL LATARKUNDRIJHOR	20171705802	2010	1	58.12	58.12
51	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL SONGRA	20170109801	2010	1	58.12	58.12
52	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL MAHUDI	20171700710	2010	1	58.12	58.12
53	2 Section School	Secondary with grades 1 to 10	UPG HIGH (UMS) SCHOOL TEBO	20170105401	2010	1	58.12	58.12
54	2 Section School	Higher Secondary with grades 1 to 12	UPG HIGH (UMS) SCHOOL BANKI +2	20172307101	2010	1	58.12	58.12
55	2 Section School	Higher Secondary with grades 1 to 12	UPG HIGH (UMS) SCHOOL PETAPETI +2	20171004701	2010	1	58.12	58.12
56	2 Section School	Secondary with grades 1 to 10	UPGRADED GOVT H.S.RERUA MURATHAKURA	20181102401	2010	1	58.12	58.12
57	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL SUGDA	20142301601	2010	1	58.12	58.12
58	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DHARAMPUR	20090701401	2010	1	58.12	58.12
59	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS HALDIGARH	20090902201	2010	1	58.12	58.12
60	2 Section School	Secondary with grades 1 to 10	UPG HS SIGIRDA	20201103402	2010	1	58.12	58.12
61	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS PAITANO	20210705502	2010	1	58.12	58.12
62	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BANGAON	20210101603	2010	1	58.12	58.12
63	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KESHALPUR	20210802204	2010	1	58.12	58.12
64	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DHAWAIPANI	20210501901	2010	1	58.12	58.12
65	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS GULDA	20210404202	2010	1	58.12	58.12
66	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS GATTIKACHHAR	20211000403	2010	1	58.12	58.12
67	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KONAROA	20210603002	2010	1	58.12	58.12
68	2 Section School	Secondary with grades 1 to 10	U.H.S.KOLKOLE	20031000301	2011	1	58.12	58.12

					Origina	I PABS	anction	Surrendered
SI.	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
69	2 Section School	Secondary with grades 1 to 10	UPG.H.S.SILDAG	20031001401	2011	1	58.12	58.12
70	2 Section School	Secondary with grades 1 to 10	UPG HS NAWATAND	20120400501	2011	1	58.12	58.12
71	2 Section School	Secondary with grades 1 to 10	UPGRADE GOVT H.S.AMARPUR (SANTHALI)	20110700302	2011	1	58.12	58.12
72	2 Section School	Higher Secondary with grades 1 to 12	UPGRADE +2 GOVT H.S. KUNDAPAHARI	20110803101	2011	1	58.12	58.12
73	2 Section School	Secondary with grades 1 to 10	UPGRADE H.SBARAPAHARI	20110801301	<sup>01</sup> 2011 1 58.12		58.12	58.12
74	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KHAIRIDIH	20060318201	2011	1	58.12	58.12
75	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS CHIRUWAN KAPILO	20061503704	2011	1	58.12	58.12
76	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS MOKAMO (URDU)	20061504901	2011	1	58.12	58.12
77	School grades 1 to 10 KASIYADIH			20061504202	2011	1	58.12	58.12
78	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DWARPAHARI	20060310301	2011	1	58.12	58.12
79	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DORIYO	ORIYO		1	58.12	58.12
80	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BALGO	20060309301	2011	1	58.12	58.12
81	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BARMASIYA	20061206301	2011	1	58.12	58.12
82	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KABARIYABEDA	20061022001	2011	1	58.12	58.12
83	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS DADU GHUTU PAHAR PUR	20080500901	2011	1	58.12	58.12
84	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS MACHA KHAR	20080513001	2011	1	58.12	58.12
85	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SANGRAM PUR	20080104701	2011	1	58.12	58.12
86	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS MAJHGAON	20160502301	2011	1	58.12	58.12
87	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL MALAI	20161306901	2011	1	58.12	58.12
88	2 Section School	Secondary with grades 1 to 10	GOVT.BASIC UPG HS KURMGARH.	20160404901	2011	1	58.12	58.12
89	2 Section School	Secondary with grades 1 to 10	RAJKIYAKRIT UPGRADED HIGH SCHOOL OKBA	20161100701	2011	1	58.12	58.12
90	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGADED HIGH SCHOOL BARWATOLI	20160211001	2011	1	58.12	58.12
91	2 Section School	Secondary with grades 1 to 10	RAJKIYAKRIT UPGRADED HIGH SCHOOL KANAROAN	20161001701	2011	1	58.12	58.12

					Origina	I PAB S	anction	Surrendered
SI.	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
92	2 Section School	Secondary with grades 1 to 10	UPG GOVT MS-CUM- HS KOTA	20230506602	2011	1	58.12	58.12
93	2 Section School	Secondary with grades 1 to 10	UPG GOVT MS-CUM- HS BELKIDURA	20230100701	2011	1	58.12	58.12
94	2 Section School	Secondary with grades 1 to 10	UPG GOVT MS-CUM- HS GULLU	20230204601	2011	1	58.12	58.12
95	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SAIDUP	20220504201	2011	1	58.12	58.12
96	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS HAMI	20220602901	2011	1	58.12	58.12
97	2 Section School	Secondary with grades 1 to 10	UPG HS MAHULBONA	20101105201	2011	1	58.12	58.12
98	2 Section School	Secondary with grades 1 to 10	UPG HS JORDIHA	20101101601	2011	1	58.12	58.12
99	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYEKRIT HIGH SCHOOL HUNTAR	20021001901	2011	1	58.12	58.12
100	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYEKRIT HIGH SCHOOL TELARI	20020616001	2011	1	58.12	58.12
101	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYEKRIT HIGH SCHOOL KOTHILA	20020203101	2011	1	58.12	58.12
102	2 Section School	Secondary with grades 1 to 10	UPGRADED HS RANGAMATIYA	20180406902	2011	1	58.12	58.12
103	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS PUNGORA	20180603001	2011	1	58.12	58.12
104	2 Section School	Secondary with grades 1 to 10	BASIC SCHOOL MURUBANDA	20241501801	2011	1	58.12	58.12
105	2 Section School	Higher Secondary with grades 1 to 12	UPGRADED HIGH SCHOOL HONHEY	20241602801	2011	1	58.12	58.12
106	2 Section School	Secondary with grades 1 to 10	UPGRADED HIGH SCHOOL SUKARIGARHA	20241501001	2011	1	58.12	58.12
107	2 Section School	Secondary with grades 1 to 10	UPG H.S BANKHETA	20241400801	2011	1	58.12	58.12
108	2 Section School	Secondary with grades 1 to 10	GOVT UPG HIGH SCHOOL HARHANJI	20140705801	2011	1	58.12	58.12
109	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KHUTANA	20090704201	2011	1	58.12	58.12
110	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BALIYAJOR	20210302501	2011	1	58.12	58.12
111	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS SEWAI	20210403703	2011	1	58.12	58.12
112	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KURPANI	20210503901	2011	1	58.12	58.12
113	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BHELWADIH	20210801302	2011	1	58.12	58.12
114	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS BANMUNDA	20210900803	2011	1	58.12	58.12
115	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS KAHUPANI	20210300709	2011	1	58.12	58.12

	Bara and			and the second se	Origina	I PAB S	anction	Surrendered
<b>SI.</b>	Components	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
116	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYAKRIT HIGH SCHOOL BARDA	20130112501	2013	1	58.12	58.12
117	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYAKRIT HIGH SCHOOL MADHUNIA	20130314701	2013	1	58.12	58.12
118	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYAKRIT HIGH SCHOOL RANICHIRKA	20130300702	2013	1	58.12	58.12
119	2 Section School	Secondary with grades 1 to 10	UPG.M.S.KOLHAIYA	20031204504	2013	1	58.12	58.12
120	2 Section School	Secondary with grades 1 to 10	UPG.H.S.ICHAK	20030802101	2013	1	58.12	58.12
121	2 Section School	Secondary with grades 1 to 10	UPG.M.S.HESATU	20030601301	2013	1	58.12	58.12
122	2 SectionSecondary withUPG.MSchoolgrades 1 to 10		UPG.M.S.KHAPIA	20030903001	2013	1	58.12	58.12
123	2 Section School	Secondary with grades 1 to 10	UPG. H.S KUNJBONA	20070602201	2013	1	58.12	58.12
124	2 Section School	Secondary with grades 1 to 10	UPGRADE H.S. BELDAHA	20110507901	2013	1	58.12	58.12
125	2 Section School	Secondary with grades 1 to 10	UPGRADE H.S. NISCHINTPUR	20110423601	2013	1	58.12	58.12
126	2 Section School	Secondary with grades 1 to 10	UPGRADE GOVT H.S. MIRZAPUR	20110635501	2013	1	58.12	58.12
127	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS CHOKA	20011009701	2013	1	58.12	58.12
128	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS PIPARDIH	20010703304	2013	1	58.12	58.12
129	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS PATSAR	20010102801	2013	1	58.12	58.12
130	2 Section School	Secondary with grades 1 to 10	GOVT UPG HS MARDA	20010301801	2013	1	58.12	58.12
131	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS AMARPUR	20081010701	2013	1	58.12	58.12
132	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS PIPRA	20080204701	2013	1	58.12	58.12
133	2 Section School	Secondary with grades 1 to 10	RAJKIYAKRIT UPGRADED HIGH SCHOOL KEMTE	20160703701	2013	1	58.12	58.12
134	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL DUKO	20160212401	2013	1	58.12	58.12
135	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL JAIRA	20160907801	2013	1	58.12	58.12
136	2 Section School	Secondary with grades 1 to 10	RAJYAKRIT UPGRADED HIGH SCHOOL KULI	20161204302	2013	1	58.12	58.12
137	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL PHUPHANDI	20040908301	2013	1	58.12	58.12
138	2 Section School	Secondary with grades 1 to 10	UPG. HIGH SCHOOL BHATBIGHA	20040518501	2013	1	58.12	58.12

					Origina	I PAB S	anction	Surrendered
Sl.	<b>Components</b>	School Category	School Name	UDISE Code	Year of Sanction	Phy	Fin (Rs. in lakh)	amount (Rs. in lakh)
139	2 Section School	Secondary with grades 1 to 10	RAJIKIYAKRUT UPGRADE HIGH SCHOOL TALBERIA	20191124501	2013	1	58.12	58.12
140	2 Section School	Secondary with grades 1 to 10	RAJIKIYAKRUT UPGRADE HIGH SCHOOL GOPALPUR	20191111201	2013	1	58.12	58.12
141	2 Section School	Secondary with grades 1 to 10	RAJKIYKRIT UPGRADE HIGH SCHOOL SUNDARPUR	20191332901	2013	1	58.12	58.12
142	2 Section School	Secondary with grades 1 to 10	RAJKIYKRIT UPGRADE HIGH SCHOOL KRISNAPUR	20191319201	2013	1	58.12	58.12
143	School grades 1 to 10		GOVT MS ICHA	20230303301	2013	1	58.12	58.12
144	<sup>4</sup> School grades 1 to 10 HS		UPG GOVT. MS CUM HS DOREYA	20230502701	2013	1	58.12	58.12
145	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS PACHANE	20050411701	2013	1	58.12	58.12
146	2 Section School	Secondary with grades 1 to 10	UPG HS SEMARSOT	20220707301	2013	1	58.12	58.12
147	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS NAGJUWA	20150602001	2013	1	58.12	58.12
148	2 Section School	Secondary with grades 1 to 10	UPG RAJKIYEKRIT HIGH SCHOOL KAJARU KALA	DOL 2013 1		58.12	58.12	
149	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL TETRIYA TOLA GIDDHI	20020206801	2013	1	58.12	58.12
150	2 Section School	Secondary with grades 1 to 10	UPG HIGH (BASIC) SCHOOL ROBKEARA	20172406301	2013	1	58.12	58.12
151	2 Section School	Secondary with grades 1 to 10	UPGRADED GOVT HS BHURSAGUTU	20180303902	2013	1	58.12	58.12
152	2 Section School	Secondary with grades 1 to 10	GOVT UPG HIGH SCHOOL MURUPIRI	20140607402	2013	1	58.12	58.12
153	2 Section School	Secondary with grades 1 to 10	GOVT UPG HIGH SCHOOL BANABURU	20141801901	2013	1	58.12	58.12
154	2 Section School	Secondary with grades 1 to 10	UPG HIGH SCHOOL BUNDUBERA	20140801201	2013	1	58.12	58.12
155	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS AMJHOR (SOUTH)	20090204502	<sup>2</sup> 2013 1 58.12		58.12	
156	2 Section School	Secondary with grades 1 to 10	UPG GOVT HS ROHRA	20090709001	2013	1	58.12	58.12
157	2 Section School	Secondary with grades 1 to 10	UPG HS MASNIYA	20090209801	2013	1	58.12	58.12
					Total	157	9124.8	9124.84

## Infrastructure Development -Elementary- ACR approved in PAB 2018-19

ANNEXURE I

SI. No.	District	Block	Cluster	School	School Name	School Code	Recom menda tion	ACR unit cost in lakh
1	PALAMU	NAWDIHA BAZ	RAJKIYEKRIT MS SARA	Upper Primary wi	RAJKIYEKRIT MS SARAIDIH	20020717701	10	44.09
2	JAMTARA	KARMATANR	M.S.BAGRUDIH	Upper Primary wi	RAJKIYKRIT UPGRADE MIDDLE SCHOOL SUBDIDIH	20191502701	2	8.49
3	LATEHAR	BARWADIH	GOVT MS SARAIDIH	Upper Primary wi	URDU MS POKHRIKALA	20220500701	7	28.99
4	PAKAUR	PAKUR	U.H.S RAHASHPUR	Upper Primary wi	UPG MS ISAKPUR	20101005102	1	5.04
5	PURBI SINGHE	GOLMURI-CUN	M.S.DIMNA, J1	Upper Primary wi	M.S.SHANKOSAI, J1	20180310608	5	22.91
6	RAMGARH	PATRATU	M.S. RIVERSIDE SAUN	Upper Primary wi	MIDDLE SCHOOL BHURKUNDA	20241307401	10	44.09
7	GIRIDIH	BENGABAD	M.S CHAKARDAHA	Upper Primary wi	UPGRADED GOVERMENT MIDDLE SCHOOL BAGRA	20060107002	1	5.04
8	GODDA	MEHARMA	GOVT P.S BLOCK COL	Upper Primary wi	GOVT MS SURANI	20080200601	3	14.2
9	JAMTARA	JAMTARA	MS DHOBNA	Upper Primary wi	RAJIKIYAKRUT UPGRADE MIDDLE SCHOOL CHENGAIDIH(	20191105701	7	28.99
10	LATEHAR	CHANDWA	GOVT MS CHANDWA	Upper Primary wi	GOVT GIRL MS CHANDWA	20220203902	1	5.04
11	SAHIBGANJ	SAHIBGANJ	MS BADI KODARJANNA	Upper Primary wi	UPG GOVT. MS CHHOTI KODARJANNA	20090103401	1	5.04
12	SAHIBGANJ	UDHWA	UMS MOHANPUR	Upper Primary wi	UPG GOVT. MS PATAURA	20090502101	3	14.2
13	DEOGHAR	PALOJORI	UMS ASNA	Upper Primary wi	GOVT UPG.M.S PATHARGHATIYA	20070603201	1	5.04
14	DHANBAD	NIRSA	MS PINDRAHAT	Upper Primary wi	MS BARA AMBONA	20120704002	1	5.04
15	GARHWA	DANDEY	GOVT.MS.RARO	Upper Primary wi	GOVT MS RARO	20011202001	3	14.2
16	GARHWA	KETAR	GOVT. M.S. PACHADUN	Upper Primary wi	UPG GOVT MS PARTI	20011800702	1	5.04
17	GARHWA	DANDA	M.S. DANDA	Upper Primary wi	UPG GOVT MS BHIKHI	20011700201	6	26.28
18	GARHWA	KANDI	GOVT MS. KHORANDH	Upper Primary wi	GOVT MS SUNDI PUR	20011003201	5	22.91
19	GODDA	MAHAGAMA	GOVT M.S NARAYANI	Upper Primary wi	GOVT MS HANWARA	20080110601	5	22.91
20	HAZARIBAG	BARKATHA	M.S. GAIRA	Upper Primary w	UPG M.S. BARKAN GANGO	20040200101	4	19.28
			Average Unit Cost Rs.4	4.504 lakh	24	Total	77	346.81

SI. No.	District	Block	Cluster	School Category	School Name	School Code	Recom mendat ion	ACR unit cost in lakh
1	BOKARO	CHAS	UPG RAJKIYAKR	Secondary with grade	UPG RAJKIYAKRIT HIGH SCHOOL RANIPOKHA	20130317001	3	14.2
2	CHATRA	KANHACHATTI	UPG.M.S.KANHA	Higher Secondary wit	B.K.HIGH SCHOOL KANHACHATTI	20031201701	10	44.09
3	DEOGHAR	DEVIPUR	GOVT M.S KEND	Higher Secondary wit	UPG. H.S KENDUWA, DEVIPUR	20070900401	10	44.09
4	GARHWA	KANDI			R.K +2 HIGH SCHOOL KANDI	20011003507	10	44.09
5	GODDA	PORAIYAHAT			UPG GOVT +2 HS DANRE	20080513307	10	44.09
6	GODDA	PORAIYAHAT			UPG GOVT+2 HS PORAIYAHAT	20080500103	10	44.09
7	GUMLA	PALKOT				20161305907	10	44.09
8	KHUNTI	KHUNTI			UPG GOVT MS-CUM-HS ANIGARA	20230600404	9	40.74
9	KODARMA	KODERMA			UPG GOVT. +2 HS KODERMA	20050118909	10	44.09
10	PALAMU	PANKI			RAJKIYEKRIT+2 HIGH SCHOOL PANKI	20020300102	10	44.09
11	<b>PASHCHIMI SINGHB</b>	SADAR CHAIBASA				20171910401	10	44.09
12	RANCHI	KANKE				20140123201	10	44.09
13	BOKARO	KASMAR			+2 HIGH SCHOOL DANTOO	20131201510	10	44.09
14	CHATRA	HUNTERGANJ			RAJYA SAMPOSIT HIGH SCHOOL, PANDEYPUF		10	44.09
15	DEOGHAR	MOHANPUR			RAJKIYAKRIT +2 SCHOOL MOHANPUR HAT	20070117301	10	44.09
16	DUMKA	DUMKA	RA.M.S.LAKHIKU	Higher Secondary wit	+ 2 KANYA H.S.DUMKA	20110129403	10	44.09
17	GARHWA	RANKA			PROJECT GIRLS H/S RANKA	20011407503	10	44.09
18	GIRIDIH	GIRIDIH		Higher Secondary wit		20060916703	10	44.09
19	HAZARIBAG	BARHI			UPG. HIGH SCHOOL BIJAIYA	20040110401	10	44.09
20	HAZARIBAG	ICHAK			K.N.+2 HIGH SCHOOL ICHAK	20040902905	10	44.09
21	JAMTARA	JAMTARA			RAJIKIYAKRIT UPGRADE HIGH SCHOOL SAHAF		9	40.74
22	PASHCHIMI SINGHB	MANJHARI	M S BHARBHARI	Higher Secondary wit	HIGH SCHOOL MANJHARI +2	20171405003	10	44.09
23	SARAIKELA-KHARS/			Higher Secondary wit		20200310701	10	44.09
24	BOKARO	CHANDANKIYARI				20130105404	10	44.09
25	DEOGHAR	DEOGHAR			MATRI MANDIR BALIKA H.S.	20070301603	9	40.74
26	GIRIDIH	BAGODAR			GOVT HIGH SCHOOL ATKA	20061440404	7	28.99
27	HAZARIBAG				K.B.S.S.+2HIGH SCHOOL CHOUPARAN	20040506408	10	44.09
28	HAZARIBAG				+2 HIGH SCHOOL KATKAMSANDI	20041003610	10	44.09
29	HAZARIBAG				PROJECT G. H.S. BARKATHA	20040211406	10	44.09
30	HAZARIBAG				S.S. HIGH SCHOOL HARLI	20040304002	10	44.09
31	HAZARIBAG	BARHI			PROJECT H.S. GAORIYAKARMA	20040100206	9	40.74
32	KHUNTI				S.S +2 HIGH SCHOOL RANIA	20230105206	9	40.74
33	PALAMU				RAJKIYEKRIT +2 SITA HIGH SCHOOL HARIHAR		10	44.09

	Infrastructure Development- Secondary- ACR approved in PAB 2018-19							
SI.	District	Block	Cluster	School Category	School Name	School Code	Recom	ACR unit
No.							mendat	cost in
							ion	lakh
34	PALAMU	CHHATARPUR			RAJKIYEKRIT +2 HIGH SCHOOL CHHATARPUR	20020601424	10	44.09
35	PALAMU	NAWA BAZAR			UPG RAJKIYEKRIT +2 HIGH SCHOOL KANDA	20021902001	9	40.74
36		NAWA BAZAR			UPG RAJKIYEKRIT +2 HIGH SCHOOL NAWA BA		10	44.09
37	PALAMU	UNTARI ROAD			UPG RAJKIYEKRIT HIGH SCHOOL KARKATA	20021700402	10	44.09
38	PASHCHIMI SINGHB				UPG HIGH SCHOOL GOVINDPUR	20172101501	8	37.33
39		SONAHATU			GOVT UPG HIGH SCHOOL JAMUDAG	20141903301	8	37.33
40		UDHWA	MS KATAHALBAF	Higher Secondary wit	UPG +2 HIGH SCHOOL RADHANAGAR	20090503806	10	44.09
	SAHIBGANJ	BERHAIT	MS BERHAIT	Secondary with grade	UPG GOVT HS ADARSH BERHEIT	20090700502	3	14.2
42	SAHIBGANJ	UDHWA	MS KELABARI		UPG GOVT HS AATAPUR	20090502001	4	19.28
43	SIMDEGA	SIMDEGA	GOVT MS SIMDE	Secondary with grade	SS GIRLS HIGH SCHOOL SIMDEGA	20210417206	9	40.74
		GOMIYA	RAJKIYAKRIT M	Higher Secondary wit	+2 HIGH SCHOOL GOMIA	20131004505	10	44.09
		LAWALONG	M.S.LAWALONG	Higher Secondary wit	UPG. H.S.LAWALONG	20031005801	10	44.09
46	CHATRA	HUNTERGANJ	M.S.AURU GERU	Higher Secondary wit	UPG.H.S.AURUGERUA	20030300807	10	44.09
	· · · · · · · · · · · · · · · · · · ·	GOPIKANDAR	KA.M.S.GOPIKAN	Secondary with grade	PROJECT GIRLS HS GOPIKANDAR	20110805004	10	44.09
48	GARHWA	KHARAUNDHI	GOVT MS KHARC	Higher Secondary wit	GOVT UPG+2 HS RAJI	20010900307	9	40.74
49	GIRIDIH	DHANWAR			+2 HIGH SCHOOL DHANWAR	20060706304	10	44.09
50	PALAMU	HAIDARNAGAR	RAJKIYEKRIT MS	Secondary with grade	UPG RAJKIYEKRIT HIGH SCHOOL KUKHI	20021505802	3	14.2
51	PASHCHIMI SINGHB	GOELKERA			HIGH SCHOOL GOELKERA (+2)	20170500213	10	44.09
52	RAMGARH	PATRATU	M.S. JAINAGAR, P	Higher Secondary wit	S.S. +2 H.S PATRATU	20241308311	10	44.09
53	RANCHI	CHANHO			GOVT UPG HIGH SCHOOL CHAMA	20140301201	7	28.99
54	CHATRA	HUNTERGANJ	M.S.BANKA	Secondary with grade	UPG.H.S.BANKA	20030301301	10	44.09
55	CHATRA	PRATAPPUR	M.S.PRATAPPUR	Higher Secondary wit	RAJYA SAMPOSIT HIGH SCHOOL, PRATAPPUR	20030409808	10	44.09
56	DEOGHAR	SARWAN			+2 SCHOOL SARWAN	20070223102	10	44.09
57	DEOGHAR	DEOGHAR			R. MITRA +2 SCHOOL DEOGHAR	20070330401	10	44.09
58	DHANBAD	TOPCHANCHI			UPG HS HARIHARPUR	20120100102	7	28.99
59	GARHWA				GOVT UPG HS HALIWANTA	20010702104	5	22.91
60	GARHWA	BISHUNPURA			GOVT UPG +2 HS PIPIRI KALA	20011600504	2	8.49
61	GARHWA	KANDI			GOVT UPG HS LAMARIKALA	20011005501	6	26.28
62	GIRIDIH	GANDEY	TARATAND		UPG GOVT HS TARATAND	20061307101	9	40.74
63	GIRIDIH	DEORI	GOVT P.S MAND		UPG GOVT HS CHITROKURHA	20060202601	7	28.99
64	GIRIDIH	SURIYA			UPG GOVT HS PARSIYA	20061501205	8	37.33
65	GODDA	MAHAGAMA			UPG GOVT HS BISWASH KHANI	20080110401	3	14.2
66	GODDA				UPG GOVT HS PIROJ PUR	20080200801	7	28.99

SI. No.	District	Block	Cluster	School Category	ondary- ACR approved in PAB 2018-19 School Name	School Code	Recom mendat	
						00040000507	ion	lakh
	HAZARIBAG	DARI			A N S +2 HIGH SCHOOL RELIGARA	20042302507	10	44.09
68	KODARMA	KODERMA		ž i i	UPG GOVT +2 HS DUMARDIHA	20050109201	4	19.28
	LATEHAR	BALUMATH			UPG GOVT HS SEREGARA	20220713201	1	5.04
70	LOHARDAGA	SENHA			UPG GOVT HS SHAHBUTI	20150306601	4	19.28
	· · · · · · · · · · · · · · · · ·	PAKUR	the second se		UPG HS. NABI NAGAR	20101006601	10	44.09
	PAKAUR	MAHESHPUR			UPG HS GARH WARI	20100701201	10	44.09
73	PALAMU	CHAINPUR			UPG RAJKIYEKRIT HIGH SCHOOL CHANDO	20021001808	10	44.09
74	PALAMU	PANKI	UPG RAJKIYEKR	Secondary with grade	UPG RAJKIYEKRIT HIGH SCHOOL MAADAN	20020301006	10	44.09
75	PALAMU	PANDU			UPG RAJKIYEKRIT HIGH SCHOOL RATNAG	20020501001	9	40.74
76	SAHIBGANJ	UDHWA	UMS MOHANPUR	Higher Secondary wit	UPG +2 HIGH SCHOOL UDHWA	20090500108	10	44.09
77	SAHIBGANJ	MANDRO			UPG GOVT HS SRI RAM CHOWKI	20090205201	10	44.09
78	SAHIBGANJ	BARHARWA	PS BONIDANGA	Secondary with grade	UPG GOVT HS ISLAMPUR	20090805801	5	22.91
79	SAHIBGANJ	MANDRO	MS MIRZACHOW	Secondary with grade	UPG GOVT HS MIRZACHOWKI	20090201201	9	40.74
80	DHANBAD	JHARIA	BALIKA MS NUNU	Secondary with grade	UHS BARAREE COLLIERY	20120211405	6	26.28
81	KHUNTI	KARRA	GOVT MS KARRA	Higher Secondary with	+2 HIGH SCHOOL KARRA	20230408718	7	28.99
82	LOHARDAGA	LOHARDAGA	GOVT GIRLS MS	Higher Secondary with	GOVT CHUNNILAL HS LOHARDAGA	20150106205	3	14.2
83	DUMKA	DUMKA	SA.SM.M.S.DUM	Higher Secondary wi	+2.ZILA HS,DUMKA	20110128503	10	44.09
84	GUMLA	BHARNO	GOVT.BOY'S M/S	Higher Secondary with	GOVT HS +2 BHARNO	20161002308	8	37.33
85	LATEHAR	CHANDWA			RAJYAKRIT +2 GOVT HS CHANDWA	20220203904	10	44.09
86	PAKAUR	PAKUR	M.S. ADARSH BIL	Higher Secondary with	PAKUR RAJ+2 SCHOOL	20101003004	10	44.09
87	PASHCHIMI SINGHB	TANTNAGAR	UPG H S TANTNA	Secondary with grade	UPG HIGH SCHOOL TANTNAGAR	20172205101	5	22.91
88	DEOGHAR	MADHUPUR	GOVT M S TILAK	Higher Secondary wi	ANCHI DEVI S.BALIKA +2 H.S MADHUPUR	20070708804	10	44.09
89	RANCHI	ANGARA	GMS JOHNA	Secondary with grade	PROJECT HIGH SCHOOL JONHA	20141004506	10	44.09
90	HAZARIBAG	PADMA	M.S. PADMA	Higher Secondary wi	RAM NARAYAN +2 HIGH SCHOOL PADMA	20041902806	10	44.09
91	LOHARDAGA	LOHARDAGA			GOVT NADIA HINDU HS LOHARDAGA	20150105007	10	44.09
92	BOKARO	CHANDANKIYARI			t+2 HIGH SCHOOL CHANDANKIYARI	20130101611	10	44.09
	DEOGHAR	MADHUPUR			UPG. H.S JAGDISHPUR	20070710301	6	26.28
<u></u>	DHANBAD	TUNDI		· · ·	UPG HS LACHHURAIDIH	20120405501	5	22.91
	DUMKA	DUMKA		· · · · · · · · · · · · · · · · · · ·	t+2 NATIONAL H.S.DUMKA	20110109206	10	44.09
	PAKAUR	PAKUR			UPG HIGH SCHOOL ANJANA	20101005301	3	14.2
	J				nit Cost Rs.4.4368 lakh	Total	814	3611.555

Infrastructure Development-Elementary- Major Repair PS UPS approved in PAB 2018-19							
31. No	District	Name of Block	Name of School	School Code	Kecommenuat		
1	BOKARO	BERMO	PS BERMO STATION	20130800904	1		
2	BOKARO		PS BHANDARIBANDH	20130105403	1		
3	BOKARO	CHAS	PS MARAFARI BAZAR NO1		1		
4	DEOGHAR	DEOGHAR	GOVT P.S SALONATANR	20070303301	1		
5	DEOGHAR		GOVT P.S. PASIYA	20070707301	1		
6	DEOGHAR	MARGOMUNDA	GOVT P.S DUDHANI (URDU)	20071107801	1		
7	DEOGHAR	MARGOMUNDA	GOVT P.S PAROJORI	20071107001	1		
8	DEOGHAR	MARGOMUNDA	GOVT P.S.BEHARAPAHARI	20071106801	1		
9	DEOGHAR	SARATH	GOVT P.S BARWA	20070504501	1		
10	DEOGHAR	MADHUPUR	GOVT P.S BARBAD	20070707201	1		
11	DEOGHAR	MADHUPUR	UPG .P.S. DUDHANI	20070722801	1		
12	DEOGHAR	SARWAN	GOVT P.S BHURKUNDA	20070206001	1		
13	DEOGHAR	SARATH	GOVT P.S KHAIRBANI - 1	20070507701	1		
14	DHANBAD	GOVINDPUR	URDU PS LIPIDIH	20120810401	1		
15	DHANBAD	JHARIA	URDU PSHORLADIH	20120210403	1		
16	DHANBAD	NIRSA	URDU PS SONARDANGAL	20120700107	1		
17	DHANBAD	NIRSA	PS GOPINATHPUR	20120702603	1		
18	DHANBAD	JHARIA	URDU PSHORLADIH	20120210403	1		
19	DHANBAD	GOVINDPUR	URDU KANYA PS	20120801301	1		
20	DHANBAD	NIRSA	URDU PS NIRSA	20120702801	1		
21	DHANBAD	JHARIA	PS BHIKTARI COLIERY	20120210007	1		
22	DHANBAD	GOVINDPUR	URDU PS NUTANDIH	20120801302	1		
23	DHANBAD	BAGHMARA	PS PASITAND	20120609102	1		
24	DHANBAD	DHANBAD	URDU PS BHADRICHAK	20120306020	1		
25	DHANBAD	TOPCHANCHI	BALIKA PS HARIHARPUR	20120100104	1		
26	DHANBAD	DHANBAD	PS PYOR KUSTORE	20120302206	1		
27	DHANBAD	BAGHMARA	PSMURLIDIH	20120604401	1		
28	DHANBAD	TOPCHANCHI	URDU PS LOKBAD	20120101201	1		
29	DHANBAD	BAGHMARA	URDU PS SHYAMDIH	20120600102	1		
30	DHANBAD	DHANBAD	PS RANGATAND	20120302001	1		
31	DHANBAD	DHANBAD	PS CENTRAL GARERIYA	20120307201	1		
32	DHANBAD	TUNDI	PS TARTAND	20120409003	1		
33	DUMKA	RAMGARH	PS KARUDIH	20110715901	1		
34	ESM	BORAM	P.S.BHADUDIH	20181007401	1		
35	ESM	JAMSHEDPUR	PS SOMAIJHOPRI	20180314702	1		
36	ESM	JAMSHEDPUR	PS TUPUDANG	20180315801	1		
37	ESM	JAMSHEDPUR	PS SHARDAMATA	20180316503	1		
38	ESM	BAHRAGORA	PS PANIPARA	20180728501	1		
39	Garhwa	DANDA	UPG P.S GOBARDAHA	20011700601	1		
40	Garhwa		P.S BHUIYA TOLA	20010505001	1		
41	GIRIDIH	·····	PS SAMDA	20060412401	1		
42	GIRIDIH		PS PLAMO	20061101501	1		
43	GIRIDIH		PS PAPILO URDU	20061103601	1		
44	GIRIDIH		PS GANWA KANYA	20061214504	1		
45	GIRIDIH		PS BENDRO KANYA	20061219803	1		
46	GIRIDIH		PS PALMO	20061101501	1		
47	GIRIDIH		PS BEKODIH URDU	20061420804	1		

Infrastructure Develop nt-Elementary- Major Renair DS LIDS annroved

33

48	GIRIDIH	SURIYA	PS MANDHANIYA	20061502902	1
40	Godda	BASANTRAI	PS BISHNUDAS CHAK	20081101901	1
50	Godda	PATHARGAMA	PS SIMARIYA WEST	20080905602	1
51	Godda	BASANTRAI	PS SUSTI	20080305002	1
				20081100501	1
52	Godda	PATHARGAMA			1
53	Godda		PS MAL NISTARA	20080906601	1
54	Godda	MEHARMA	PS KUMAR DIHA	20080204601	1
55	Gumla	GHAGHRA	GPS PARSA TOLI	20160202301	1
56	Gumla	BISHUNPUR	GOVT PS SERKA	20160106501	1
57	Gumla	BISHUNPUR	GOVT PS BANARI	20160102201	1
58	Gumla	GHAGHRA	GPS HUTAR	20160207301	1
59	Hazaribagh	K.DAG	P.S TILAIYA URDU	20040107901	1
60	Hazaribagh	BARKAGOAN	P.S BADAM HINDI	20040306203	1
61	Hazaribagh	K.DAG	P.S BANHA URDU	20042103203	1
62	Hazaribagh	K.DAG	P.S CHICHI	20042101601	1
63	Hazaribagh	BARHI	PS GOURIA KARMA	20040100201	1
64	Pakur	Maheshpur	PS Raghunathpur	20100708201	11
65	Pakur	Amrapara	PS Basmati	20100715501	1
66	Pakur	Pakur	PS Bikrampur	20101003301	1
67	Pakur	Pakur	UPS Ilami Baganpara	20101005404	1
68	Pakur	Pakur	PS Laxminarayanpur	20101007401	1
69	PALAMAU	RAMGARH	PS SARJA	20021003901	1
70	PALAMAU	CHAINPUR	PS PANERIBANDH	20021006401	1
71	PALAMAU	NAWABAZAR	UPG PS Khamdiha	20021902501	1
72	PALAMAU	NAWABAZAR	UPG PS Banodha	20021904101	1
73	PALAMAU	SATBARAWA	PS KASIYADIH	20021300702	1
74	PALAMAU	TARHASI	UPG PS BARKOMA	20021807401	1
75	PALAMAU	NAWABAZAR	UPG PS Patriya	20021902201	1
76	PALAMAU	LESLIGANJ	NPS NASKATWA TOLA	20021106002	1
77	PALAMAU		NPS SARAIDIH TOLA	20020717703	1
78	PALAMAU		NPS SARAIDIHTOLA TILHA	20020717704	1
79	RAMGARH	RAMGARH	P.S BARLONG	20241402701	1
80	RANCHI	RANCHI SADAR	GPS KOKAR UNION	20140117614	1
81	RANCHI	RANCHI SADAR	NPS ANANDNAGAR	20140116201	1
82	RANCHI	RATU	GPS HEAD QUARTER	20140207803	1
83	RANCHI	BERO	GPS NARI	20140707503	1
84	Sahebganj	Barharwa	PS DURGAPUR	20090803101	1
85	Sahebganj	Barharwa	PS JAMPUR	20090803201	1
86	Sahebganj	Udhwa	PS NAVPARA	20090501901	1
87	WSM	Majhari	DPEP PS DINASAI	20171405005	1
88	WSM	Jhinkpan	P S KELENDE	20170802201	1
89	WSM	Kumardungi	P S DHOURI	20171203801	1
90	WSM	Jhinkpani	P S CHARABASA	20170802401	1
91	BOKARO	PETARWAR	UMS CHARGI	20131106401	1
92	DEOGHAR	KAROWN	GOVI OFGINIS. NAVVADIH	20070809302	1
93	DEOGHAR	DEOGHAR	BOSK BPG. IVI.S.	20070324401	1
94	DEOGHAR	KAROWN	GOVT UPG.M.S GOSUWA	20070324401	1
95	DEOGHAR	MARGOMUNDA	GOVT. OFG.IVI.S.	20070808401	1
	DEOGHAR	MADHUPUR	BONT OP B.M.S DANUE	20071100101	1
97	DEOGHAR	SARATH	GUVI UPG.IVI.S	20070701501	
98	DEOGHAR	MOHANPUR	GEOT: HAPB. AD. S.		1
- 00	5500 MAN			20070101701	1

99	DEOGHAR	DEVIPUR	GOVT. 0FG. W.S.	20070906001	1
		DEVIPUR	GOVT. M.S. BHOJPUR	20070900501	1
	DEOGHAR	SARWAN	GOVT UPG M. S. DAHUWA	20070207601	1
	DEOGHAR	MADHUPUR	GOVT UPG.M.S CHARPA	20070700101	1
102	DHANBAD	NIRSA	MS SALUKCHAPRA	20120707901	1
<u> </u>	DHANBAD	NIRSA	BOARD MS MUGMA	20120702602	1
104	DHANBAD	JHARIA	MS BHOWRA	20120210512	1
_	DHANBAD	TUNDI	VIVERAINAIND SEVVASTIKAIVI	20120210012	1
100	DHANBAD	GOVINDPUR	BASIC SCHOOL	20120814601	1
	DHANBAD	TOPCHANCHI	MS GUNGHASHA	20120101102	1
	DHANBAD	NIRSA	MS CHANCH POTARI	20120701001	1
	DHANBAD	PURVI TUNDI	MS FATEHPUR	20120900701	1
<u> </u>				20120300701	1
111	DHANBAD	TUNDI	MS NAWATAND MS LODHARIA	20120400301	1
	DHANBAD			20120400901	1
	DHANBAD	GOVINDPUR	MS ASANBANI		1
	DHANBAD	GOVINDPUR		20120800601	1
115	DHANBAD	GOVINDPUR	MS BHITIYA	20120806201	
116	DHANBAD	GOVINDPUR	MS NAGARKIYARI	20120806401	1
117	DHANBAD	GOVINDPUR	UMS KALADABAR	20120814001	1
<u> </u>	DHANBAD	GOVINDPUR	UMS KHARKABAD	20120803501	1
119	DHANBAD	BAGHMARA	UMS DHAWACHITA	20120607704	1
120	DHANBAD	GOVINDPUR	UMS TILABANI 2	20120818304	1
121	DHANBAD	GOVINDPUR	MS NAGARKIYARI	20120806401	1
122	DHANBAD	TOPCHANCHI	MS KHESHMI	20120101805	11
123	DHANBAD	NIRSA	SBS NIRSA	20120711101	1
124	DHANBAD	TUNDI	MS MANIADIH	20120400801	1
125	DHANBAD	TUNDI	UMS BADALPUR	20120402501	1
126	DHANBAD	BALIAPUR	UMS SALVISHAL	20120504701	1
127	DHANBAD	GOVINDPUR	UMS BARDOHI	20120800804	1
128	DHANBAD	GOVINDPUR	UMS SONARIYA	2012085501	1
129	DHANBAD	TOPCHANCHI	UMS CHITA	20120108102	1
130	DHANBAD	GOVINDPUR	UMS KALADABAR	20120814001	1
131	DHANBAD	GOVINDPUR	UMS TILABANI 1	20120801902	1
132	DHANBAD	NIRSA	UMS FATEHPUR	20120703501	1
133	DHANBAD	TUNDI	MS MACHHIYARA	20120400601	1
134	DHANBAD	PURVI TUNDI	UMS BARTOL	20120904701	1
135	DHANBAD	BALIAPUR	UMS KHAIRTAND	20120501703	1
136	DHANBAD	TUNDI	MS NAWATAND	20120400501	1
137	DHANBAD	BALIAPUR	UMS BHIKRAJPUR	20120506301	1
138	DHANBAD	JHARIA	MS BHOWRA G	20120210512	1
139	DHANBAD	NIRSA	UMS LAKHIYABAD	20120703301	1
	DHANBAD	TUNDI	UMS PARWATPUR	20120403601	1
	DHANBAD	JHARIA	UMS BHUTGARIA	20120210602	1
	DHANBAD	BALIAPUR	UMS BHIKRAJPUR	20120506301	1
<u> </u>	DHANBAD	NIRSA	MS PINDRAHAT	20120703502	1
	DHANBAD	DHANBAD	UMS BASERIA NO 2	20120302813	1
	DHANBAD	TOPCHANCHI	MS SINGHDAHA	20120115802	1
	DHANBAD	BAGHMARA	MS POCHARI	20120615301	1
	DHANBAD	DHANBAD	UMS BABUDIH	20120300705	1
	DHANBAD	GOVINDPUR	UMS GORTOPA	20120807501	1
149		TUNDI	MS DANDATAND	20120401201	1
L	•		0 <b>F</b>	L <u>····</u>	I

150	DHANBAD	TUNDI	MS KAMARDIH	20120400401	1			
151	DHANBAD	BAGHMARA	IVIS GANDHI HARIJAN	20120607015	1			
152	DHANBAD	TOPCHANCHI	MS JAGLAL HARIJAN	20120111803	1			
153	DHANBAD	BAGHMARA	RMS BAGRA	20120614204	1			
154	DHANBAD	BAGHMARA	MS KHARKHARI	20120602006	1			
155	DHANBAD	DHANBAD	MS KARKEND BALAK	20120300413	1			
156	DHANBAD	DHANBAD	MS DHAIYA	20120300612	1			
157	ESM	ΡΟΤΚΑ	MS BOARD HALDIPOKHAR	20180211501	1			
158	ESM	CHAKULIA	UMS MATAPUR	20180824802	1			
159	GIRIDIH	DHANWAR	MS ARKHANGO	20060706501	1			
160	GIRIDIH	TISRI	UMS TISRI KANYA	20061100903	1			
161	GIRIDIH	DUMRI	UMS CHAINPUR	20060405101	1			
162	GIRIDIH	Ganwa	UMS DAVAR	20061207202	1			
163	GIRIDIH	Ganwa	UMS DADHO	20061202401	1			
164	GIRIDIH	Ganwa	UMS GAGDISHPUR	20061210201	1			
165	GIRIDIH	Ganwa	UMS ALAMPUR URDU	20061205801	1			
166	GIRIDIH	PIRTAND	MS KARANPURA	20061026601	1			
167	Godda	PORAIYAHAT	MS DANRE	20080513302	1			
168	KODERMA	KODERMA		20050118802	1			
169	PALAMAU	CHHATTARPUR		20020616702	1			
170	PALAMAU	CHHATTARPUR	UMS KAWAL	20020620210	1			
171	PALAMAU	HARIHARGANJ	UHS SARSOT	20020200801	1			
172	PALAMAU	PANDWA	MS PANDWA	20022003101	1			
173	PALAMAU	PATAN	UMS KISHUNPUR PATAN	20021206401	1			
174	Sahebganj	Sahibganj	GOVT. MS BANGLA BOYS	20090101003	1			
175	Sahebganj	Sahibganj	GOVT. MS KISHAN PRASAD	20090101501	1			
176	Sahebganj	Taljhari		20090902702	1			
177	SIMDEGA	SIMDEGA	UPG GOVT MS BANGRU	20210407601	1			
	SIMDEGA	KOLEBIRA	GMS TUTIKEL	20210204202	1			
	SIMDEGA	BOLBA		20210301601	1			
	SIMDEGA	BOLBA	UPG GOVT MS LETABERA	20210301401	1			
	SIMDEGA	KERSAI	GOVT MS KERSAI	20211000101	1			
	SIMDEGA	BANO	GUMS MAHABUANG	20210606401	1			
		KOLEBIRA	GUMS BOKBA	20210201901	1			
		KURDEG		20210101804	1			
_	SIMDEGA	BOLBA	UPG GOVT MS ALINGUR	20210303903	1			
	SIMDEGA	T.TANGAR	UPG GOVT MS TAPUDEGA	20210502401	1			
	SIMDEGA	T.TANGAR	UPG GOVT MS TECHATOLI	20210501601	1			
		KOLEBIRA	GUMS KUDABERA	20210002701	1			
		KOLEBIRA	GUMS SHIVNATHPUR	20210204602	1			
190		Kumardungi	MS KUNDIYADHAR	20171205601	1			
Average Unit Cost (PS& UPS) Rs.2.49 lakh Total								

SI.	Infrastructure		or Repair for Sr. Sec.School (+2	1	Recommendati
No.	District	Name of Block	Name of School	School Code	on
1	DHANBAD	GOVINDPUR	G.S.A +2 HIGH SCHOOL YADAVPUR	20120825801	1.00
2	EAST SINGHBHUM	PATAMDA	S.S +2 HIGH SCHOOL,PATAMDA	20180111010	1.00
3	EAST SINGHBHUM	BAHARAGORA	BAHARAGORA +2 HIGH SCHOOL BAHARAGORA	20180704303	1.00
4	GIRIDIH	BAGODAR	. +2 HS BAGODAR	20061401912	1.00
5	GIRIDIH	TISRI	. +2 HS AGARWALA	20061116001	1.00
6	GIRIDIH	GANWA	. +2 HS GANWA	20061214507	1.00
7	GIRIDIH	DUMRI	. +2 SSKB HS DUMRI	20060410706	1.00
8	GIRIDIH	DHANWAR	. +2 HS DORANDA	20060714701	1.00
9	GIRIDIH	DHANWAR	. +2 HS DHANWAR	20060706304	1.00
10	GIRIDIH	GIRIDIH	. +2 UHS GIRIDIH	20060904703	1.00
11	Godda	MAHAGAMA	+2 HS JAIYNARYAN MAHAGAMA	20080107004	1.00
12	Godda	PORAIYAHAT	+2 HS PORAIYAHAT	20080500103	1.00
13	JAMTARA	JAMTARA	JBC + 2 HS JAMTARA	20191126704	1.00
14	JAMTARA	FATEHPUR	RK+2 HS MANJHLADIH	20191612002	1.00
15	KHUNTI	KHUNTI	S.S.+2 HIGH SCHOOL KHUNTI	20230609913	1.00
16	KHUNTI	MURHU	HIGH SCHOOL LAKSHMI NARAYAN MURHU	20230210107	1.00
17	LOHARDAGA	KAIRO	DR. ANUGRAH NARAYAN HIGH SCHOOL, KAIRO	20150208114	1.00
18	LOHARDAGA	KURU	GANDHI MEMORIAL HIGH SCHOOL MARADIH	20150105007	1.00
19	LOHARDAGA	KURU	PROJECT GIRLS HIGH SCHOOL, KURU	20150505804	1.00
20	LOHARDAGA	BHANDRA	LAL BAHADUR SASHTRI HIGH SCHOOL, BHANDRA	20150601509	1.00
21	LOHARDAGA	LOHARDAGA	GOVT CHUNNILAL HS LOHARDAGA	20150305606	1.00
22	LOHARDAGA	BHANDRA	GOVT BARHAMANDIHA HS CHATTI	20150401510	1.00
23	RANCHI	RANCHI SADAR	S.S. DORANDA +2 GIRLS HIGH SCHOOL DORANDA	20140121807	1.00
24	RANCHI	RANCHI SADAR	BAL KRISHNA +2 HIGH SCHOOL	20140114307	1.00
25	Seraikela Kharsawan	Rajnagar	SS+2 High School Rajnagar	20201802009	1.00
26	Seraikela Kharsawan	Seraikella	Varsini +2 High School Sini	20202007706	1.00
27	Seraikela Kharsawan	Gamharia	SS+2 High School Gamharia	20200425702	1.00

28	SIMDEGA	KOLEBIRA	SS HIGH SCHOOL KOLEBIRA	20210203606	1.00
29	West Singhbhum	Manjhari	H S +2 MANJHARI	20171405003	1.00
30	West Singhbhum	Kumardungi	H S +2 KUMARDUNGI	20171204904	1.00
		Average unit ra	ite Rs.6.432 lakh	Total	30.00

# INFRASTRUCTURE COMPONENT : Recommendation : PAB 2018-19

Sl. No.	Infrastruatura Componento	Physical	Unit cost	(Rs. in lakh) Financial
<b>SI.</b> INO.	Infrastructure Components	riiysicai		Fillanciai
I.	Elementary			
1.1	Additional Class Room	77	4.504	346.81
1.6	Major repair	190	2.49	473.10
	Total	267		819.91
2.	Secondary Class IX &X			
2.1	Additional Class Room	814	4.4368	3611.56
2.2	Science Laboratory	3	10.89	32.67
2.3	Art/Craft Room	7	8.691	60.84
2.4	Library	2	12.75	25.50
	Total	876		3923.53
3	Secondary Class X &XI			
3.1	Major repair	30	6.432	192.96
	Total	30		192.96
4	SURRENDER –Secondary			
4.1	Upgradation/ opening of school :- 2 Section Year of Sanction: 2009-110 to 2012-13	157		9124.84
	Total (*Amount to be surrendered)			9124.84*

### Name of State / UT : Jharkhand

Note: # list of ACR, toilets, ramps, drinking water and major repair etc. are enclosed

SI.No.	District name	Block	Cluster	School catergory	School name	ISCHOOLCOUP	Recom mendat ion
1	GARHWA	GARHWA	MS SHALIGRAM SONPURW	Secondary with H.Sec.	R.K. GOVIND +2 HS SCHOOL GARHWA	20010400208	1
2	GIRIDIH	GIRIDIH	GOVT M.S PATRO DIH	Secondary with H.Sec.	ZILA SCHOOL GIRIDIH	20060911404	1
3	PAKAUR	PAKAUR	M.S. ADARSH BILTU	Jpper Pri.+ Sec. & H.Sec.	PAKUR RAJ+2 SCHOOL	20101003004	1
4	BOKARO	CHAS	RAJKIYAKRIT ADARSH M S	Secondary with H.Sec.	RAMRUDRA HIGH SCHOOL	20130327101	1
5	RANCHI	KANKE	MS NEW POLICE LINE	Jpper Pri.+ Sec. & H.Sec.	GOVT BALKRISHNA HIGH SCHOOL	20140114307	1
6	LOHARDAGA	LOHARDAGA	GOVT PS KUTMU	Secondary with H.Sec.	GOVT NADIA HINDU HS LOHARDAGA	20150105007	1
7	RAMGARH	RAMGARH	M.S.BLOCK CAMP,RAMGAR	Secondary with H.Sec.	GANDHI SMARAK HIGH SCHOOL RAMGAR	20241411505	1
			Unit Co	st Rs.8.691 lakh		Total	7

Infrastructure Development - Secondary Art/ Culture Room approved in PAB

SI.No.	District name	Block	Cluster	School catergory	School name	School Code	Recomm endation		
1	SAHIBGANJ	Sahibganj	MS BADI KODARJANNA	Secondary with H.Sec.	UPG +2 HIGH SCHOOL KODARJANNA	20090107807	1		
2	LATEHAR	LATEHAR	ASHRAM MS LATEHAR	Secondary with H.Sec.	RAJYAKRIT +2 BOYS HS LATEHAR	20220116521	1		
3	RAMGARH	RAMGARH	M.S.BLOCK CAMP,RAMGARH	Secondary with H.Sec.	GANDHI SMARAK HIGH SCHOOL RAMGAR H CANTT	20241411505	1		
		Unit Cost Rs.10.89 lakh							

#### Infrastructure Development - Secondary- Science Laboratory approved in PAB

SI. No.	District	Block	Cluster	School catergory	School name	School Code	Recomm endation
	PALAMU	DALTONGANJ	RAJKIYEKRIT MS SHIWALA ROAD	Upper Pri.+ Sec. & H.Sec.	RAJKIYE +2 HIGH SCHOOL MEDININ AGAR ZILA SCHOOL	20020106709	1
2	RAMGARH	RAMGARH	M.S.BLOCK CAMP,RAMGARH	Secondary with H.Sec.	GANDHI SMARAK HIGH SCHOOL RA MGARH CANTT	20241411505	1
	Unit cost Rs.12.75 lakh						2

#### Infrastructure Development - Secondary- Library Room approved in PAB

## Surrender of Infrastructure Components Secondary - Upgradation/ Opening of 2 Section School approved in PAB 2018-19

					Origina	PAB S	Sanction		s. in lakh
SI. No.	Compone nts	School Category	School Name	UDISE Code	Year of Sanction	-	Financi al	Surrender ed amount	Reason
1	z section	Secondary	U.H.S.KUTIL	20030903601	2009	1	58.12	58.12	4
2	2 Section	Secondary	UPG.H.S.SIJUA	20030421301	2009	1	58.12		Enroim
3	2 section	Secondary	U.H.S.BODHADIH	20030905201	2009	1	58.12	58.12	ent
4	2 section	Higher	UPG.H.S.RIMI	20031003501	2009	1	58.12	58.12	
5	2 Section	Secondary	UPG.H.S.MADHWA	20031001002	2009	1	58.12	58.12	
6	2 section	Secondary	UPG.H.S.MANATU TIKULIA	20031004201	2009	1	58.12	58.12	
7	2 Section	Secondary	UPG GOVT HS SONDIHA	20080516301	2009	1	58.12	58.12	
8	2 Section	Secondary	UPG GOVT HS GOPALPUR	20080400201	2009	1	58.12	58.12	
9	2 Section	Higher	UPG GOVT HS DHAMNI	20080308201	2009	1	58.12	58.12	
10	2 Section	Higher	GOVT UPG HS SIVIL.	20160408201	2009	1	58.12	58.12	
11	2 Section	Secondary	RAJKIYAKRIT HIGH SCHOOL	20161102102	2009	1	58.12	58.12	
2	2 Section	Secondary	RAJKRIYAKRIT UPGRADED	20161107701	2009	1	58.12	58.12	
3	2 stealor	Secondary	GOVT UPG HS SOWALI	20160504201	2009	1	58.12	58.12	
4	2 Section	Secondary	RAJYAKRIT UPGRADED	20161306501	2009	1	58.12	58.12	
5	2-section	Secondary	UPG GOVT MS-CUM-HS	20230201301	2009	1	58.12	58.12	]
6	2-Section	Higher	UPG GOVT HS CHATAKPUR	20220602301	2009	1	58.12	58.12	
7	2 Section	Secondary	UPG GOVT HS LAT	20220505101	2009	1	58.12	58.12	
18	2 Section	Secondary	UPG GOVT HS HESAPIRI	20150208501	2009	1	58.12	58.12	
19	2 Section	Secondary	UPG GOVT HS DUGGU	20150701701	2009	1	58.12	58.12	,
20	2 Section	Secondary	UPG HS BARASARSA	20101104701	2009	1	58.12	58.12	
<u>20</u> 21	2 Section	Secondary	UPG RAJKIYEKRIT HIGH	20020412101	2009	1	58.12	58.12	
$\frac{21}{22}$	2 Section	Higher	UPG HIGH SCHOOL UNDUDA	20172402901	2009	1	58.12	58.12	
23	2 Section	Secondary	UPG HIGH (UMS) SCHOOL	20170100601	2009	1	58.12	58.12	2
24	2 section	Secondary	UPG HIGH SCHOOL BARKI	20241403001	2009	) 1	58.12	58.12	.]
25	2 Section	Secondary	UPG GOVT HS LOGAI	20090702501	2009	) 1	58.12	58.12	2]
26	2 Section	Secondary	U.H.S.PHULANG	20031106601	2010	) 1	58.12	58.12	2
20	2-Section	Secondary	UPG.H.S.MEDWADIH	20030904105	2010		58.12	58.12	2]
27	2-Section	Secondary	UPG GOVT HS SOBARANPUR		2010		58.12	2 58.12	2

29		Secondary	UPG GOVT HS PANDEYDIH	20061011001	2010	1	58.12	58.12
30	2 Section	Secondary	UPG GOVT HS MADHURA	20080200201	2010	1	58.12	58.12
- <b></b>	2 Section	Secondary	UPG GOVT HS NAYA	20080110101	2010	1	58.12	58.12
32	2 Section	Secondary	UPG GOVT HS DAMROO	20080302001	2010	1	58.12	58.12
33	2 Section	Secondary	UPG GOVT HS NATHGODA	20080305501	2010	1	58.12	58.12
4/1	2 Section	Secondary	UPG GOVT HS DALDALI	20080405001	2010	1	58.12	58.12
35	2 Section	Secondary		20160205801	2010	1	58.12	58.12
36	School	Secondary	GOVT UPG HS PULUNG	20161409201	2010	1	58.12	58.12
4/	<del>2 Section</del>	Secondary	RAJYAKRIT UPGRADED HIGH	20161302001	2010	1	58.12	58.12
38	<del>2 Section</del>	Secondary	RAJYAKRIT UPGRADED	20161206901	2010	1	58.12	58.1
39	<del>2 Section</del>	Secondary	GOVT. UPG HS BHATHOULI	20160402601	2010	1	58.12	58.1
	<del>2 Section</del>	Secondary	RAJYAKRIT UPGRADED	20161205001	2010	1	58.12	58.1
41 1	<del>2 Section</del>	Secondary	RAJKIYAKRIT UPGRADED	20161103102	2010	1	58.12	58.1
47 1	2 Section	Secondary	UPG GOVT MS-CUM-HS	20230506701	2010	1	58.12	58.1
43 1	<del>2 Steelon</del>	Higher	UPG GOVT +2 HS	20050200703	2010	1	58.12	58.1
14 1	<del>2 Section</del>	Secondary	UPG GOVT HS HUTAP	20220204001	2010	1	58.12	58.1
ו רו	<del>2 Section</del>	Secondary	UPG GOVT HS SEWDHARA	20220301201	2010	1	58.12	58.1
in i	2 Section	Secondary	UPG GOVT HS SOHARPAT	20220604801	2010	1	58.12	58.1
1/ 1	<del>2 Section</del>	Secondary	UPG HIGH SCHOOL	20220206701	2010	1	58.12	58.1
IX I	<del>2 Section</del>	Secondary	UPG GOVT HS DUNDRU	20150704501	2010	1	58.12	58.1
LY I	<del>2 Section</del>	Secondary	UPG GOVT HS	20150206001	2010	1	58.12	58.1
	<del>2 Section</del>	Secondary	UPG HIGH SCHOOL	20171705802	2010	1	58.12	58.1
<b>N I I</b>	2 Section	Secondary	UPG HIGH SCHOOL SONGRA	20170109801	2010	1	58.12	58.1
	<del>2 Section</del> Sobasi	Secondary	UPG HIGH SCHOOL MAHUDI	20171700710	2010	1	58.12	58.1
11 1	2 Section	Secondary	UPG HIGH (UMS) SCHOOL	20170105401	2010	1	58.12	58.1
14 1	<del>2 Section</del> <del>2 Section</del>	Higher	UPG HIGH (UMS) SCHOOL	20172307101	2010	1	58.12	58.1
ו רו		Higher	UPG HIGH (UMS) SCHOOL	20171004701	2010	1	58.12	58.1
10 I	Sebeel	Secondary	UPGRADED GOVT	20181102401	2010	1	58.12	58.1
\/ I	Sebeel	Secondary	UPG HIGH SCHOOL SUGDA	20142301601	2010	1	58.12	58.1
NX I	Sebeel	Secondary	UPG GOVT HS DHARAMPUR	20090701401	2010	1	58.12	58.1
<b>U</b>	<del>2 Section</del> <del>2 Section</del>	Secondary	UPG GOVT HS HALDIGARH	20090902201	2010	1	58.12	58.1
<b>ME 1</b>			UPG HS SIGIRDA	20201103402	2010	1	58.12	58.1
<b>\</b>	<del>2 Section</del>	Secondary	UPG GOVT HS PAITANO	20210705502	2010	1	58.12	58.1
52	2 Section	Secondary	UPG GOVT HS BANGAON	20210101603	2010	1	58.12	58.1

63	2 30011011-	Secondary	UPG GOVT HS KESHALPUR	20210802204	2010	1	58.12	58.12
64	2 Section	Secondary	UPG GOVT HS DHAWAIPANI	20210501901	2010	1	58.12	58.12
65	2 Section	Secondary	UPG GOVT HS GULDA	20210404202	2010	1	58.12	58.12
66	2 Section	Secondary	UPG GOVT HS	20211000403	2010	1	58.12	58.12
67	2 Section	Secondary	UPG GOVT HS KONAROA	20210603002	2010	1	58.12	58.12
68	2 Section	Secondary	U.H.S.KOLKOLE	20031000301	2011	1	58.12	58.12
69	2 Section	Secondary	UPG.H.S.SILDAG	20031001401	2011	1	58.12	58.12
70	2 Section	Secondary	UPG HS NAWATAND	20120400501	2011	1	58.12	58.12
71	2 Section	Secondary	UPGRADE GOVT	20110700302	2011	1	58.12	58.12
72	2 Section	Higher	UPGRADE +2 GOVT H.S.	20110803101	2011	1	58.12	58.12
73	2 Section	Secondary	UPGRADE H.SBARAPAHARI	20110801301	2011	1	58.12	58.12
74	2 Section	Secondary	UPG GOVT HS KHAIRIDIH	20060318201	2011	1	58.12	58.12
75	<del>2 Section</del>	Secondary	UPG GOVT HS CHIRUWAN	20061503704	2011	1	58.12	58.12
76	2 Section	Secondary	UPG GOVT HS MOKAMO	20061504901	2011	1	58.12	58.12
77	S steelor	Secondary	UPG GOVT HS KASIYADIH	20061504202	2011	1	58.12	58.12
78	2 Section	Secondary	UPG GOVT HS DWARPAHARI	20060310301	2011	1	58.12	58.12
79	2 Section	Secondary	UPG GOVT HS DORIYO	20061406401	2011	1	58.12	58.12
80	2 Section	Secondary	UPG GOVT HS BALGO	20060309301	2011	1	58.12	58.12
81	2 Section	Secondary	UPG GOVT HS BARMASIYA	20061206301	2011	1	58.12	58.12
82	2 Section	Secondary	UPG GOVT HS	20061022001	2011	1	58.12	58.12
83	2 Section	Secondary	UPG GOVT HS DADU GHUTU	20080500901	2011	1	58.12	58.12
84	2 Section 2 Section	Secondary	UPG GOVT HS MACHA KHAR	20080513001	2011	1	58.12	58.12
85	2 Section	Secondary	UPG GOVT HS SANGRAM	20080104701	2011	1	58.12	58.12
86	2 Section	Secondary	GOVT UPG HS MAJHGAON	20160502301	2011	1	5 <b>8</b> .12	58.12
87	2 Section	Secondary	RAJYAKRIT UPGRADED HIGH	20161306901	2011	1	58.12	58.12
88	2 Section	Secondary	GOVT.BASIC UPG HS	20160404901	2011	1	58.12	58.12
89	2 Section	Secondary	RAJKIYAKRIT UPGRADED	20161100701	2011	1	58.12	58.12
90		Secondary	RAJYAKRIT UPGADED HIGH	20160211001	2011	1	58.12	58.12
91	<del>2 Section</del> <del>2 Section</del>	Secondary	RAJKIYAKRIT UPGRADED	20161001701	2011	1	58.12	58.12
92	2 Section	Secondary	UPG GOVT MS-CUM-HS	20230506602	2011	1	58.12	58.12
93	2 Section	Secondary	UPG GOVT MS-CUM-HS	20230100701	2011	1	58.12	58.12
94		Secondary	UPG GOVT MS-CUM-HS	20230204601	2011	1	58.12	58.12
95	2 Section	Secondary	UPG GOVT HS SAIDUP	20220504201	2011	1	58.12	58.12
96	2 Section	Secondary	UPG GOVT HS HAMI	20220602901	2011	1	58.12	58.12

17         2 steuton         Secondary         UPG NS JORDIHA         2010102601         2011         58.12         58.12           59         2 steuton         Secondary         UPG RAJKIYEKRIT HIGH         20021001901         2011         1         58.12         58.12           100         2 steuton         Secondary         UPG RAJKIYEKRIT HIGH         20020101901         2011         1         58.12         58.12           101         2 steuton         Secondary         UPG RAJKIYEKRIT HIGH         2002023101         2011         1         58.12         58.12           102         Secondary         UPG RADED HS         20180406902         2011         1         58.12         58.12           103         Secondary         UPG RADED HIGH SCHOOL         20241501801         2011         1         58.12         58.12           104         Secondary         UPGRADED HIGH SCHOOL         20241602801         2011         1         58.12         58.12           105         Secondary         UPG RADED HIGH SCHOOL         20241400801         2011         1         58.12         58.12           105         Secondary         UPG GOVT HS RUNPANI         20210302501         2011         1         58.12         58.1	97	2 Section	Secondary	UPG HS MAHULBONA	20101105201	2011	1	58.12	58.12
b         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20021001901         2011         1         58.12         58.12           100         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20020616001         2011         1         58.12         58.12           101         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20020203101         2011         1         58.12           102         Secondary         UPG RADED HS         20180406902         2011         1         58.12           103         Secondary         UPG RADED HG         20180406902         2011         1         58.12         58.12           104         Secondary         UPG RADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           105         Secondary         UPG RADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           106         Secondary         UPG ROVT HS BANKHETA         20241400801         2011         1         58.12         58.12           107         Secondary         UPG GOVT HS KHUTANA         202010403703         2011         1         58.12         58.12           108									
Description         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20020616001         2011         1         58.12         58.12           101         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20020203101         2011         1         58.12         58.12           102         Secondary         UPG RAJKIYEKRIT HIGH         20020203101         2011         1         58.12         58.12           103         Secondary         UPG RADED HS         20180406902         2011         1         58.12         58.12           103         Secondary         BASIC SCHOOL MURUBANDA         20241501801         2011         1         58.12         58.12           104         Secondary         UPGRADED HIGH SCHOOL         20241602801         2011         1         58.12         58.12           105         Secondary         UPG ADED HIGH SCHOOL         20241400801         2011         1         58.12         58.12           106         Secondary         UPG GOVT HS MAINTANA         20201003703         2011         1         58.12         58.12           107         Secondary         UPG GOVT HS KUPANA         20210403703         2011         1         58.12         58.12		<del>S Section</del>					1		
Display         2 Section         Secondary         UPG RAJKIYEKRIT HIGH         20020203101         2011         1         58.12         58.12           102         2 Section         Secondary         UPG RADED HS         20180406902         2011         1         58.12         58.12           103         Z Section         Secondary         UPG GOVT HS PUNGORA         20180603001         2011         1         58.12         58.12           104         Z Section         Secondary         UPG GOVT HS PUNGORA         20241501801         2011         1         58.12         58.12           105         Z Section         Secondary         UPGRADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           106         Z Section         Secondary         UPG ROVT UPG HIGH SCHOOL         20241400801         2011         1         58.12         58.12           108         Z Section         Secondary         UPG GOVT HS KHUTANA         20209704201         2011         1         58.12         58.12           110         Z Section         Secondary         UPG GOVT HS SEWAI         20210302501         2011         1         58.12         58.12           111         S Section         <		2 Section					1		
D2         2 Section Secondary         UPGRADED HS         20180406902         2011         1         58.12         58.12           103         2 Section Secondary         UPG GOVT HS PUNGORA         20180603001         2011         1         58.12         58.1							1		
Discreta         Exection         Secondary         UPG GOVT HS PUNGORA         20180603001         2011         1         58.12         58.12           104         £ Section         Secondary         BASIC SCHOOL MURUBANDA         20241501801         2011         1         58.12         58.12           105         £ Section         Secondary         UPGRADED HIGH SCHOOL         20241602801         2011         1         58.12         58.12           106         £ Section         Secondary         UPGRADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           107         £ Section         Secondary         UPG HS BANKHETA         20241400801         2011         1         58.12         58.12           108         £ Section         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         £ Section         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         £ Section         Secondary         UPG GOVT HS BALIYAJOR         20210403703         2011         1         58.12         58.12           112         £ Section							-		
10         £ Section         Secondary         BASIC SCHOOL MURUBANDA         20241501801         2011         1         58.12         58.12           105         £ Section         Higher         UPGRADED HIGH SCHOOL         20241602801         2011         1         58.12         58.12           106         £ Section         Secondary         UPGRADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           107         £ Section         Secondary         UPG H.S BANKHETA         20241400801         2011         1         58.12         58.12           108         £ Section         Secondary         GOVT UPG HIGH SCHOOL         20140705801         2011         1         58.12         58.12           109         £ Section         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         £ Section         Secondary         UPG GOVT HS SEWAI         20210302501         2011         1         58.12         58.12           111         £ Section         Secondary         UPG GOVT HS MUPANI         20210801302         2011         1         58.12         58.12           112         £ Section         Sec							_		
105         É steutor         Higher         UPGRADED HIGH SCHOOL         20241602801         2011         1         58.12         58.12           106         É steutor         Secondary         UPGRADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           107         É steutor         Secondary         UPG H.S. BANKHETA         20241400801         2011         1         58.12         58.12           108         É steutor         Secondary         GOVT UPG HIGH SCHOOL         20140705801         2011         1         58.12         58.12           109         É steutor         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         É steutor         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           112         É steutor         Secondary         UPG GOVT HS BHELWADIH         2021030301         2011         1         58.12         58.12           112         É steutor         Secondary         UPG GOVT HS BANMUNDA         20210300709         2011         1         58.12         58.12           113         É steutor         <	104			· · · · · · · · · · · · · · · · · · ·			1		
E         Secondary         UPGRADED HIGH SCHOOL         20241501001         2011         1         58.12         58.12           107         E         Secondary         UPG H.S. BANKHETA         20241400801         2011         1         58.12         58.12           108         E         Secondary         GOVT UPG HIGH SCHOOL         20140705801         2011         1         58.12         58.12           109         E         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         E         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         E         Secondary         UPG GOVT HS SEWAI         20210403703         2011         1         58.12         58.12           112         E         Secondary         UPG GOVT HS BHELWADIH         20210801302         2011         1         58.12         58.12           113         Secondary         UPG GOVT HS BANMUNDA         20210900803         2011         1         58.12         58.12           114         E         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013							1		
107         É section         Secondary         UPG H.S. BANKHETA         20241400801         2011         1         58.12         58.12           108         É section         Secondary         GOVT UPG HIGH SCHOOL         20140705801         2011         1         58.12         58.12           109         É section         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         É section         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         É section         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         É section         Secondary         UPG GOVT HS BHELWADIH         20210503901         2011         1         58.12         58.12           113         É section         Secondary         UPG GOVT HS BALEWADIH         20210300709         2011         1         58.12         58.12           114         É section         Secondary         UPG GOVT HS KAHUPANI         20210300709         2011         1         58.12         58.12           115         É section							1		
2 Section         Secondary         GOVT UPG HIGH SCHOOL         20140705801         2011         1         58.12         58.12           109         £ section         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         £ section         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         £ section         Secondary         UPG GOVT HS SEWAI         20210403703         2011         1         58.12         58.12           112         £ section         Secondary         UPG GOVT HS BHELWADIH         20210503901         2011         1         58.12         58.12           113         £ section         Secondary         UPG GOVT HS BHELWADIH         20210900803         2011         1         58.12         58.12           114         £ section         Secondary         UPG GOVT HS KAHUPANI         20210900803         2011         1         58.12         58.12           115         £ section         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013         1         58.12         58.12           117         £ section         Secondary <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>1</td> <td></td> <td></td>							1		
109         2 Section         Secondary         UPG GOVT HS KHUTANA         20090704201         2011         1         58.12         58.12           110         2 Section         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         2 Section         Secondary         UPG GOVT HS SEWAI         20210403703         2011         1         58.12         58.12           111         2 Section         Secondary         UPG GOVT HS KURPANI         20210503901         2011         1         58.12         58.12           113         2 Section         Secondary         UPG GOVT HS BHELWADIH         20210801302         2011         1         58.12         58.12           114         2 Section         Secondary         UPG GOVT HS BANMUNDA         20210900803         2011         1         58.12         58.12           114         2 Section         Secondary         UPG GOVT HS KAHUPANI         20210300709         2011         1         58.12         58.12           116         2 Section         Secondary         UPG RAJKIYAKRIT HIGH         20130314701         2013         1         58.12         58.12           118         Secondary							1		
10         £ Stetlon         Secondary         UPG GOVT HS BALIYAJOR         20210302501         2011         1         58.12         58.12           111         £ Stetlon         Secondary         UPG GOVT HS SEWAI         20210403703         2011         1         58.12         58.12           112         £ Stetlon         Secondary         UPG GOVT HS KURPANI         20210503901         2011         1         58.12         58.12           113         £ Stetlon         Secondary         UPG GOVT HS BHELWADIH         20210503901         2011         1         58.12         58.12           113         £ Stetlon         Secondary         UPG GOVT HS BHELWADIH         20210900803         2011         1         58.12         58.12           114         £ Stetlon         Secondary         UPG GOVT HS KAHUPANI         20210900803         2011         1         58.12         58.12           115         £ Stetlon         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013         1         58.12         58.12           116         £ Stetlon         Secondary         UPG RAJKIYAKRIT HIGH         20130300702         2013         1         58.12         58.12           118         £ Stetlon	109								
111         2 Section         Secondary         UPG GOVT HS SEWAI         20210403703         2011         1         58.12         58.12           112         2 section         Secondary         UPG GOVT HS KURPANI         20210503901         2011         1         58.12         58.12           113         2 section         Secondary         UPG GOVT HS BHELWADIH         20210801302         2011         1         58.12         58.12           114         2 section         Secondary         UPG GOVT HS BANMUNDA         20210900803         2011         1         58.12         58.12           115         2 section         Secondary         UPG GOVT HS KAHUPANI         20210300709         2011         1         58.12         58.12           116         2 section         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013         1         58.12         58.12           117         2 section         Secondary         UPG RAJKIYAKRIT HIGH         20130314701         2013         1         58.12         58.12           118         2 section         Secondary         UPG M.S.KOLHAIYA         20031204504         2013         1         58.12         58.12           120         2 section <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></t<>									
112         2 Section         Secondary         UPG GOVT HS KURPANI         20210503901         2011         1         58.12         58.12           113         2 section         Secondary         UPG GOVT HS BHELWADIH         20210801302         2011         1         58.12         58.12           114         2 section         Secondary         UPG GOVT HS BANMUNDA         20210900803         2011         1         58.12         58.12           115         2 section         Secondary         UPG GOVT HS KAHUPANI         20210300709         2011         1         58.12         58.12           116         2 section         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013         1         58.12         58.12           117         2 section         Secondary         UPG RAJKIYAKRIT HIGH         20130300702         2013         1         58.12         58.12           118         2 section         Secondary         UPG RAJKIYAKRIT HIGH         20130300702         2013         1         58.12         58.12           119         2 section         Secondary         UPG.M.S.KOLHAIYA         20030802101         2013         1         58.12         58.12           120         2 section	111						1		58.12
1132 SectionSecondaryUPG GOVT HS BHELWADIH202108013022011158.1258.121142 SectionSecondaryUPG GOVT HS BANMUNDA202109008032011158.1258.121152 SectionSecondaryUPG GOVT HS KAHUPANI202103007092011158.1258.121162 SectionSecondaryUPG RAJKIYAKRIT HIGH201301125012013158.1258.121172 SectionSecondaryUPG RAJKIYAKRIT HIGH201303147012013158.1258.121182 SectionSecondaryUPG RAJKIYAKRIT HIGH201303007022013158.1258.121182 SectionSecondaryUPG RAJKIYAKRIT HIGH201303007022013158.1258.121192 SectionSecondaryUPG RAJKIYAKRIT HIGH200312045042013158.1258.121202 SectionSecondaryUPG.M.S.KOLHAIYA200308021012013158.1258.121212 SectionSecondaryUPG.M.S.HESATU200306013012013158.1258.121222 SectionSecondaryUPG.M.S.KHAPIA200309030012013158.1258.121232 SectionSecondaryUPGRADE H.S. BELDAHA20110579012013158.1258.121232 SectionSecondaryUPGRADE GOVT H.S.201104236012013158.1258.12124						2011	1		58.12
1142 SectionSecondaryUPG GOVT HS BANMUNDA202109008032011158.1258.121152 SectionSecondaryUPG GOVT HS KAHUPANI202103007092011158.1258.121162 SectionSecondaryUPG RAJKIYAKRIT HIGH201301125012013158.1258.121172 SectionSecondaryUPG RAJKIYAKRIT HIGH201303147012013158.1258.121182 SectionSecondaryUPG RAJKIYAKRIT HIGH201303007022013158.1258.121182 SectionSecondaryUPG RAJKIYAKRIT HIGH200312045042013158.1258.121192 SectionSecondaryUPG.M.S.KOLHAIYA200312045042013158.1258.121202 SectionSecondaryUPG.M.S.HESATU200306013012013158.1258.121212 SectionSecondaryUPG.M.S.KHAPIA200309030012013158.1258.121222 SectionSecondaryUPG.M.S.KHAPIA200706022012013158.1258.121232 SectionSecondaryUPGRADE H.S. BELDAHA201105079012013158.1258.121242 SectionSecondaryUPGRADE H.S. NISCHINTPUR201106355012013158.1258.121252 SectionSecondaryUPGRADE GOVT H.S.201106355012013158.1258.12126 <t< td=""><td></td><td></td><td></td><td></td><td></td><td>2011</td><td>1</td><td></td><td>58.12</td></t<>						2011	1		58.12
113 116SecondaryUPG GOVT HS KARDPANI20210307/092011138.1238.12116SecondaryUPG RAJKIYAKRIT HIGH201301125012013158.1258.12117SecondaryUPG RAJKIYAKRIT HIGH201303147012013158.1258.12118SecondaryUPG RAJKIYAKRIT HIGH201303007022013158.1258.12118SecondaryUPG RAJKIYAKRIT HIGH201303007022013158.1258.12119SecondaryUPG RAJKIYAKRIT HIGH200312045042013158.1258.12120SecondaryUPG.M.S.KOLHAIYA200308021012013158.1258.12121SecondaryUPG.M.S.HESATU200306013012013158.1258.12122SecondaryUPG.M.S.HESATU200309030012013158.1258.12123SecondaryUPG.M.S.KHAPIA200706022012013158.1258.12123SecondaryUPGRADE H.S. BELDAHA201105079012013158.1258.12124SecondaryUPGRADE H.S. NISCHINTPUR201104236012013158.1258.12125SecondaryUPGRADE GOVT H.S.201106355012013158.1258.12126SecondaryUPGRADE GOVT H.S.20110097012013158.1258.12127SecondaryGOVT UPG HS CHOKA200107033042013158				UPG GOVT HS BANMUNDA	20210900803	2011	1	58.12	58.12
116         Secondary         UPG RAJKIYAKRIT HIGH         20130112501         2013         1         58.12         58.12           117         2 Section         Secondary         UPG RAJKIYAKRIT HIGH         20130314701         2013         1         58.12         58.12           118         2 Section         Secondary         UPG RAJKIYAKRIT HIGH         20130300702         2013         1         58.12         58.12           119         2 Section         Secondary         UPG RAJKIYAKRIT HIGH         2003000702         2013         1         58.12         58.12           120         Secondary         UPG.M.S.KOLHAIYA         20031204504         2013         1         58.12         58.12           121         Secondary         UPG.M.S.KOLHAIYA         20030601301         2013         1         58.12         58.12           122         Secondary         UPG.M.S.KHAPIA         20030903001         2013         1         58.12         58.12           123         Secondary         UPG.M.S.KHAPIA         20070602201         2013         1         58.12         58.12           124         Secondary         UPGRADE H.S. BELDAHA         20110507901         2013         1         58.12         58.12     <	115		Secondary	UPG GOVT HS KAHUPANI	20210300709	2011	1	58.12	58.12
117       2-Section       Secondary       UPG RAJKITAKRIT HIGH       20130314701       2013       1       58.12       58.12         118       2-Section       Secondary       UPG RAJKIYAKRIT HIGH       20130300702       2013       1       58.12       58.12         119       2-Section       Secondary       UPG.M.S.KOLHAIYA       20031204504       2013       1       58.12       58.12         120       2-Section       Secondary       UPG.H.S.ICHAK       20030802101       2013       1       58.12       58.12         121       2-Section       Secondary       UPG.M.S.HESATU       20030601301       2013       1       58.12       58.12         122       2-Section       Secondary       UPG.M.S.KHAPIA       20030903001       2013       1       58.12       58.12         123       2-Section       Secondary       UPG.A.S.KUNJBONA       20070602201       2013       1       58.12       58.12         124       2-Section       Secondary       UPGRADE H.S. BELDAHA       20110507901       2013       1       58.12       58.12         125       2-Section       Secondary       UPGRADE H.S. NISCHINTPUR       20110423601       2013       1       58.12       58.12 <td>116</td> <td></td> <td>Secondary</td> <td>UPG RAJKIYAKRIT HIGH</td> <td>20130112501</td> <td>2013</td> <td>1</td> <td>58.12</td> <td>58.12</td>	116		Secondary	UPG RAJKIYAKRIT HIGH	20130112501	2013	1	58.12	58.12
118         Secondary         OPG RAJKIYAKRITHIGH         20130300702         2013         1         58.12         56.12           119         2 section         Secondary         UPG.M.S.KOLHAIYA         20031204504         2013         1         58.12         58.12           120         2 section         Secondary         UPG.M.S.KOLHAIYA         20030802101         2013         1         58.12         58.12           120         2 section         Secondary         UPG.M.S.ICHAK         20030802101         2013         1         58.12         58.12           121         2 section         Secondary         UPG.M.S.HESATU         20030903001         2013         1         58.12         58.12           122         2 section         Secondary         UPG.M.S.KHAPIA         20030903001         2013         1         58.12         58.12           123         2 section         Secondary         UPG.A.S.KUNJBONA         20070602201         2013         1         58.12         58.12           124         2 section         Secondary         UPGRADE H.S. BELDAHA         20110507901         2013         1         58.12         58.12           125         2 section         Secondary         UPGRADE GOVT H.S.	117		Secondary	UPG RAJKIYAKRIT HIGH	20130314701	2013	1	58.12	58.12
119         Secondary         UPG.M.S.KOLHAIYA         20031204504         2013         1         58.12         58.12           120         2-Section         Secondary         UPG.H.S.ICHAK         20030802101         2013         1         58.12         58.12           121         2-Section         Secondary         UPG.M.S.HESATU         20030601301         2013         1         58.12         58.12           122         2-Section         Secondary         UPG.M.S.HESATU         20030903001         2013         1         58.12         58.12           123         2-Section         Secondary         UPG.M.S.KHAPIA         20030903001         2013         1         58.12         58.12           123         2-Section         Secondary         UPG.A.S.KUNJBONA         20070602201         2013         1         58.12         58.12           124         2-Section         Secondary         UPGRADE H.S. BELDAHA         20110507901         2013         1         58.12         58.12           125         Secondary         UPGRADE H.S. NISCHINTPUR         20110423601         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013			Secondary	UPG RAJKIYAKRIT HIGH	20130300702	2013	1	58.12	58.12
120       Secondary       UPG.H.S.ICHAR       20030802101       2013       1       58.12       58.12         121       Secondary       UPG.M.S.HESATU       20030601301       2013       1       58.12       58.12         122       Secondary       UPG.M.S.HESATU       20030903001       2013       1       58.12       58.12         122       Secondary       UPG.M.S.KHAPIA       20030903001       2013       1       58.12       58.12         123       Secondary       UPG.M.S.KHAPIA       20070602201       2013       1       58.12       58.12         124       Secondary       UPGRADE H.S. BELDAHA       20110507901       2013       1       58.12       58.12         125       Secondary       UPGRADE H.S. NISCHINTPUR       20110423601       2013       1       58.12       58.12         126       Secondary       UPGRADE GOVT H.S.       20110635501       2013       1       58.12       58.12         127       Secondary       GOVT UPG HS CHOKA       200101009701       2013       1       58.12       58.12         128       Secondary       GOVT UPG HS PIPARDIH       20010703304       2013       1       58.12       58.12         <	119		Secondary	UPG.M.S.KOLHAIYA	20031204504	2013	1	58.12	58.12
121       Secondary       UPG.M.S.HESATU       20030601301       2013       1       58.12       58.12         122       Secondary       UPG.M.S.KHAPIA       20030903001       2013       1       58.12       58.12         123       Secondary       UPG. H.S KUNJBONA       20070602201       2013       1       58.12       58.12         124       Secondary       UPG. H.S KUNJBONA       20070602201       2013       1       58.12       58.12         124       Secondary       UPGRADE H.S. BELDAHA       20110507901       2013       1       58.12       58.12         125       Secondary       UPGRADE H.S. NISCHINTPUR       20110423601       2013       1       58.12       58.12         126       Secondary       UPGRADE GOVT H.S.       20110635501       2013       1       58.12       58.12         126       Secondary       GOVT UPG HS CHOKA       20011009701       2013       1       58.12       58.12         127       Secondary       GOVT UPG HS PIPARDIH       20010703304       2013       1       58.12       58.12         128       Secondary       GOVT UPG HS PIPARDIH       20010703304       2013       1       58.12       58.12	120		Secondary	UPG.H.S.ICHAK	20030802101	2013	1	58.12	58.12
122       Secondary       UPG.M.S.RHAPIA       20030903001       2013       1       58.12       58.12         123       Secondary       UPG. H.S KUNJBONA       20070602201       2013       1       58.12       58.12         124       Secondary       UPGRADE H.S. BELDAHA       20110507901       2013       1       58.12       58.12         125       Secondary       UPGRADE H.S. BELDAHA       20110423601       2013       1       58.12       58.12         126       Secondary       UPGRADE GOVT H.S.       20110635501       2013       1       58.12       58.12         126       Secondary       UPGRADE GOVT H.S.       20110635501       2013       1       58.12       58.12         127       Secondary       GOVT UPG HS CHOKA       20011009701       2013       1       58.12       58.12         128       Secondary       GOVT UPG HS PIPARDIH       20010703304       2013       1       58.12       58.12         129       Secondary       GOVT UPG HS PATSAR       20010102801       2013       1       58.12       58.12	121		Secondary	UPG.M.S.HESATU	20030601301	2013	1	58.12	58.12
123         Secondary         OPG. H.S KONJBONA         20070602201         2013         1         58.12         58.12           124         Secondary         UPGRADE H.S. BELDAHA         20110507901         2013         1         58.12         58.12           125         Secondary         UPGRADE H.S. BELDAHA         20110423601         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           127         Secondary         GOVT UPG HS CHOKA         20011009701         2013         1         58.12         58.12           128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PATSAR         20010102801         2013         1         58.12         58.12	122		Secondary	UPG.M.S.KHAPIA	20030903001	2013	1	58.12	58.12
124         Secondary         UPGRADE H.S. BELDAHA         20110507901         2013         1         58.12         58.12           125         Secondary         UPGRADE H.S. NISCHINTPUR         20110423601         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           127         Secondary         GOVT UPG HS CHOKA         20011009701         2013         1         58.12         58.12           128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PATSAR         20010102801         2013         1         58.12         58.12	123		Secondary	UPG. H.S KUNJBONA	20070602201	2013	1	58.12	58.12
125         Secondary         UPGRADE H.S. NISCHINTPOR 20110423801         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           127         Secondary         GOVT UPG HS CHOKA         20011009701         2013         1         58.12         58.12           128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PATSAR         20010102801         2013         1         58.12         58.12	124		Secondary	UPGRADE H.S. BELDAHA	20110507901	2013	1	58.12	58.12
126         Secondary         UPGRADE GOVT H.S.         20110635501         2013         1         58.12         58.12           127         Secondary         GOVT UPG HS CHOKA         20011009701         2013         1         58.12         58.12           128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PIPARDIH         20010102801         2013         1         58.12         58.12	125		Secondary	UPGRADE H.S. NISCHINTPUR	20110423601	2013	1	58.12	58.12
127         Secondary         GOVT UPG HS CHOKA         20011009701         2013         1         58.12         58.12           128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PIPARDIH         20010102801         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PATSAR         20010102801         2013         1         58.12         58.12	126		Secondary	UPGRADE GOVT H.S.	20110635501	2013	1	58.12	58.12
128         Secondary         GOVT UPG HS PIPARDIH         20010703304         2013         1         58.12         58.12           129         Secondary         GOVT UPG HS PATSAR         20010102801         2013         1         58.12         58.12	127		Secondary	GOVT UPG HS CHOKA	20011009701	2013	1	58.12	58.12
129 Secondary GOVT UPG HS PATSAR 20010102801 2013 1 58.12 58.12	128		Secondary	GOVT UPG HS PIPARDIH	20010703304	2013	1	58.12	58.12
130         2 Section         Secondary         GOVT UPG HS MARDA         20010301801         2013         1         58.12         58.12	129	a 1 1	Secondary	GOVT UPG HS PATSAR	20010102801	2013	1	58.12	
	130	2 Section	Secondary	GOVT UPG HS MARDA	20010301801	2013	1	58.12	58.12

101	2 Section	Casadami		00004040704	0040		60.10	50.40
131	2 steelon	Secondary	UPG GOVT HS AMARPUR	20081010701	2013	1	58.12	58.12
132	2 Section	Secondary	UPG GOVT HS PIPRA	20080204701	2013	1	58.12	58.12
133	2 Section	Secondary	RAJKIYAKRIT UPGRADED	20160703701	2013	1	58.12	58.12
134	2 Section	Secondary	RAJYAKRIT UPGRADED HIGH	20160212401	2013	1	58.12	58.12
135	2 Section	Secondary	RAJYAKRIT UPGRADED	20160907801	2013	1	58.12	58.12
136	2 Section	Secondary	RAJYAKRIT UPGRADED HIGH	20161204302	2013	1	58.12	58.12
137	2 Section	Secondary	UPG HIGH SCHOOL	20040908301	2013	1	58.12	58.12
138	2 Section	Secondary	UPG. HIGH SCHOOL	20040518501	2013	1	58.12	58.12
139		Secondary	RAJIKIYAKRUT UPGRADE	20191124501	2013	1	58.12	58.12
140	<del>2 Section</del>	Secondary	RAJIKIYAKRUT UPGRADE	20191111201	2013	1	58.12	58.12
141		Secondary	RAJKIYKRIT UPGRADE HIGH	20191332901	2013	1	58.12	58.12
142	<del>2 Section</del>	Secondary	RAJKIYKRIT UPGRADE HIGH	20191319201	2013	1	58.12	58.12
143	2 Section	Secondary	GOVT MS ICHA	20230303301	2013	1	58.12	58.12
144	<del>Sabaal</del>	Secondary	UPG GOVT. MS CUM HS	20230502701	2013	1	58.12	58.12
145	<del>2 Section</del>	Secondary	UPG GOVT HS PACHANE	20050411701	2013	1	58.12	58.12
146	2 Section	Secondary	UPG HS SEMARSOT	20220707301	2013	1	58.12	58.12
147	<del>Section</del>	Secondary	UPG GOVT HS NAGJUWA	20150602001	2013	1	58.12	58.12
148	<del>2 Section</del>	Secondary	UPG RAJKIYEKRIT HIGH	20020501701	2013	1	58.12	58.12
149	2 Section	Secondary	UPG HIGH SCHOOL TETRIYA	20020206801	2013	1	58.12	58.12
150	<del>2 Section</del>	Secondary	UPG HIGH (BASIC) SCHOOL	20172406301	2013	1	58.12	58.12
151	<del>2 Section</del>	Secondary	UPGRADED GOVT HS	20180303902	2013	1	58.12	58.12
152	<del>2 Section</del>	Secondary	GOVT UPG HIGH SCHOOL	20140607402	2013	1	58.12	58.12
153	2 Section	Secondary	GOVT UPG HIGH SCHOOL	20141801901	2013	1	58.12	58.12
154	<del>2 Section</del>	Secondary	UPG HIGH SCHOOL	20140801201	2013	1	58.12	58.12
155	2 Section	Secondary	UPG GOVT HS AMJHOR	20090204502	2013	1	58.12	58.12
156	2 Section	Secondary	UPG GOVT HS ROHRA	20090709001	2013	1	58.12	58.12
157	2 Section	Secondary	UPG HS MASNIYA	20090209801	2013	1	58.12	58.12
			<b>1</b>	1	Total	157	9124.8	9124 84

Total 157 9124.8 9124.84

#### **Annexure IV**

SI.		Schools recomme	ended for ICT and	School	Enrolment	
31. No.	District Name	Block Name	UDISE Code	category	School Management	(VI-XII)
1	Deoghar	Sonaraithari	20071006901	3	1	545
2	Dhanbad	Purvi Tundi	20120904002	3	1	765
3	Sahibganj	Udhwa	20090503102	3	1	488
4	Sahibganj	Rajmahal	20090403701	3	1	574
5	Pashchimi Singhbhum	Tonto	20172301002	5	1	632
6	Hazaribag	Bishnugarh	20040411301	3	1	504
7	Hazaribag	Katkamsandi	20041005503	5	1	469
8	Latehar	Herhanj	20220800501	3	1	425
9	Hazaribag	Katkamdag	20042103801	3	1	386
10	Ranchi	Lapung	20140506501	5	1	574
11	Ramgarh	Patratu	20241308311	10	1	2153
12	Garhwa	Ramkanda	20010101101	3	1	763
13	Chatra	Mayurhand	20031103201	3	1	316
14	Garhwa	Dandey	20011204201	3	1	1269
15	Dhanbad	Jharia	20120210516	5	1	351
16	Dhanbad	Baliapur	20120500301	3	1	497
17	Bokaro	Gomiya	20131008701	3	1	639
18	Gumla	Basia	20161104606	5	1	761
19	Giridih	Jamua	20060536401	5	1	343
20	Khunti	Torpa	20230308702	6	1	495
21	Simdega	Jaldega	20210706408	5	1	443
22	Pakaur	Pakuria	20100805001	3	1	401
23	Ranchi	Kanke	20140120012	5	1	1573
24	Ranchi	Mandar	20140405202	3	1	505
25	Gumla	Bharno	20161003201	6	1	477
26	Pashchimi Singhbhum	Manjhari	20171405003	10	1	870
27	Kodarma	Domchanch	20050607702	3	1	536
28	Purbi Singhbhum	Jamshedpur	20180306701	3	1	368
29	Hazaribag	Chalkusha	20042201901	3	1	627
30	Hazaribag	Katkamsandi	20041002301	3	1	529
31	Latehar	Barwadih	20220500501	3	1	363
32	Gumla	Palkot	20161305907	5	1	620
33	Godda	Boarijore	20080410902	5	1	327
34	Pashchimi Singhbhum	Majhgaon	20171308401	5	1	372
35	Purbi Singhbhum	Potka	20180229101	3	1	391
36	Dhanbad	Govindpur	20120806301	3	1	363
37	Palamu	Bishrampur	20020909020	5	1	393
38	Hazaribag	Churchu	20040602104	5	1	293

List of 61 Schools recommended for ICT and Digital Initiatives (2018-19)



Sl. No.	District Name	Block Name	UDISE Code	School category	School Management	Enrolment (VI-XII)
39	Saraikela- Kharsawan	Chandil	20200305801	3	1	326
40	Hazaribag	Chalkusha	20042200401	3	1	314
41	Lohardaga	Kisko	20150208111	5	1	338
42	Sahibganj	Mandro	20090206001	5	1	277
43	Pashchimi Singhbhum	Manoharpur	20171509617	5	1	372
44	Palamu	Tarhasi	20021805809	5	1	399
45	Hazaribag	Ichak	20040900701	3	1	314
46	Dumka	Jarmundi	20110545401	3	1	515
47	Hazaribag	Chouparan	20040533101	3	1	567
48	Hazaribag	Tatijhariya	20042401201	3	1	510
49	Ramgarh	Gola	20240706102	6	1	690
50	Simdega	Simdega	20210417209	5	1	369
51	Pashchimi Singhbhum	Tonto	20172301005	5	1	391
52	Latehar	Garu	20220404601	3	1	389
53	Latehar	Barwadih	20220502203	5	1	350
54	Giridih	Gawan	20061214501	5	1	305
55	Giridih	Deori	20060229601	5	1	349
56	Hazaribag	Barkatha	20040207101	3	1	574
57	Sahibganj	Udhwa	20090503805	5	1	259
58	Simdega	Kolebira	20210203606	5	1	574
59	Gumla	Palkot	20161305911	5	1	351
60	Godda	Sunderpahari	20080302304	5	1	382
61	Bokaro	Petarwar	20131100601	3	1	438

#### Annexure V

List of KGBVs	(Type III	-Class VI	to Class XI	) in	Jharkhand State
	(-)				Juna mana baro

Sl. No.	State	District	Block	Туре
1	Jharkhand	Bokaro	Bermo	III
2	Jharkhand	Bokaro	Chandankiyari	III
3	Jharkhand	Bokaro	Chas	III
4	Jharkhand	Bokaro	Gómiya	III
5	Jharkhand	Bokaro	Jaridíh	III
6	Jharkhand	Bokaro	Kasmar	III
7	Jharkhand	Bokaro	Nawadih	III
8	Jharkhand	Bokaro	Peterwar	III
9	Jharkhand	Chatra	Chatra (r )	III
10	Jharkhand	Chatra	Gidhor(r)	III
11	Jharkhand	Chatra	Hunterganj ( r )	
12	Jharkhand	Chatra	Itkhori ( r )	III
13	Jharkhand	Chatra	Kunda (r)	III
14	Jharkhand	Chatra	Lawalong(r)	III
15	Jharkhand	Chatra	Pathalgadda( r )	III
16	Jharkhand	Chatra	Pratappur (r)	III
17	Jharkhand	Chatra	Simaria (r )	III
18	Jharkhand	Chatra	Tandwa(r)	111
19	Jharkhand	Deoghar	Deoghar (u)	III
20	Jharkhand	Deoghar	Devipur (r)	III
21	Jharkhand	Deoghar	Karown (r)	III
22	Jharkhand	Deoghar	Madhupur (u)	III
23	Jharkhand	Deoghar	Mohanpur (r)	III
24	Jharkhand	Deoghar	Palojori (r)	
25	Jharkhand	Deoghar	Sarath (r)	
26	Jharkhand	Deoghar	Sarwan (r)	III
27	Jharkhand	Dhanbad	Baliapur	111
28	Jharkhand	Dhanbad	Govindpur	
29	Jharkhand	Dhanbad	Jharia	
30	Jharkhand	Dhanbad	Nirsa	III
31	Jharkhand	Dhanbad	Topchanchi	
32	Jharkhand	Dhanbad	Tundi	
33	Jharkhand	Dumka	Dumka	
34	Jharkhand	Dumka	Gopikandar	
35	Jharkhand	Dumka	Jama	
36	Jharkhand	Dumka	Jarmundi	III
37	Jharkhand	Dumka	Kathikund	III
38	Jharkhand	Dumka	Masaliya	
39	Jharkhand	Dumka	Ramgarh	III

Sl. No.	State	District	Block	Туре
40	Jharkhand	Dumka •	Raneshwer	III
41	Jharkhand	Dumka	Saraihahat	III
42	Jharkhand	Dumka	Shikaripara	III
43	Jharkhand	Garhwa	Bhandaria	III
44	Jharkhand	Garhwa	Bhawanathpur	III
45	Jharkhand	Garhwa	Chiniya	III
46	Jharkhand	Garhwa	Dandai	III
47	Jharkhand	Garhwa	Dhurki	III
48	Jharkhand	Garhwa	Garhwa	III
49	Jharkhand	Garhwa	Kandi	III
50	Jharkhand	Garhwa	Kharoundhi	III
51	Jharkhand	Garhwa	Manjhiaon	III
52	Jharkhand	Garhwa	Meral	III
53	Jharkhand	Garhwa	Nagar untari	III
54	Jharkhand	Garhwa	Ramkanda	III
55	Jharkhand	Garhwa	Ramna	III
56	Jharkhand	Garhwa	Ranka	III
57	Jharkhand	Giridih	Bagodar	III
58	Jharkhand	Giridih	Bengabad	III
59	Jharkhand	Giridih	Birni	III
60	Jharkhand	Giridih	Deori	III
61	Jharkhand	Giridih	Dhanwar	III
62	Jharkhand	Giridih	Dumri	III
63	Jharkhand	Giridih	Gandey	III
64	Jharkhand	Giridih	Gawan	III
65	Jharkhand	Giridih	Giridih	III
66	Jharkhand	Giridih	Jamua	III
67	Jharkhand	Giridih	Pirtand	III
68	Jharkhand	Giridih	Tisri	III
69	Jharkhand	Godda	Boarijore	III
70	Jharkhand	Godda	Godda	III
71	Jharkhand	Godda	Mahagama	III
72	Jharkhand	Godda	Meharma	III
73	Jharkhand	Godda	Pathargama	III
74	Jharkhand	Godda	Poraiyahat	III
75	Jharkhand	Godda	Sunderpahari	III
. 76	Jharkhand	Godda	Thakurgangti	III
77	Jharkhand	Gumla	Basia ( r )	III
78	Jharkhand	Gumla	Bharno (r)	III
79	Jharkhand	Gumla	Bishunpur ( r )	III
80	Jharkhand	Gumla	Dumri ( r )	III

Sl. No.	State	District	Block	Туре
81	Jharkhand	Gumla	Ghaghra ( u )	III
82	Jharkhand	Gumla	Gumla (u)	III
83	Jharkhand	Gumla	Kamdara ( r )	III
84	Jharkhand	Gumla	Palkot ( r )	III
85	Jharkhand	Gumla	Raidih (r)	III
86	Jharkhand	Gumla	Sisai ( r )	III
87	Jharkhand	Hazaribagh	Barhi	III
88	Jharkhand	Hazaribagh	Barkagaon	III
89	Jharkhand	Hazaribagh	Barkatha	III
90	Jharkhand	Hazaribagh	Bishnugarh	III
91	Jharkhand	Hazaribagh	Chouparan	III
92	Jharkhand	Hazaribagh	Churchu	III
93	Jharkhand	Hazaribagh	Ichak	III
94	Jharkhand	Hazaribagh	Katkamsandi	III
95	Jharkhand	Hazaribagh	Keredari	III
96	Jharkhand	Hazaribagh	Padma	III
97	Jharkhand	Jamtara	Jamtara	III
98	Jharkhand	Jamtara	Kundahit	III
99	Jharkhand	Jamtara	Nala	III
100	Jharkhand	Jamtara	Narayapur	III
101	Jharkhand	Khunti	Arki	III
102	Jharkhand	Khunti	Karra	III
103	Jharkhand	Khunti	Khunti	III
104	Jharkhand	Khunti	Murhu	III
105	Jharkhand	Khunti	Rania	III
106	Jharkhand	Koderma	Jainagar	III
107	Jharkhand	Koderma	Koderma	III
108	Jharkhand	Koderma	Markacho	III
109	Jharkhand	Koderma	Satgawan	III
110	Jharkhand	Latehar	Balumath	III
111	Jharkhand	Latehar	Barwadih	III
112	Jharkhand	Latehar	Chandwa	III
113	Jharkhand	Latehar	Garu	III
114	Jharkhand	Latehar	Latehar	III
115	Jharkhand	Latehar	Manika	III
116	Jharkhand	Lohardaga	Bhandra (r)	III
117	Jharkhand	Lohardaga	Kisko (r)	III
118	Jharkhand	Lohardaga	Kuru (r)	III
119	Jharkhand	Lohardaga	Lohardaga (u)	III
120	Jharkhand	Lohardaga	Senha (r)	III
121	Jharkhand	Pakur	Amrapara	III

Sl. No.	State	District	Block	Туре
122	Jharkhand	Pakur	Hiranpur	III
123	Jharkhand	Pakur	Littipara	III
124	Jharkhand	Pakur	Maheshpur	III
125	Jharkhand	Pakur	Pakur	III
126	Jharkhand	Pakur	Pakuria	III
127	Jharkhand	Palamu	Bishrampur	III
128	Jharkhand	Palamu	Chainpur	III
129	Jharkhand	Palamu	Chhatarpur	III
130	Jharkhand	Palamu	Daltonganj	III
131	Jharkhand	Palamu	Hariharganj	III
132	Jharkhand	Palamu	Hussainabad	III
133	Jharkhand	Palamu	Lesliganj	III
134	Jharkhand	Palamu	Manatu	III
135	Jharkhand	Palamu	Pandu	III
136	Jharkhand	Palamu	Panki	III
137	Jharkhand	Palamu	Patan	III
138	Jharkhand	Palamu	Satbarwa	III
139	Jharkhand	Pashchimi Singhbhum	Bandgaon	III
140	Jharkhand	Pashchimi Singhbhum	Chakradharpur	III
141	Jharkhand	Pashchimi Singhbhum	Goelkera	III
142	Jharkhand	Pashchimi Singhbhum	Jagannathpur	III
143	Jharkhand	Pashchimi Singhbhum	Jhinkpani	III
144	Jharkhand	Pashchimi Singhbhum	Khuntpani	III
145	Jharkhand	Pashchimi Singhbhum	Kumardungi	III
146	Jharkhand	Pashchimi Singhbhum	Majhgaon	III
147	Jharkhand	Pashchimi Singhbhum	Manjhari	III
148	Jharkhand	Pashchimi Singhbhum	Manoharpur	III
149	Jharkhand	Pashchimi Singhbhum	Noamundi	III
150	Jharkhand	Pashchimi Singhbhum	Sadar chaibasa	III
151	Jharkhand	Pashchimi Singhbhum	Sonua	III
152	Jharkhand	Pashchimi Singhbhum	Tantnagar	III
153	Jharkhand	Pashchimi Singhbhum	Tonto	III
154	Jharkhand	Purbi Singhbhum	Baharagora	III
155	Jharkhand	Purbi Singhbhum	Chakulia	III
156	Jharkhand	Purbi Singhbhum	Dhalbhumgarh	III
157	Jharkhand	Purbi Singhbhum	Dumaria	III
158	Jharkhand	Purbi Singhbhum	Ghatshila	III
159	Jharkhand	Purbi Singhbhum	Jamshedpur	III
160	Jharkhand	Purbi Singhbhum	Musabani	III
161	Jharkhand	Purbi Singhbhum	Patamda	III
162	Jharkhand	Purbi Singhbhum	Potka	III

SI. No.	State	District	Block	Туре
163	Jharkhand	Ramgarh	Gola	III
164	Jharkhand	Ramgarh	Mandu	III
165	Jharkhand	Ramgarh	Patratu	III
166	Jharkhand	Ramgarh	Ramgarh	III
167	Jharkhand	Ranchi	Angara	III
168	Jharkhand	Ranchi	Bero	III
169	Jharkhand	Ranchi	Bundu	III
170	Jharkhand	Ranchi	Burmu	III
171	Jharkhand	Ranchi	Chanho	III
172	Jharkhand	Ranchi	Kanke	III
173	Jharkhand	Ranchi	Lapung	III
174	Jharkhand	Ranchi	Mandar	III
175	Jharkhand	Ranchi	Namkum	III
176	Jharkhand	Ranchi	Ormanjhi	III
177	Jharkhand	Ranchi	Silli	III
178	Jharkhand	Ranchi	Sonahatu	III
179	Jharkhand	Ranchi	Tamar	III
180	Jharkhand	Sahibganj	Barharwa	III
181	Jharkhand	Sahibganj	Berhait	III
182	Jharkhand	Sahibganj	Borio	III
183	Jharkhand	Sahibganj	Mandro	III
184	Jharkhand	Sahibganj	Pathna	III
185	Jharkhand	Sahibganj	Rajmahal	III
186	Jharkhand	Sahibganj	Sahibganj	III
187	Jharkhand	Sahibganj	Taljhari	III
188	Jharkhand	Sahibganj	Udwha	III
189	Jharkhand	Saraikela-Kharsawan	Chandil	III
190	Jharkhand	Saraikela-Kharsawan	Gamharia	III
191	Jharkhand	Saraikela-Kharsawan	Ichagarh	III
192	Jharkhand	Saraikela-Kharsawan	Kharsawan	III
193	Jharkhand	Saraikela-Kharsawan	Kuchai	III
194	Jharkhand	Saraikela-Kharsawan	Nimdih	III
195	Jharkhand	Saraikela-Kharsawan	Rajnagar	III
196	Jharkhand	Saraikela-Kharsawan	Seraikella	III
197	Jharkhand	Simdega	Bano	III
198	Jharkhand	Simdega	Bolba	III
199	Jharkhand	Simdega	Jaldega	III
200	Jharkhand	Simdega	Kolebira	III
201	Jharkhand	Simdega	Kurdeg	III
202	Jharkhand	Simdega	Simdega	III
203	Jharkhand	Simdega	Thethaitangar	III



#### **Annexure VI**

# Introduction of Vocational Education (VE) in 45 schools (New) approved in 2018-19

<u></u>	miloudello	II OI VOCALIOIIAI EUUCA		III 45 SCHOOIS	(new) approv		**
SI. No.	UDISE	School Name	District	Sector 1	Job Role 1	Sector 2	Job Role 2
1	20110520503	GOVT +2 H.S.HARIPUR	Dumka	IT - ITES	Domestic Data Entry Operator	Multi Skilling	Multi Skill Assistant Technician
2	20110735401	GOVT +2 RANI SONAWATI H.S. NONIHAT	Dumka	Multi Skilling	Multi Skill Assistant Technician	Automotive	Automotive Service Technician
3	20110106501	UPGRADE +2 GOVT H.S. CHAPAKANDAR	Dumka	Multi Skilling	Multi Skill Assistant Technician	IT - ITeS	Domestic Data Entry Operator
4	20110109701	UPGRADE +2 GOVT RA BU H.S. GANDO	Dumka	Retail	Store Operations Assistant	Retail	Store Operations Assistant
5	20010900307	GOVT UPG+2 HS RAJI	Garhwa	IT - ITES	Domestic Data Entry Operator	Multi Skilling	Multi Skill Assistant Technician
6	20011600504	GOVT UPG +2 HS PIPIRI KALA	Garhwa	IT - ITES	Domestic Data Entry Operator	Multi Skilling	Multi Skill Assistant Technician
7	20060234501	S.S. HIGH SCHOOL SHANKHO	Giridih	Retail	Store Operations Assistant	Tourism & Hospitality	Food and Beverage Service Trainee
8	20061440404	GOVT HIGH SCHOOL ATKA	Giridih	Retail	Store Operations Assistant	Tourism & Hospitality	Food and Beverage Service Trainee
9	20060714701	BIRENDRA AYAN HS DORANDA	Giridih	Electronics & Hardware	Field Technician- Other Home Appliances	Retail	Store Operations Assistant
10	20081103703	GOVT HS BASANTRAI	Godda	IT - ITES	Domestic Data Entry Operator	Automotive	Automotive Service Technician
11	20081009702	GOVT HS RAMLA	Godda	IT - ITES	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances
12	20081106703	GOVT HS MAHESHPUR	Godda	Agriculture	Solanaceous Crop Cultivator	Electronics & Hardware	Field Technician- Other Home Appliances
13	20040100206	PROJECT H.S. GAORIYAKARMA	Hazaribag	Agriculture	Solanaceous Crop Cultivator	Multi Skilling	Multi Skill Assistant Technician
14	20040911101	UPG.HIGH SCHOOL DEOKULI	Hazaribag	Electronics & Hardware	Field Technician- Other Home Appliances	IT - ITeS	Domestic Data Entry Operator
15	20042405102	UPG.HIGH SCHOOL JHARPO	Hazaribag	IT - ITES	Domestic Data Entry Operator	Multi Skilling	Multi Skill Assistant Technician
16	20040110401	UPG. HIGH SCHOOL	Hazaribag	IT - ITES	Domestic Data	Multi	Multi Skill



Sl. No.	UDISE	School Name	District	Sector 1	Job Role 1	Sector 2	Job Role 2
		BIJAIYA			Entry Operator	Skilling	Assistant Technician
17	20230410401	UPG GOVT MS-CUM-HS LODHMA	Khunti	IT - ITES	Domestic Data Entry Operator	Multi Skilling	Multi Skill Assistant Technician
18	20220200703	PROJECT HS SASANG	Latehar	Retail	Store Operations Assistant	Automotive	Automotive Service Technician
19	20220713201	UPG GOVT HS SEREGARA	Latehar	IT - ITeS	Domestic Data Entry Operator	Tourism & Hospitality	Food and Beverage Service Trainee
20	20220116524	RAJYAKRIT GIRLS HS LATEHAR	Latehar	IT - ITES	Domestic Data Entry Operator	Automotive	Automotive Service Technician
21	20101005401	UPG HIGH SCHOOL ILAMI	Pakaur	IT - ITES	Domestic Data Entry Operator	Automotive	Automotive Service Technician
22	20101005301	UPG HIGH SCHOOL ANJANA	Pakaur	IT - ITeS	Domestic Data Entry Operator	Tourism & Hospitality	Food and Beverage Service Trainee
23	20021902001	UPG RAJKIYEKRIT +2 HIGH SCHOOL KANDA	Palamu	Multi Skilling	Multi Skill Assistant Technician	Retail	Store Operations Assistant
24	20021206402	RAJKIYEKRIT HIRANAND LAXMI +2 HIGH SCHOOL KISHUNPUR	Palamu	Multi Skilling	Multi Skill Assistant Technician	Retail	Store Operations Assistant
25	20170500802	UPG HIGH SCHOOL DALKI +2	Pashchimi Singhbhu m	IT - ITES	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances
26	20172400105	HIGH SCHOOL RAJANANDPUR +2	Pashchimi Singhbhu m	Agriculture	Solanaceous Crop Cultivator	Apparel & Madeups	Sewing Machine Operator
27	20170500302	HIGH SCHOOL JHILRUNWAN PROJECT +2	Pashchimi Singhbhu m	IT - ITES	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances
28	20180724905	UPGRADED GOVT +2 SCHOOL KHANDA MAUDA	Purbi Singhbhu m	IT - ITES	Domestic Data Entry Operator	Apparel & Madeups	Sewing Machine Operator
29	20180208307	UPGRADED GOVT +2 SCHOOL PROJECT BALIKA	Purbi Singhbhu m	Electronics & Hardware	Field Technician- Other Home Appliances	Electronics & Hardware	Field Technician- Other Home Appliances
30	20181002903	UPGRADED GOVT +2 SCHOOL DIGHI BHULA	Purbi Singhbhu m	IT - ITES	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances
31	20180229101	UPGRADED GOVT +2 SCHOOL CHAKRI, P2 (OU)	Purbi Singhbhu m	IT - ITES	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances

Sl. No.	UDISE	School Name	District	Sector 1	Job Role 1	Sector 2	Job Role 2
32	20241307405	BHURKUNDA H.S.,BHURKUNDA	Ramgarh	Electronics & Hardware	Field Technician- Other Home Appliances	Automotive	Automotive Service Technician
33	20241208710	PUBLIC HIGH SCHOOL KUJU	Ramgarh	Agriculture	Solanaceous Crop Cultivator	IT - ITeS	Domestic Data Entry Operator
34	20241408405	SHARMIK HIGH SCHOOL SIRKA	Ramgarh	Agriculture	Solanaceous Crop Cultivator	IT - ITeS	Domestic Data Entry Operator
35	20240708302	HIGH SCHOOL DIMRA	Ramgarh	Electronics & Hardware	Field Technician- Other Home Appliances	IT - ITeS	Domestic Data Entry Operator
36	20241307315	S N HIGH SCHOOL BARKAKANA	Ramgarh	Agriculture	Solanaceous Crop Cultivator	IT - ITeS	Domestic Data Entry Operator
37	20241203608	SHARMIK HIGH SCHOOL TOPA PINDRA	Ramgarh	Electronics & Hardware	Field Technician- Other Home Appliances	IT - ITeS	Domestic Data Entry Operator
38	20142303510	GOVT HIGH SCHOOL SHANKARI	Ranchi	Retail	Store Operations Assistant	Tourism & Hospitality	Food and Beverage Service Trainee
39	20140300803	PROJECT HIGH SCHOOL DUGDUGIYA MAIDAN BEYASI	Ranchi	IT - ITES	Domestic Data Entry Operator	Automotive	Automotive Service Technician
40	20142203711	GOVT HIGH SCHOOL PISKA NAGRI	Ranchi	Retail	Store Operations Assistant	Tourism & Hospitality	Food and Beverage Service Trainee
41	20140603011	BHAWANI SHANKAR HIGH SCHOOL THAKURGAON	Ranchi	Retail	Store Operations Assistant	Tourism & Hospitality	Food and Beverage Service Trainee
42	20142500208	HIGH SCHOOL RAHE SONAHATU	Ranchi	Retail	Store Operations Assistant	IT - ITES	Domestic Data Entry Operator
43	20090503806	UPG +2 HIGH SCHOOL RADHANAGAR	Sahibganj	Agriculture	Solanaceous Crop Cultivator	Automotive	Automotive Service Technician
44	20090306803	UPG +2 HARI SHANKAR SINGH HIGH SCHOOL SHARMAPUR	Sahibganj	IT - ITeS	Domestic Data Entry Operator	Electronics & Hardware	Field Technician- Other Home Appliances
45	20090107807	UPG +2 HIGH SCHOOL KODARJANNA	Sahibganj	IT - ITES	Domestic Data Entry Operator	Automotive	Automotive Service Technician

98-57

	over status ofor 2018		÷.			Rs. in Lakh
Major Component	State : ]harkha	nd an I	d Year	2018-2019 Activity Master	Spill Physical	
Elementary Education						
Access & Retention	Opening of New / Upgraded Schools			Opening of New Schools - Non Recurring (Elementary)		
		1	1.a	Composite School for Elementary	71	146.03
			1.b	Upgradation of PS to UPS (VI - VIII)	181	59.915
				Total of Opening of New Schools - Non		205.94
		<u> </u>		Total of Opening of New / Upgraded Schools		205,94
	Strengthening of Existing Schools			Strengthening of Schools (up to Highest Class		
	Existing Schools			Additional Classrooms (Upto Class VIII)	2538	2202.76
				Building Less Schools / Dilapited Building	79	730.03
		23		Boys Toilets	0	57.81
			23.k	Major Repair (Upto Class VIII)	28	30.75
				Total of Strengthening of Schools (up to Highest		3021.35
				Total of Sprengthening of Existing Schools	· 】 一个 。	3021,35
Gender & Equity	Kasturba Gandhi Baliha Vidualara	123		KGBV - Type - III (NR) (Classes VI -XII)		
	Balika Vidyalaya (KGBVs)			Boring/ Handpump	0	1
	(NUDV3)		123.d	Bedding	0	37.87
			123.e	Replacement of bedding (once in 3 years)	0	86.92
				Total of KGBV -Type - III (NR) (Classes VI - XII)		125.79
				Total of Kasturba Gandhi Balika Vidyalaya		125.79
				Total of Elegientiny Education		3353.000
econdary Education						
Access & Retention	Opening of New / Upgraded Schools*			Opening of New / Upgraded Schools - Non Recurring (Secondary)		
		3	3.c	2 Section School (Class IX - X)*	45	26115.52
	1	1			TJ	20115.52

Resource Room       Equipment for Resource Room         Vocational Education       Tools, Equipment & Furniture         Gender & Equity       Kasturba Gandhi Dalilas Videralay         125       KGBV - Type - IV (NR) (Classes IX - XII)	449 449 259	1526.78 2873.60 181.3 181.3 340.97
IEDSS       Equipment for Resource Room       89.b       Hardware & Software Support - BOO Model         Vocational Education       Tools, Equipment & Furniture       Equipment & Furniture       Introduction of VE in schools         Gender & Equity       Kasturba Gandhi Daliba Widanlama       125       KGBV - Type - IV (NR) (Classes IX - XII)	449	2873.60 181.3
IEDSS       Equipment for Resource Room       Non-Recurring         Vocational Education       Tools, Equipment & Furniture       Equipment for Resource Room         Gender & Equity       Kasturba Gandhi Delite Viduelance       125		181.3
Resource Room       Equipment for Resource Room         Vocational Education       Tools, Equipment & Furniture         Gender & Equity       Kasturba Gandhi Deliles Viduelane         125       KGBV - Type - IV (NR) (Classes IX - XII)		181.3
Resource Room       Equipment for Resource Room         Vocational Education       Tools, Equipment & Furniture         Gender & Equity       Kasturba Gandhi Dalila Vidwalawa	259	
Furniture     Tools, Equipment & Furniture       Gender & Equity     Kasturba Gandhi     125       KGBV - Type - IV (NR) (Classes IX - XII)		240.07
Furniture     Tools, Equipment & Furniture       Gender & Equity     Kasturba Gandhi     125       KGBV - Type - IV (NR) (Classes IX - XII)		240.07
Gender & Equity     Kasturba Gandhi     125     KGBV - Type - IV (NR) (Classes IX - XII)		240.07
	<u></u>	380.97
(KGBVs)	86	7752.85
	(1) 图 例 22 1	7,552.8
Total of Secondary Education		38791.0
Teacher Education		
Teacher Education         Strengthening of         100         Strengthening of Physical Infrastructure		
physical       100.a       Civil works, hostel facilities, etc of the existing TEIs         infrastructure&       000000000000000000000000000000000000	0	159.01
Establishment of		

\*The proposal of the State to surrender 157 Secondary Schools sanctioned in years 2009-10, 2010-11 and 2012-13 was agreed. Detailed list is at Annexure II.

# Annexure - TE

Annexure-VI	II: Jharkhand det	ailed	lcost	sheet for Samagra Shiks	ha 2018-	19					Re Indate
1	Particulars					Proposal		Estim	ated Appro	ved Outlay	Remarks
Major Component	Sub Component			Activity Master	Physical	Unit Cost	Financial	Physical	Unit Cost	Financial	NÇilial N
Access & Retention	Residential School / Hostels			Residential Schools - NR (New) (Capacity 100)							
			11.a	Furniture / Equipment (including kitchen equipment)	200	0.05	10	200	0.03	6	Recommended for 2 new Residential schools.
		11	<b>11.</b> b	TLM and equipment including library books (New)	200	0.01	2	200	0.01	2	Recommended for 2 new Residential schools.
			11.c	Bedding (New)	200	0.03	6	200	0.0075	1.5	Recommended for 2 new Residential schools.
			11.g	Electricity / water charges	2	0.6	1.2	2	0.6	1.2	Recommended for 2 new Residential schools.
				Non – Recurring Cost for 35 LWE Districts	1	0.00001	0.00001	5	210	1050	Recommended for 5 uncovered districts among 35 LWE most affected districts
				rf Residential Schools - NR (Capacity 199)			19.2			1060.7	
				ential Schools - Recurring city 100)							
			12.a	Maintenance per child per month	2000	0.15	300	2000	0.15	300	Recommended
			<b>12.</b> b	Stipend per child per month	2000	0.012	24	2000	0.012	24	Recommended
			<b>12</b> .c	Supplementary TLM, Stationery and other educational material	2000	0.0075	15	2000	0.0075	15	Recommended
			<b>12.</b> f	4 - 5 Fulltime teachers as per RTE Norms	80	2.4	192	80	2.4	192	Recommended
			<b>12</b> .i	1 Full time Accountant	20	1.2	24	20	1.2	24	Recommended
		12		2 Support staff - (Accountant/Assistant, Peon, Chowkidar)	40	0.6	24	40	0.6	24	Recommended
				1 Head Cook	20	0.72	14.4	20	0.72	14.4	Recommended
			12.l	2 Assistant Cook	40	0.54	21.6	40	0.54	21.6	Recommended
		1	<b>12.</b> m	Specific Skill training	2000	0.008	16	2000	0.008	16	Recommended

ал **У ф** 

1				<b></b>	i		T	·	<b>.</b>	
		<b>12.</b> n	Electricity / water charges	2000	0.004	8	2000	0.004	8	Recommended
		<b>12</b> .o	Medical care/contingencies	2000	0.006	12	2000	0.006	12	Recommended
		<b>12.</b> p	Maintenance	2000	0.0075	15	2000	0.0075	15	Recommended
		<b>12.</b> q	Miscellaneous	2000	0.0075	15	2000	0.0075	15	Recommended
		<b>12.</b> u	Capacity Building	2000	0.003	6	20	0.1	2	Recommended
		12.v	Physical / Self Defence Training	2000	0.002	4	20	0.1	2	Recommended
			f Residential Schools - ing (Capacity 100)			691			685	
		Reside	ntial Hostels - NR (New) ity 100)							
	18		Non – Recurring Cost for 35 LWE Districts	1	0.00001	0.00001	16	110	1760	Recommended for 16 uncovered districts among 35 LWE most affected districts
······			f Residential Hostels - NR (Capacity 100)			0			1760	
	Tota	of Resi	dential School / Hostels			710.2			3505.7	
Strengthening of Existing Schools			thening of Schools (up to tt Class VIII)							
	23	<b>23</b> .b	Additional Classrooms (Upto Class VIII)	100	44.09	4409	77	4.504	346.808	The State has proposed 100 Schools having 10 ACR each. Out of which, 77 ACR @ Rs.4.504 lakh per each recommended after justification with MIS unit of TSG based on enrollment etc.
		23.k	Major Repair (Upto Class VIII)	220	2.49055	547.921	190	2.49	473.1	190 major repair recommended as per estimates, photos and other documents submitted by the state
			of Strengthening of Schools Highest Class VIII)			4956.92			819.91	
			thening of Existing Schools							
		$(\mathbf{I}\mathbf{X} - \mathbf{X})$								······································
	24		Additional Classroom	164	44.09	7230.76	814	4.4368	3611.5552	The State has proposed 1640 Schools having 10 ACR each. Out of which, 814 ACR @ Rs.4.4368 lakh per each recommended after justification with MIS unit of TSG based on enrollment etc.814 ACR recommended after justification with MIS unit TSG, based on enrollment etc.

			<b>24.</b> d	Art/Craft Room	19	8.691	165.129	7	8.691	60.837	7 Art/Craft room recommended after justification with MIS unit TSG, based on enrollment etc.
				Library Room	19	12.756	242.364	2	12.75	25.5	2 library room recommended after justification with MIS unit TSG, based on enrollment etc.
				F Strengthening of Existing			7845.32	A CONTRACTOR OF		3730.56	
		30	Repair	ring and Renovations (up to st Class X or XII)							
			Total o (up to	(Ropairing and Renovations, Biginst Class X or XII)			237.98			192.96	
		Tota	l of Stre	ngthening of Existing Schools			13040.22			4743.43	
RTE Entitlements	Free Uniforms		Unifor	m			1375044			0004933	
KIL Entitements	Free onnorms			All Girls	2215551	0.006	13293.306	2124702	0.006	12748.212	As appraised
			<u> </u>	ST Boys	687861	0.006	4127.166	629911	0.006	3779.466	As appraised
		35	<b>35.</b> c	SC Boys	358633	0.006	2151.798	351813	0.006	2110.878	As appraised
			35.d	BPL Boys	270427	0.006	1622.562	270427	0.006	1622.562	As proposed
			Total a	Cuttorn and a state			2119433			20261.12	國家國家的關鍵上不能是
		Tota		Uniforms		10.000	21194.83			20261.12	hurren et aleman
1	Free Textbooks			ext Books							
			36.a	Text Books (Class I - II)	873055	0.00115	1004.013	873055	0.00115	1004.01325	As proposed
			<b>36.</b> b	Braille Books (Class I – II)	230	0.0025	0.575	230	0.0025	0.575	As proposed
			<b>36.</b> c	Large Print Books (Class I – II)	496	0.0025	1.24	496	0.0025	1.24	As proposed
			<b>36.</b> d	Text Books (Class III - V)	1491489	0.0016	2386.382	1491489	0.0016	2386.3824	As proposed
		36	<b>36</b> .e	Braille Books (Class III - V)	367	0.0025	0.918	367	0.0025	0.9175	As proposed
			<b>36.</b> f	Large Print Books (Class III - V)	1158	0.0025	2.895	1158	0.0025	2.895	As proposed
			36.g	Text Books (Class VI - VIII)	1042455	0.0039	4065.574	1042455	0.0039	4065.5745	As proposed

					a. *					
		<b>36.</b> h	Braille Books (Class VI – VIII)	261	0.004	1.044	261	0.004	1.044	As proposed
		<b>36.</b> i	Large Print Books (Class VI - VIII)	893	0.004	3.572	893	0.004	3.572	As proposed
			if Free Text Books			7465.21			7466.21	
	Tota	r	Textbooks			7466.21			7466.21	
Reimbursement		Reimb	ursement of Fee							
towards expenditure incurred for 25% of Admision under	37	37.a	Reimbursement of Fee against 25% admission under Section 12(1)(c) of RTE Act 2009 (Entry Level)	14439	0.051	736.389	4742	0.051	241.842	Recommended for Classes 1 and above as per norms
12 (1)(c) RTE Act		Total	of Reimbursement of Fee		100,000,000 01,000,000 01,000,000,000	736.39			241.84	
	expe Adm	nditure Ision u	nbursement towards incurred for 25% of ider 12 (1)(c) RTE Act			736.39			241.84	
Special Training of Out of School			l Training for OoSC - ential (Fresh)							
Children (OoSC)	39	<b>39.</b> c	9 Months (Residential - Fresh)	3161	0.15	474.15	3161	0.15	474.15	Recommended as propsed
		Total Reside	of Special Training for GoSC		A States	474.15			474.15	
	Tota Child	l of Spe Iren (O	cial Training of Out of School oSC)			474.15			474.15	
Media & Community			& Community Mobilization entary)							
Mobilization	47	<b>47.</b> b	Media & Community Mobilization	9138	0.015	137.07	9138	0.015	137.07	9138 Elementary schools @ Rs.1500/- per school has been recommended and the recommended amount is Rs.137.07/- lakhs. Schools are taken from UDISE 2017-18, each Govt. Schoo is entitled Rs.1500 for Media & Community Mobilisation activities.
		<b>47.</b> c	Training of SMC/ SDMC	6449	0.03	193.47	6449	0.03	193.47	6449 schools @ Rs.3000/- per school has been recommended and the amount of recommended is Rs.193.47/ lakhs .
			Media & Community zation (Elementary)			330.54			130.54	and the second
			& Community Mobilization							

. .

		48	<b>48</b> .a	Media & Community Mobilization SMDC Training	4429	0.015	66.435	2814	0.015	42.21	2814 schools @ Rs.1500/- per school has been recommended and the amount recommended is Rs.42.21/- lakhs. Schools are taken from UDISE 2017-18. 1407 schools @ Rs.3000/- per school has been recommended and the amount of recommended is Rs.42.21/-
	Total for RTE Butifile	Mobi	Total o Mobili	f Media & Community zation (Secondary) la & Community	1023		277.3 607.84		0.03	42.21 84.42 414.96 28858.28	lakhs.
Quality Interventions	Funds for Quality		Quality	Components (Secondary)			30479.43			10000010	
	(LEP, Innovation, Guidance etc)		<b>50.</b> c	Talent Search at school level	290	0.42	121.8	120	0.4	48	265 Block + 24 District + 1 State @ 5 blocks per district
		50	<b>50.</b> d	Teacher Exchange programme	24	2	48	12	1	12	ten teachers from each of the 12 distrcits on experimental basis for 5 days
			Total o (Secon	f Quality Components dary}			169.8			60	
			Project	t Innovation (Elementary)							
			<b>53.</b> a	State Specific Intervention	25	16	400	25	8	200	24 district+ 1 state , Bal Smagam, Kasturba Sangam, Band competition , Yoga Olympiad
		53	53.ag	BUNIYAAD	223897	0.005	1119.485	223595	0.003	670.785	Buniyad Programme: it includes workbooks for children, Guidebooks for119023 teachers, LTF
			Total o (Eleme	f Project Innovation ntary)			1519.48			870.78	
				t Kala Utsav (Secondary)							
		54	54.a	TA / DA Allowance for National Level	1	2.5	2.5	1	2	2	As per norms
			<b>54.</b> b	Kala Utsav	1	20	20	1	10	10	one programme at the State level
			Total o (Secon	f Project Kala Utsav			22.5	and the second s	10	12	and the second se
			LEP (C	ass I - II)							
		61		Mathematics Learning Kit	12240	0.03	367.2	12240	0.02737	335.0088	Recommended NCERT kit
		61	01.0	English Language / Literature Kit (NCERT)	12240	0.07	856.8	12240	0.06925	847.62	Recommended NCERT kit
			l otal d	of LEP (Class I - II)			1224			1182.63	

		LEP (Cl	lass III - V)							
		<b>62.</b> d	Remedial Teaching	364999	0.005	1824.995	364999	0.004	1459.996	Recommended @ Rs. 400 per child
	62	<b>62.</b> z	Pankh Magazine	24478	0.0156	381.8568	24478	0.0156	381.8568	Recommended for schools Monthly Pankh Magazine (Pri)
		Total o	of LEP (Class III - V)			2206.85			1841.85	and the second se
		LEP (C	lass VI - VIII)							
· · · · ·		<b>63.</b> am	Remedial Teaching	290767	0.005	1453.835	290767	0.004	1163.068	Recommended @ Rs. 400 per child
	63	<b>63</b> .p	Pankh Magazine	14453	0.0156	225.4668	14453	0.0156	225.4668	Recommended for schools Monthly Pankh Magazine (UP)
		Total o	of LEP (Class VI - VIII)	99. 199	55	1679.3		Sec.	1388.53	
		LEP (C	lass IX - XII) Learning Enhancement							Recommended @ Rs. 400 per child for
	64	<b>64.</b> k	(Remedial teaching)	214584	0.005	1072.92	214584	0.004	858.336	children in classes IX to XII
		Total	of LEP (Class IX - XII)			1072.92		1998 - 1998 1998 - 1999	858,34	A Standard Constant
			ds for Quality (LEP, Guidance etc)			7894.86			6214.14	
Assessment at			sment at State level entary)							
National & State level	66	66.a	Assessment at State level	24	20	480	24	20	480	Recommended an amount of Rs. 480 lakhs for two activities (i) conducting Annual Assessment in all 24 districts covering I to VIII. (ii) for conducting POST NAS interventions and preparatory activities of next NAS in the State.
		5	of Assessment at State level entary)			480			4.80	
	Tota level	l of Ass	essment at National & State			480			480	
Training for In-		In-Ser	vice Training (I - VIII)							
service Teacher and Head Teachers		<b>68.</b> a	Class I & II	44507	0.03	1335.21	44507	0.03	1335.21	Recommended for 10 days @ Rs.300 per person per day. The bifurcation of 10 days Elementary Level In-service teacher training has 7 days at BRCs level and 3 days at CRC level for follow up meetings.
	68	<b>68.</b> b	Class III to V	44199	0.03	1325.97	44199	0.03	1325.97	Recommended for 10 days @ Rs.300 per person per day The bifurcation of 10 days Elementary Level In-service teacher training has 7 days at BRCs level and 3 days at CRC level for follow up meetings.

	<b>68.</b> c	Class VI to VIII	24485	0.03	734.55	24485	0.03	734.55	Recommended 10 days @ Rs.300 per person per day. The bifurcation of 10 days Elementary Level In-service teacher training has 7 days at BRCs level and 3 days at CRC level for follow up meeting
	Total o VIII)	of In-Service Training (I -			3395.73	1000		3395.73	
	In-Serv	vice Training (IX - XII )							
	<b>69</b> .b	Class IX to XII	4627	0.03	138.81	4627	0.03	138.81	Recommended 10 days @ Rs.300 per person per day.
69	<b>69.</b> e	Subject Specific training	1485	0.03	44.55	1485	0.03	44.55	Recommended 10 days @ Rs.300 per person per day.
	Total o	fIn-Service Training (IX - XH		14	183.36			183.36	
		ng of Resource Persons & Trainers (Elementary)			· .				
	<b>72</b> .a	Master Trainers /RPs Training for Classes Class I & II	5049	0.018	90.882	5049	0.018	90.882	Recommended @ Rs. 300 per person per day for 6 days training.
72	<b>72.</b> b	Master Trainers /RPs Training for Class III to V	4126	0.018	74.268	4126	0.018	74.268	Recommended @ Rs. 300 per person per day for 6 days training.
	72.c	Master Trainers /RPs Training for Class VI to VIII	2749	0.018	49.482	2749	0.018	49.482	Recommended @ Rs. 300 per person per day for 6 days training.
		of Training of Resource			214.63			214.63	
		ng of Resource Persons & Trainers (Secondary)							
	<b>73.</b> b	Master Trainers/Key Resource Persons (KRPs) Training for Class IX to X	1124	0.018	20.232	1124	0.018	20.232	Recommended @ Rs. 300 per person per day for 6 days training.
73	<b>73.</b> c	Master Trainers/Key Resource Persons (KRPs) Training for Class XI & XII	905	0.018	16.29	905	0.018	16.29	Recommended @ Rs. 300 per person per day for 6 days training.
		of Training of Resource as & Master Trainers dary)			36.52			36.52	
	School Teachd	Leadership Training of Head ers/ Principals/RPs entary)							Recommended for To days for 207 Krs
74	74.a	Training of RPs (Classes I to VIII)	514	0.048	24.672	257	0.048	12.336	@ Rs. 9.93 lakh at Rs. 4800 per person. In addition, recommended for 50 Secondary School Principals @ Rs. 2.40 lakh at Rs. 4800 per person, for conducting One month Certificate Course on School Leadership and

		-			ingi akara A≣at					
			Training of Head Teachers/Principals (Class I to VIII)	1695	0.048	81.36	1500	0.048	72	Recommended 1500 Head Teachers @ Elementary level for 16 days @ Rs.4800 per head. 50 Head masters @ Secondary level for One month NIEPA leadership programme @ Rs. 12000/- per head.
		of Hea	f School Leadership Training d Teachers/ Principals/RPs :ntary)			106.03			84.34	
			Leadership Training of Head ers/ Principals/RPs dary)							
	75		School Leadership Training Program (SLDP) 1 month Certificate Course	50	0.12	6	50	0.12	6	Recommended for 50 Secondary Head Teachers @ Rs. 12,000 per Head Teacher
		of Hea (Secon				6		100 (N	- <b>6</b> -	
			g of Educational strators (Elementary)							
	76	<b>76.</b> a	Elementary Level (Classes I to VIII)	960	0.018	17.28	960	0.018	17.28	Recommended for 6 days @ Rs.300 per day per person.
			of Training of Educational Istrators (Elementary)			17.28			17.28	
			ng of Educational istrators (Secondary)							
		77.a	Secondary Level (Classes IX to X)	768	0.018	13.824	768	0.018	13.824	Recommended for 6 days @ Rs.300 per day per person.
	77	77.b	Sr. Secondary Level (Classes XI to XII)	346	0.018	6.228	346	0.018	6.228	Recommended for 6 days @ Rs.300 per day per person.
			of Training of Educational Istrators (Secondary)			20.05			20.05	
		l of Trai Ilead Te	ning for In-service Teacher achers			3979.61			3957.91	
Composite School Grant		Annual VIII)	Grant (up to Highest Class							
		<b>78.</b> a	School Grant - (Enrol 1- 15)	932	0.12	111.84	932	0.12	111.84	As appraised also includes 10% swachch Bharat campaign
		<b>78.</b> b	School Grant - (Enrol 15 - 100 )	25616	0.25	6404	24367	0.25	6091.75	As appraised also includes 10% swachch Bharat campaign
	78	<b>78.</b> c	School Grant - (Enrol > 100 and <= 250 )	8740	0.5	4370	8471	0.5	4235.5	s appraised also includes 10% swachch Bharat campaign
		<b>78.</b> d	School Grant - (Enrol > 250 and <= 1000 )	3015	0.75	2261.25	2752	0.75		s appraised also includes 10% swachch Bharat campaign

1	,				r				1	
		<b>78</b> .e	School Grant - (Enrol > 1000)	35	1	35	12	1	12	s appraised also includes 10% swachch Bharat campaign
		Tetal a Michee	Channel Grant Jup to n Class VIII)			13182.09			12515.09.	
			Grant (up to Highest Class X or							
		<b>79.</b> a	School Grant (Enrol 1- 15)	7	0.12	0.84	7	0.12	0.84	As proposed also included 10% swachch vidyalaya
		<b>79.</b> b	School Grant - (Enrol 15 - 100 )	181	0.25	45.25	176	0.25	44	As proposed also included 10% swachch vidyalaya
	79	<b>79.</b> c	School Grant - (Enrol > 100 and <= 250 )	567	0.5	283.5	567	0.5	283.5	As proposedalso included 10% swachch vidyalaya
		<b>79.</b> d	School Grant - (Enrol > 250 and <= 1000 )	1921	0.75	1440.75	1812	0.75	1359	As appraisedalso included 10% swachch vidyalaya
			School Grant - (Enrol > 1000)	186	1	186	186	1	186	As proposedalso included 10% swachch vidyalaya
		Total c Righe	r Annual Grant (up to r Class X or XII)			1956.34			1873.34	
	Tota	l of Con	posite School Grant			15138.43			14388.43	
Libraries	82	Library	/ (upto Highest Class VIII)							
		<b>82</b> .b	Upper Primary Schools (VI – VIII)	15	0.1	1.5	15	0.1	1.5	As proposed
		Total o Class V	<b>Clorary (upto ilighest</b>			15			1.5	
	83	Library	/ (upto Highest Class XII)							
		<b>83.</b> a	Composite Secondary Schools (Class I - X)	1391	0.15	208.65	1391	0.15	208.65	As appraised
		<b>83</b> .b	Schools with Class VI - XII	483	0.15	72.45	417	0.15	62.55	As appraised
		<b>83.</b> c	Secondary Schools (Classes IX & X)	362	0.1	36.2	362	0.1	36.2	As appraised
		<b>83.</b> d	Composite Secondary Schools (Class IX - XII)	321	0.15	48.15	321	0.15	48.15	As appraised
		<b>83</b> .f	Composite Senior Secondary Schools (Class I - XII)	132	0.2	26.4	132	0.2	26.4	As appraised
		Total o XIN	of Library (upto Highest Class			391.05			381.95	
	Tota	l of Libr	11.4			393.35			383.45	
Rastriya Aavishkar		Rashtri (Eleme	iya Aavishkar Abhiyaan entary)							
Abhiyan	84	<b>84</b> .d	Exposure visit outside State	24	15	360	4000	0.09	360	24 district 4000 children @ Rs. 9000 per child for 5 days
			n Rashtriya Aavishkar an (Elementary)	÷ 22		360	120		360	
I	L				10.1	E CEL	L		1	

		<b>95.</b> b	for CWSN	333 60	1.89	629.37	333	1.89	629.37	Recommended
through BRC/URC/CRC		<b>95.</b> a	Salary for 6 Resource Persons at BRC Salary for 2 Resource Persons	745	1.25718	936.5991	745	1.25718	936.5991	Recommended 370 BRPs for 12 Mos and 6 months salary for 375 BRPs to newly recruited
Academic support		Provis	ion for BRCs/URCs							
	Tota		of Pre-Printing (Recurring) port at Pre-Primary Level			984.62. 984.62			89.55 89.55	
Primary Level	94	<b>94.</b> a	Support at Pre-Primary Level	196923	0.005	984.615	17910	0.005	89.55	Recommended for TLM to 17910 existing pre-schools- called "Shishu Sadan". State has also shared the lis required TLM.
Support at Pre-			imary (Recurring)							
	Total	(ICT & Highes	il Nealering Components Digital Initiatives upto It Class XII) and Digital Initiatives			1116 1666.4			1116	
	90	90.a	Recurring Cost (ICT & Digital Initiatives)	465	2.4	1116	465	2.4	1116	Recommended as Proposed
-			Recurring Components (ICT & Digital Initiatives upto Highest Class XII)							
		Total d (upto l	f ICT and Digital Initiatives Repeat Class XII)			550.4			390.4	
	89	<b>89.</b> a	Tablets/Laptop/Notebook/PC s	86	6.4	550.4	61	6.4	390.4	Recommended for 61 new eligible Schools @ Rs. 6.4 lakh per school
CT and Digital nitiatives			d Digital Initiatives (upto st Class XII)							
			riya Aavishkar Abhiyan			601.8			492	
		Total o	í Rashtriya Aaviskaar n (Secondary)			241.8			132	State visit
	85	<b>85.</b> e	Exposure visit outside State	24	5	120	1200	0.09	108	%0 children from each of the 24 district,totalling to 1200 secondary students for State visit and outside t
	0.5	<b>85.</b> a	Science Exhibition / Book Fair	290	0.42	121.8	24	1	24	265 block+ 24 district + 1 State, on lakh per district. The xhibition to be arranged for eac district
		Rashtri (Secon	iya Aaviskaar Abhiyan dary)				193.5			

				· · · · · · · · · · · · · · · · · · ·	. *				· · · · · · · · · · · · · · · · · · ·		
		95	95.C	Salary for 1 MIS Coordinator in position	54	2.4	129.6	54	2.4	129.6	Recommended
		95	<b>95</b> d	Salary for 1 Data Entry Operator in position	84	1.8	151.2	84	1.8	151.2	Recommended
				Contingency Grant	265	0.5	132.5	265	0.5	132.5	Recommended
			<b>95.</b> j	Meeting, TA	265	0.3	79.5	265	0.3	79.5	Recommended
			Total o	Provision for BRCs/URCs			2058.77	- Carlos		2058.77	
			Provis	ions for CRCs							<u> </u>
			<b>97</b> .a	Salary for CRC Coordinator (one)	2529	1.52	3844.08	2259	1.52	3433.68	Recommended
		97	97.c	Contingency Grant	2259	0.1	225.9	2259	0.1	225.9	Recommended
			<b>97.</b> d	Meeting, TA	2259	0.12	271.08	2259	0.1	225.9	Recommended
			Total o	f Provisions for CRCs			4341.06	ų.		3885,48	
			l of Acad /URC/CE	lemic support through {C			6399.83			5944.25	
	otal for Quality Inte						37538.89			33456.13	
	Strengthening of Ohysical		Equipn Institu	nent's in Teacher Education tions							
i F	nfrastructure& Establishment of new DIETs	98	<b>98.</b> b	DIETs	20	10	200	9	10	90	Recommended only for 9 DIETs this year, remaining to be covered in a phased manner. Name of DIETs: Bokaro, Deoghar, East Singhbhum, Garhwa, Hazaribagh, Palamu, Sahebganj, Ranchi and West Singhbhum.
				f Equipment's in Teacher ion institutions			200			90	
	-					100000					
			LSLADII	shment of Institutions							
		99		Construction of New DIET Building	2	399.116	798.232	2	399.116	798.232	Recommended building for 2 New DIETs i.e., Koderma and Pakur. The two DIETs were sanctioned in 2016-17.
			Institu				798.23			798.23	
				shment of Special Cells in							
				Science	1,	10	10	1	10	10	Recommended
				Mathematics	1	10	10	1	10	10	Recommended
		101		Social Studies Education	1	10	10	1	10	10	Recommended
				Technology/Computer	1	10	10	1	10	10	Recommended
					7	7 <b>6</b>					

• •

70 🔍 🖗

	· .									
		<b>101</b> .e	Language/English Education	1	10	10	1	10	10	Recommended
		Total o Cells in	f Establishment of Special SCERT			50			50	
	Total	of Strei structui	ngthening of physical re& Establishment of new			1048.23			938.23	
Salaries of Teacher		Teache	ers Educators Salary in TEIs mic Posts)							
Educators (TEIs)	102 <sup>102.b</sup>		DIETs	1	57	57	1	57	57	Recommended Salary for 10 academic posts in 1 DIET. In the remaining DIETs, salary is provided from the State Govt. fund.
		in TEls	f Teachers Educators Salary (Academic Posts)			57			57	
	Total (TEIs		ries of Teacher Educators			57			57	
DIKSHA (National Teacher Portal)		DIKSH	A (National Teacher Portal)							
		<b>105</b> .a	Updation of Teacher Profile & Registry	1	25	25	1	10	10	Recommended
	105	<b>105</b> .b	Capacity building and Training for Teachers, Educators and State officials for usgae of DIKSHA	1	25	25	1	10	10	Recommended
		<b>105.</b> c	Development of Digital Content	1	750	750	1	40	40	Recommended for creation and curation of digital content, Energized Textbooks (ETB), Creation of Online Digital Modules and Item Banks, etc.
·		Total o Portal	f DIKSHA (National Teacher			809			60	
	Tota Porta		SHA (National Teacher			800			60	
Program & Activities including Faculty		Faculty	um & Activities including y Development of Teacher cors							
Development of Teacher		106.a	Faculty development (DIET)	24	2	48	20	2	40	Recommended only for 20 functional DIETs.
Educators	106	<b>106</b> .b	Program & Activities (DIET)	24	3	72	20	3	60	Recommended only for 20 functional DIETs.
		<b>106</b> .c	Specific projects for Research activities (DIET)	20	2	40	20	2	40	Recommended only for 20 functional DIETs.
		inchuð	I Program & Activities ing Faculty Development of er Educators			160 160	General David		<b>140</b>	

		Facu		gram & Activities including elopment of Teacher			160			140	
	Technology Support to TEIs		Techn	ology Support to TEIs (NR)							
		107	107.a	Hardware & Software Support	20	4.712	94.24	20	4.712	94.24	Recommended for 20 functional DIETs.
			Total ( TEIs ()	of Technology Support to VR)			94.24	1992		94,24	
			Recurr Suppor	ing Support on (Technology t)							
		108	<b>108.</b> d	Recurring Support on Technology (TEIs)	20	0.6	12	20	0.6	12	Recommended 20 functional DIETs
				of Recurring Support on tology Support)		1967 - C. 1967 - C.	12			12	
		Tota		hnology Support to TEIs			106.24			106.24	
	Annual Grant for TEIs			l Grant for TEIs SCERT	1	35	35	1	35	35	Recommended
		109	<b>109.</b> b	DIETs	24	20	480	20	20	400	Recommended
		10		of Annual Grant for TEIs	1974- 1976-1972		515			435	
	Total for Teacher Ed	lucati		ual Grant for TEIs			515 2686.47			435	
Sports & Physical Education	Sports & Physical Education		Sports	& Physical Education (upto st Class VIII)							
		111		Sports & Physical Education (Upper Primary Schools )	12540	0.05	627	12540	0.05	627	Upper primary schools cum secondary together
				of Sports & Physical tion (upto Highest Class			627			627	
		To	otal of S	ports & Physical Education	11.11.11	ilian -	627			627	
Colony of Too shore	Total for Sports & P	hysica	Educa	tion			627.00			627.00	
Salary of Teachers	Teacher Salary (HMs/Teachers)		Teach	er Salary – (Elementary)							
		115	<b>115.</b> b	Primary Teachers- Existing, in position (Contractual)	50930	1.07262	54628.5366	32960	1.0726	35352.896	32960 (50930-17970) eligible for PAB consideration. 17970 vacant posts of the state has adjusted with 50930 teachers. Financial support as the state proposed Rs. 1.07 lakh per teacher annually.
				of Teacher Salary – entary)	ana Sile Sile		54628.54			35352.9	annually.

				Primary Teachers actual) - (Elementary)											
			<b>116</b> .a	Science and Mathematics	5688	1.15687	6580.27656	5688	1.1568	6579.8784	As the state proposed				
			<b>116</b> .b	Social Studies	5905	1.15687	6831.31735	5905	1.1568	6830.904	As the state proposed				
	1	116	<b>116.</b> c	Languages	4559	1.15687	5274.17033	1368	1.156	1581.408	1368 (4559-3191) teachers are eligit for PAB consideration. 3191 vacant posts of the state has adjusted. Financial support as the state has proposed @ Rs. 1.156 lakh per teache per annum				
				of Upper Primary Teachers actual) + (Elementary)			18685,76			14992.19					
				cher Salary (HMs/Teachers)			73314.3			50345.09					
Gender & Equity	Total for Silary of T Kasturba Gandhi Balika Vidyalaya	eache	KGBV	· Type – III (Recurring)			73314:30			50345.09					
	(KGBVs)		(Class	es VI -XII)											
			124.a	4 Full Time Teachers	812	2.4	1948.8	812	2.4	1948.8	@20000/- per month per teacher(4 fi time teachers in each KGBV) (for 203 KGBVs)				
				Miscellaneous	69050	0.0075	517.875	47650	0.0075	357.375	@750/- per girl per annum (for 203 KGBVs)				
			124.f	1 Full time Accountant	203	1.92	389.76	203	1.92	389.76	Recommended as proposed				
			124.g	Fooding / Lodging per child per month	69050	0.15	10357.5	47650	0.15	7147.5	@1500/- per girl per month (existing 28450 seats in 203 KGBVs for class VI to VIII + existing 19200 seats in 192 operational KGBVs for class IX to XII)				
			<b>124.</b> h	Stipend per girl per month	69050	0.012	828.6	47650	0.012	571.8	@100/- per girl month (for 203 KGB)				
		124		<b>124.</b> i	Maintenance	69050	0.0075	517.875	47650	0.0075	357.375	@750/- per girl per annum (for 203 KGBVs)			
							124.j	Supplementary TLM, Stationery and other educational material	69050	0.01	690.5	47650	0.01	476.5	@1000/- per girl per annum (for 203 KGBVs)
						<b>124.</b> k	1 Warden	203	3	609	203	3	609	@25000/- per month for 1 warden in each KGBV (for 203 KGBVs)	
					3 Part time teachers	1218	1.425	1735.65	1218	1.425	1735.65	Recommended as proposed			
							2 Support Staff - (Accountant / Assistant, Peon, Chowkidar)	812	0.6	487.2	812	0.6	487.2	Recommended as proposed	
			<b>124.</b> n	1 Head Cook	203	0.72	146.16	203	0.72	146.16	@6000/- per month for 1 head cook in each KGBV (for 203 KGBVs)				
		<b>124</b> .o	2 Assistant Cook	812	0.57	462.84	790	0.57	450.3	@4750 per cook per month (4 asst cooks in each KGBV for 192 KGBVs an 2 asst cooks in each KGBV for 11 KGBVs) (for 203 KGBVs)					
			<b>124</b> .p	Specific skill training per girl	69050	0.0073	504.065	47650	0.0073	347.845	@730/- per girl per annum (for 203 KGBVs)				

1	1										
			<b>124.</b> q	Electricity / Water Charges	69050	0.005	345.25	47650	0.005	238.25	@500/- per girl per annum (for 203 KGBVs)
			<b>124</b> .r	Medical care / Contingencies	69050	0.006	414.3	47650	0.006	285.9	@600/- per girl per annum (for 203 KGBVs)
			<b>124.</b> t	Р.Т.А.	69050	0.002	138.1	47650	0.002	95.3	@200/- per girl per annum (for 203 KGBVs)
			124.v	Capacity Building	69050	0.002	138.1	203	0.1	20.3	@10000/- per annum per KGBV (for 203 KGBVs)
				Physical / Self Defence	69050	0.002	138.1	203	0.1	20.3	@10000/- per annum per KGBV (for 203 KGBVs)
			Total a (Recut	Marcus V - Type - III Marcus V - XIII	84 (X)	an a	20269.68			15685.32	
				turba Gandhi Balika			20369.68			15685.32	
	Special Projects for Equity		Projec (Secon	t- Girls Empowerment dary)							
		132		Training in Martial Arts to all girls / Self Defence	2400	0.09	216	240	0.09	21.6	As per Norms Self defence training can be considered as for Govt schools with girl enrollment @ rs. 3000/- per school for 3 months.
			Total o Empoy	Project-Girls rement (Secondary)			216			216	
		Т	<b>.</b>	Special Projects for Equity			216			21.6	
	Self defence training for Girls			fence Training (up to et Class VIII)							
		133		Self Defence Training (Upto Class VIII)	2400	0.009	21.6	240	0.09	21.6	As per Norms Self defence training can be considered as for Govt schools with girl enrollment @ rs. 3000/- per school for 3 months.
			Total o to High	(Self Defence Training (up ant-Class VIII)	i dina sila. Si si si		21.6			<b>Z1.6</b>	
		Tota		defence training for Girls			21.6			21.6	
Inclusive Education	Provision for Children with		Inclusi Class V	ve Education (up to Highest III)							
	Special Needs (CWSN) - Recurring		<b>134.</b> a	Sports Events	264	0.3	79.2	264	0.2	52.8	Recommended at a unit cost of Rs 20000/- per BRC for CWSN from class 1 to 12.
			134.ax	Parental / Community Counselling	3000	0.01	30	3000	0.01	30	The state to hold counseling sessions for parents of CWSN and community stakeholders. Recommended as proposed at a unit cost of Rs 1000/- per CRC.

	<b>134</b> .h	Providing Aids & Appliances	2400	• •0.025	60	2400	0.025	60	Recommended as proposed (for Children with visual impairment, low vision, hearing impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities) at a unit cost of Rs 2500.
	<b>134.</b> i	Identification and Assessment (Medical Assessment Camps)	264	0.1	26.4	264	0.1		Recommended as proposed at a unit cost of Rs 10000 per BRC.
	<b>134.</b> m	Transportation allowance	2400	0.05	120	2400	0.05	120	Recommended as proposed at Rs 5000 with a unit cost of Rs 500 for 10 months. (This allowance is for Children with visual impairment,locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities)
		Escort Allowance	2400	0.05	120	2400	0.05	120	Recommended as proposed at Rs 5000 with a unit cost of Rs 500 for 10 months. (This allowance is for Children with visual impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities)
1.04	1.9 Y Y &	f Inclusive Education (up to	1		435.6			609.2	
134	Inclusi Orient	ve Education (Student ed Components) (up to st Class X or XII)							
135	135.g	Providing Aids & Appliances	1200	0.025	30	1200	0.025	30	Recommended as proposed for Children with visual impairment, low vision, hearing impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities at a unit cost of Rs 2500.
135		Providing Aids & Appliances Reader Allowance	1200 48	0.025	30 2.4	1200 48	0.025	30	Children with visual impairment, low vision, hearing impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple
135	135.i	Reader Allowance							Children with visual impairment, low vision, hearing impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities at a unit cost of Rs 2500. Recommended as proposed at Rs 5000 with a unit cost of Rs 500 for 10
Tota Spec	135.i Table (Stude (up to Lof Pro								Children with visual impairment, low vision, hearing impairment, locomotor disability, autism spectrum disorder, intellectual disability and multiple disabilities at a unit cost of Rs 2500. Recommended as proposed at Rs 5000 with a unit cost of Rs 500 for 10

Education at Secondary and	137	137.a	Tools, Equipment & Furniture (New)	144	10	1440	45	5	225	Recommended for 45 schools in Aspirational Districts
higher Secondary		Total school	of Introduction of VE in s			1440			225	
		Recur	ring Support VE - New	•						
		<b>138.</b> a	Financial Support for Vocational Teacher/ Trainer (New)	288	0.6	172.8	90	0.6	54	For 90 trainers (3 months provision)
		<b>138</b> .b	Financial Support for Resource Persons (New)	144	1	144	45	0.313	14.085	As per norms for class 9th
		<b>138</b> .c	Raw material Grant for new school per course (New)	144	1.1	158.4	45	0.563	25.335	As per norms for class 9th
	138	<b>138.</b> d	Cost of providing Hands on Skill Training to Students (New)	144	0.6	86.4	45	0.3	13.5	As per norms for class 9th
		<b>138</b> .f	Office Expenses / Contingencies for New School (New)	144	0.5	72	45	0.25	11.25	As per norms for class 9th
		138.g	Induction training of Teachers VE - Teachers (10 Days)	288	0.05	14.4	90	0.05	4.5	10 days training @ Rs. 500 per day for trainers
		Total o New	Rectoring Support VE-			648			122.67	
		Recuri	ing Support VE - Existing							
	,									
		1 <b>40</b> .a	Financial Support for Vocational Teacher/ Trainer (Existing)	430	2.4	1032	430	2.2465	965.995	Recommended for 320 in position trainers and 110 yet to be recruited trainers.
			Vocational Teacher/ Trainer	430 215	2.4 2.5	1032 537.5	430 215	2.2465 1.561	965.995 335.615	trainers and 110 yet to be recruited
		<b>140</b> .b	Vocational Teacher/ Trainer (Existing) Financial Support for			****	······································			trainers and 110 yet to be recruited trainers. As per norms for 160 school sand 55 schools committed to be made
		140.b 140.c	Vocational Teacher/ Trainer (Existing) Financial Support for Resource Persons (Existing) Raw material grant for new	215	2.5	537.5	215	1.561	335.615	trainers and 110 yet to be recruited trainers. As per norms for 160 school sand 55 schools committed to be made functional from July 2018 As proposed for 215 schools. As per norms for 160 functional schools and 55 schools committed to be made
	140	140.b 140.c 140.d	Vocational Teacher/ Trainer (Existing) Financial Support for Resource Persons (Existing) Raw material grant for new school per course (Existing) Cost of providing Hands	215 215	2.5 2.25	537.5 483.75	215 215	1.561 2.25	335.615 483.75	trainers and 110 yet to be recruited trainers. As per norms for 160 school sand 55 schools committed to be made functional from July 2018 As proposed for 215 schools. As per norms for 160 functional schools
	140	140.b 140.c 140.d 140.e	Vocational Teacher/ Trainer (Existing) Financial Support for Resource Persons (Existing) Raw material grant for new school per course (Existing) Cost of providing Hands Training Students (Existing) Assessment and Certification	215 215 215	2.5 2.25 2.4	537.5 483.75 516	215 215 215	1.561 2.25 1.499	335.615 483.75 322.285	<ul> <li>trainers and 110 yet to be recruited trainers.</li> <li>As per norms for 160 school sand 55 schools committed to be made functional from July 2018</li> <li>As proposed for 215 schools.</li> <li>As per norms for 160 functional schools and 55 schools committed to be made functional from July 2018</li> <li>Recommended for students of class</li> </ul>

						T					
			140.h	n-service Training of VE - Feachers (5 - Days) - (Existing)	320	0.025	8	320	0.025	8	5 days training @ Rs. 500 per day
			Total of Existing	Recurring Support VE		29	2962.85			2444.88	
		Total	of Intro tion at	duction of Vocational Secondary and higher			5050.85			2792.55	
		al Edeci	tibn .	A los and Minister	C. CONTROL	a na su ang	- Services		and the second		
Aonitoring of the Scheme	Monitoring Information System (MIS)	143	<b>143.</b> b	ring of the Scheme Management Information System (SDMIS & Shaala Kosh)	25	330.4816	8262.04	7735006	0.00002	154.70	Recommended for 7735006 children
			Total of Mon	/ Montineing of the Scheme Itoring Information System			8262.04 8262.04			154.70 154.70	
	Program			MMER (I-XII)							Recommended @5 MMER against to
Program Management	Management	144	144.a	MMER (I-XII)	25	29.2	730	1	7119.47	7119.47	outlay .
			Total	Total of MMER (FXU)			730			7119.47	
				Grand Tota			193514.68			149508.94	

	Pinai distantistes	IApproval	THE NEW YORK
Elementary Education	3640.61	132207.40	135848.01
Secondary Education	4538.92	7385.53	11924.45
Teacher Education	1032.47	704.00	1736.47
Total	9212.00	140296.93	149508.94

Major Component	wise Estimated Approval						
Access & Retention	8249.13						
RTE Entitlements	28858.28						
Quality Interventions	33456.13						
Teacher Education	1736.47						
Salary of Teachers	50345.09						
Gender & Equity	15728.52						
Inclusive Education	441.60						
Vocational Education	2792.55						
Sports & Physical	627.00						
Monitoring of the	154.70						
Program Management	7119.47						
Total	149508.94						